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ABSTRACT
This study analyzes the syntax of Woods Cree, an
Algonquian language spoken at South Indian Lake, Manitoba.
The research is based on elicitation and on the analysis of

spontaneous texts.

The work covers constituent structure, clause types and
verb morphélogy. The findings illustrate that minor.
constituents obey rigid word order constaints, constraints
on the major constituents are less rigid and the order of
constituents within the clause is relatively free. Clause
type is defined by a combination of morphological and
syntactic features which include the relative order of
clauses, tense sequencing, obviation and verb morphology.
The latter two features distinguish main from subordinate

clauses.

The verb morphology also plays an important role in
structuring information flow, e.g., conjunct verbs 1link
information between clauses. Conjunct verbs are classified
into changed and unchanged forms. Unchanged conjunct verbs
are unmarked for their realization unless preceded by a
tense preverb or a future particle. The changed conjunct,
when represented by the preverbs (k)d- and i-, places
special focus on specific aspects of the situation. Changed
conjunct preverbs which have corresponding unchanged

conjunct forms mark an event as realizable in the past.
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AT
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IT
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Transitive Animate verb

Transitive.Animate verb with double goal
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Imp

IPV

S
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fut
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negpast
past
pret

prv

conjunct verb
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independent verb
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syntactic~semantic preverb
subjunctive verb
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future

inceptive preverb
negative part tense
past tense

preterit

preverb
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redup
reflex
rel

relat

person,

3'

1p
12
2p
3p

Op
o’

reciprocal

reduplication

reflexive

relative root or preverb

relational verb

number and obviation

first person
second person
third person

obviative

first person exclusive
first person inclusive
second person plural

third person plural

third person inanimate singular
third person inanimate plural
third person inanimate obviative

indefinite subject
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nominal categories

DNA
DNT
NA
NT
NP
an
inan
instr
loc
rl
pro
voc

vocpl

animate noun, dependent
inanimate noun, dependent
animate noun

inanimate noun

noun phrase

animate

inanimate

instrument

locative

plural

pronoun

vocative

vocative plural

syntactic cateqories

c.q.
comp.
decl.
obij.
subij.

y.n‘

content question
complement
declarative
object

subject

yes~no question
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particles

INT

emnp
hrs
neg

prt

expressive particle

yes~-no question particle
emphatic particle

hearsay, assertive particle
hegative particle

particle

morpheme boundaries

morpheme in inter-linear gloss

word division in inter-linear gloss

preverb boundary [orthographic]

stem class in inter-linear gloss

morpheme boundary in Cree [not orthographic]

constituent structure in Cree examples

niscellaneous

SIL

consonant [in rules]
vowels [in rules]

South Indian Lake
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br brother

gr/fa grandfather

gr/mo grandmother

si sister

s.o. someone

yo-br/si younger brother or sister
immed immediately

whatev whatever

whoev whoever
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Chapter I

INTRODUCTION

1.1 INTRODUCTION

This is a study of the variant of Cree spoken at South
Indian Lake. This isolated community of approximately 900
inhabitants is located on the south-eastern shore of
Southern Indian Lake in north-central Manitoba (See Figure
1.1). Since the inception of the town in the 1930s, South
Indian Lake has been a relatively self-supporting
community. The traditional livelihood of the inhabitants is

based on trapping and fishing.

The majority of the older people in South Indian Lake
grew up in Nelson House, a reserve directly to the south,
not far from Thompson (See Figure 1.2). Most of the
inhabitants are treaty indians, affiliated with the Nelson
House band. The inhabitants of South Indian Lake also
include descendants of two non-native trappers who married

native women from the area in the 1930s.

The South Indian Lake people call themselves nihifaw

'Cree’ and their community opdnapiwinih ’in his stopping

place’. The place name refers to the traditional winter



hunting ground of the Nelson House band.l

At South Indian Lake, a variety of Cree referred to as
Woods Cree is spoken (Wolfart 1973, Pentland 1979, Rhodes
and Todd 1981).2 South Indian Lake is one of the largeét
Woods Cree communities in Manitoba. Other major communities
include Pukatawagan and Nelson House. Additional centers
where Woods Cree is spoken are listed in capital letters in

Figure 1.2.

The major linguistic feature that defines Woods Cree is
/8§/, a voiced inter-dental fricative. This reflex of
Proto-Algonquian */1/ occurs, for example, in the word niéa
’I’. The cognate forms in other major variants of Cree are

niva [Plains Cree], nina [SwampY' Cree]l] and nila [Moose

Cree] (Wolfart and Carroll 1981:xvii). /§/ is recognized
by the people of South Indian Lake and the other Woods Cree
communities as a linguistic marker that differentiates
their speech from the Cree spoken elsewhere in Manitoba and

Saskatchewan.

1 For a detailed cultural study of the South Indian

Lake people see Waldram 1983.

2 The Woods Cree people have also been referred to as

the ‘Rock Cree’ (Smith 1975, Leighton 1985, Brightman
1985). Although this name is used by the indigenous people
in the Pukatawagan area, I have not heard anyone use the
term at South Indian Lake.



Figure 1.1: South Indian Lake
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Figure 1.2: Northern Manitoba
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1.2 LITERATURE ON CREE LANGUAGE

Although there is little documentation on Woods Cree,
there are a number of descriptions of varying depth and
coverage of four other varieties of Cree: Plains, Swamp?,
Moose and Atikamekw.3 Figure 1.3 shows the general area
where the major varieties of Cree are spoken. Atikamekw is

spoken further to the east.

For Plains Cree, there are three grammatical
descriptions (Wolfart 1973, Ahenakew 1984, Dahlstrom 1986),
as well as a number of texts (Ahenakew 1987, Bloomfield
1930, 1934) and two fairly comprehensive dictionaries
(Faries 1938, Bloomfield 1984). There is also a fair amount
of documentation on Swampy and Moose Cree among which are
two pedagogical grammars (Ellis 1983; Voorhis 1972). A list
of verbal paradigms for both the Swampy and Moose dialects
is also available (Ellis 1971). Morphological and lexical

data on Atikamekw is presented in Béland (1978).

Although there are 1lexical and morphological

descriptions for at 1least one variety each of Plains,

3 Pentland and Wolfart (1982) provide a listing of all

Cree language sources published from 1891 to 1981. Sources
published before 1891 are 1listed in Pilling (1891). One
source of particular importance is listed only in Pilling:
Howse (1844), an early description of Woods Cree.
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Moose, Swampy Cree and Atikamekw, an analysis of the
syntactic cbmponent of the grammar is lacking for most
varieties of Cree. A notable exception is Moose Cree on
which James has published a series of papers (1979, 1983,
1984b, 1986). Insights in the function of the changéd
conjunct (1983), raising (1979,1984b) and narrative

structure (1986) are detailed in these articles.

There are also a number of other syntactic analyses in
the literature. A few comments on the syntax are included
in Ellis’s (1983) grammar of Swampy Cree and an interesting

analysis of the particle éma ’‘this (0)’ in Plains Cree is

available in Ahenakew 1984. A thorough account of obviation
is presented in Dahlstrom’s 1986 dissertation on Plains
Cree. This work also contains an analysis of subjects and
objects and the syntactic processes that depend on them

such as raising and the passive.



Figure 1.3

Major Cree Dialects
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1.3 LITERATURE ON WOODS CREE

Woods Cree is the least studied of the Cree dialects.
Although the first full Cree grammar published by Howse in
1844 is based on a variant of Woods Cree, since then only
four contemporary scholars have published material
containing linguistic data from this dialect. The works of
Pentland (1978, 1979) and Leighton (1985) contain a limited
number of lexical items from Woods Cree. Pentland (1978,
1979) cites examples of words in Woods Cree that illustrate
Proto-Algonquian reflexes? and Leighton, an ethnobotanist,
cites approximately 200 names of herbs and plants but
provides no linguistic analysis of the data in the appendix

of her book on wild plant use.

The .only other scholars to have published material for
which Woods Cree is the primary linguistic data base are
Robert Brightman (1985) and Jennifer Greensmith
'(1985a,1985b). Both authors have written on specific points
of Woods Cree. Their published research consists of an

- analysis of the indefinite possessor (Brightman 1985), an
analysis of future tense morpheme (Greensmith 1985b) and a

comprehensive study of the phonetic variants of the

4 Rarly missionary work on the language is discussed
in Pentland 1979. \



phonemes of Woods Cree (Greensmith 1985a).

The latter study by Greensmith (1985a) outlines the
major phonetic variants of Woods Cree as it is spoken in
and around Pukatawagan. In the appendixes, she includesﬁa
350 word vocabulary and a lengthy text. Although
morphological and syntactic material can be extracted from
the text, this work does not focus on the morphology or the
syntax of Woods Cree. No comprehensive study of the
morphology or any analysis of the syntax of any variant of
Woods Cree has been published since Howse’s grammar in

1844.

1.4 OBJECTIVES

The major objective of this study is to describe the
syntax of the variant of Woods Cree spoken at South Indian
Lake. This is accomplished as follows. Chapters I, IT and
ITI provide background information. Chapter T details the
objectives of the study and reviews the literature in the
field. Chapter II outlines the phonological component of
the grammar. Chapter III describes the basic lexical
categories: nouns, pronouns, particles and verbs. Noun
phrases and verb phrases are the subjects of Chapters IV

and V respectively. Clause structure is the focus of
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Chapters VI and VII. Main clauses are described in Chapter
VI and subordinate clauses in Chapter VII. Chapters VIII
and IX outline the function of the two major verb orders in
Woods Cree. Chapter VIII looks at the distinction between
independent and conjunct verbs and Chapter IX describes the
changed/unchanged contrast in the conjunct order in this
variant of Cree. The major inflections needed to
understand the syntactic discussions are exemplified in

Appendix A.

The Woods Cree described here is only one variant of
Woods Cree. Clear differences exist between the Woods Cree
spoken at South 1Indian TLake and other Woods Cree
communities. See Greensmith 1985a for comparative data on
Pukatawagan. No attempt should be made to generalize this
description to the entire Woods Cree dialect area outlined

on Figure 1.3.

There are even difficulties in applying this descriptive
study to all members of this one speech community because
there is a considerable degree of variability within South
Indian Lake. For example, there are two II conjunct vowel
stem plural inflections: -ki and -kwaw. Younger speakers
use the ~kwdw form more than older speakers but age is not

the only factor that conditions the use of one form over



11
the other. Older speakers often use the two inflections in
the same text. A detailed sociolinguistic study of the
entire Woods Cree area is needed to understand this type of

variation; a project well beyond the scope of this work.

1.5 SOURCES

The fieldwork for the dissertation was completed between
July 1983 and March 1987. During that period, approximately
20 weeks were spent at South Indian lLake. Material was also
collected from informants living and visiting in Winnipeg.
Materials from older speakers in the community were
transcribed with the aid of younger speakers. Data
collected from younger speakers were used primarily for
verification purposes. During the course of this study
approximately 40 speakers between the ages of 10 and 88
were recorded. At least one member from each of the major

families in the community was interviewed.

Most of the materials from the older informants (aged
60+) were collected in the form of texts because many of
the older speakers are monolingual in Cree. Both elicited
and textual data were collected from speakers between the
ages of 30 and 60. Most people in this age group are

bilingual in Cree and English. Although people under 30 are



12
also bilingual, very few texts were recorded largely due to
the fact that the preferred language of many of the younger
speakers is English. The few excerpts of natural discourse
that were recorded consisted of short conversations and
descriptions of pictures. The texts of younger speakefs
contain a large amount of code-switching. An example is

provided in Appendix C.

An attempt has been made to use textual examples in the
dissertation. However, elicited forms were necessary in the
demonstration of syntactic constraints and in the

illustration of syntactic structures not frequent in texts.
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Chapter II

THE SOUND SYSTEM

2.1 INTRODUCTION

In this chapter, the phonemic inventory and the ma‘jor
phohetic, phonological and morphophonemic processes are
outlined along with the orthographical conventions used in
this study. This chapter should be viewed as background
information. Its content is not necessary to understand the
chapters to follow. For a more thorough analysis of the
Woods Cree phonological system see Greensmith 1985a and

Starks 1987a.
2.2 THE PHONEMIC INVENTORY

Table 2.1 provides a 1list of the phonemes for Woods

Cree.
TABLE 2.1
Phonenes
Vowels Consonants
ii o b p t ¢ k
s h
§ [1]
a & m n
w Y
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Woods Cree has a symmetrical vowel system. There are

three short vowels /i,a,o/ and three long vowels /1,4,6/.1

1. /a/ /4y asam ’‘feed him/ asém ’‘snowshoe’
/i/ /1/ ati~ ’inceptive’ iti ’there’
/o/ /6/ 6ho ‘’this (3’//0p)’ ©6hdé ‘owl’

Although the vowels differ phonemically in length, they
differ phonetically on the basis of length and quality.
Phonetically, /i/ varies from [é&] to [1].2 /a/ and /8&/
also have a wide phonetic distribution. /a/ varies from
back to front and /6/ from high to mid. For further details

on phonetic variants see Greensmith 1985a.

The Woods Cree consonant system consists of three stops
/p,t,;k/, one affricate /c/, three fricatives /s,§,h/, two
nasals /m,n/ and two semivowels /w,y/. ‘There is also the

marginal phoneme /1/, discussed in section 2.3.

1 vowel 1ength is indicated by a circumflex over the
vowel, and the high back vowels are represented as /o/ and
/6/, reSpectlvely.

2 There are a few words that occur with [&] among
older speakers. This fact is also reported by Greensmith
(1985a:93-94) for the Pukatawagan area. Greensmith 1985a
reports that the change of *& to 1 is a recent change, not
recorded in Howse (1844 37).
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/p,t,c,k/ have voiced and voiceless allophones. The

voiced allophones frequently occur in inter-vocalic

position.
2. /p/ sipé [sipa] or [siba] funder’
/t/ ita fita] or [ida] ‘there’
/c/ nicimic [ndimid] or [nYimid] 'my yo-br/si’
/k/ ika [ik&a) or [ig4] 'negative’

Although /c/ 1is phonetically an affricate, at a
phonotactic 1level it patterns as a stop. All four
consonants /p,t,c,k/ occur in consonant clusters whose
first member is /h/ or /s/.
3./sp/ and /hp/ néspic ’forever’: akohp ’blanket’

/st/ and /ht/ &stam ’come here’; itiyihtam ’he thinks’3

/sc/ and /hc/ pisci~ ’‘by mistake’; anohc 'now’
/sk/ and /hk/ isko funtil’: askihk ‘pail’

The nasals /m,n/ only have voiced allophones and these
two phonemes do not form consonant clusters with /h/ or /s/
as their initial member. Examples of the two nasals are

provided in #4.

~ 3 Given that this is an /§/ dialect, this word should
be realized as itiéihtam ‘he thinks (it)’. This form does
occur, although infrequently.
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4. /m/ and /n/ ména fména] "used to’

néhkom [néhkum] 'my grandmother/’

The two fricatives /s/ and /h/ have both voiced ahd

voiceless allophones. Word final /h/ is whispered.

5. [/s/ sisip [sizip] or [sisip] ‘dQuck’
/h/ ayahiw [ayahéw] 'whoever’
mistikowatih [mistikowatih] ’in the box’
[

/6/ has two allophones: [§] and [t]. The most frequent
allophone is [§], as in afapiy ‘net’. /6/ may be realized
phonetically as a voiceless fortis stop when the following

syllable begins with a nasal.

6. adapiy 'net’ [adapivy]
nifanén 'we (1p)’ [nitanén]

The two semi-~vowels are /w/ and /y/.

7. /w/ awa ‘this(3)/ micisow ‘he eats’

/Y/ ayamihiw ‘he talks to him‘ watay 'belly’
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2.3 A MARGINAI, PHONEME /1/

The phoneme /1/ has a highly specialized use. Most words

that occur with this phoneme are borrowings. Two examples

are:

8. omakalakisa
3=mukluk=dim=3"
'his mukluk[s}’

9. Milcin [nickname]

'Mary Jane’

A few of the borrowings have been incorporated into the

language forming blends with native Cree words.

10. apal-ascocin

apple=hat

‘hat with a pompon?

The only native Cree words with /1/ occur in the
specialized register of baby talk used by adults towards

young children. Baby talk words containing /1/ derive from

an underlying /§/.4

4 The use of /1/ may have been influenced by child
language acquisition. Children do not pronounce [§] until

late in their childhood. In their earlier years, /8/ is
realized as [1].
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11. k don’t’

a»
o
1]

lnol

=
(o33
fraed
9]

The status of /1/ as a phoneme in Woods Cree is
problematic and marginal. This phoneme is not investigatéd

further in this study.

2.4 CONSONANT SYMBOLISM

In the beginning of this chapter, it is stated that /t/
and /c/ are separate phonemes. There is a process called
consonant symbolism that merges these two sounds (Pentland
1974). Under cdnsonant symbolism, /t/ changes to [&] in a
word to signify something especially close to the speaker.
Kinship terms, nicknames and baby talk often contain
examples of consonant symbolism. The words in the right

hand column illustrate this process.

12. nitawésimis 'my child’ n(i)cawésimis
néhtiwiy 'my father’ néhcéwiy
kiskwistikwan ’crazy head’ kiskwiscikwan

mitoni 'so much/ niconi
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In baby talk, consonant symbolism has wider application.

. . v .
In this register, /s/ also changes to [¢]. An example is:
13. kawisimo ’‘go to bed’ kawicimo
Consonant symbolism often occurs in words with the

derivational morpheme -hkédso ‘pretend’ and with the

diminutive morphemes -s and -si.

14. matow 'he cries’ mécdhkésow ‘he pretends to cry’
patima *later’ pacimis ’a little later’

atoskiw ‘he works’ acoskisiw ’‘he works a little’

Consonant symbolism is represented in the orthography.

2.5 PHONOTACTIC RESTRICTIONS IN CONSONANT CLUSTERS

The basic syllable structure of Woods Cree is
(C)(w)V(C)(C). Vowels and consonants other than /h/ occur
at the beginning and at the end of syllables and words. See

section 2.7 for details on /h/.

The only other major phonotactic restriction applies to

consonant clusters. There are three basic types of
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consonant clusters: /hC/ clusters, /sC/ clusters and /Cw/

clusters. The clusters are exemplified here with /p/ as the

consonant.
15. mikiwadhp 'tent’
ispiy 'when'’
opwam ’his thigh’

The second member of a /hC/ cluster or a /sC/ cluster
can be /p,t,c,k/.5 /hC/ and /sC/ consonant clusters are
restricted to inter-vocalic and word final position. The

lexical items presented in #3 illustrate this.

/Cw/ clusters have any consonant other than a semivowel
as their initial member. /Cw/ consonant clusters occur as
syllable onsets. The following examples contain /tw/

clusters.

16. itwit ‘he says’

twaham ‘he drills a hole in the ice’

5 The cluster /hé/ also appears in Woods Cree but has
a limited functional load. Only a handful of words exist
with this consonant cluster. See Starks 1987a for a list of
these lexical items.
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/hC/ and /sC/ clusters combine with /w/, creating /hCw/

and /sCw/ clusters. Examples are:

17. atihkwak ‘caribou {pl}1’
iskwahtim ‘door’

/hCw/ and /sCw/ clusters have the most phonotactic
restrictiohs apply to them. They are restricted to certain
sequences of phonemes and they do not occur in word initial
or word final position. The syllable structure of words
with /hCw/ and /sCw/ clusters is not fully understood. See

Greensmith 1985a for further details.

2.6 MORPHOPHONEMICS

Some relevant morphophonemic processes also need
consideration in order for the reader to recognize the
essential forms presented in the discussion to follow. Five

of these processes are listed below.

a. When two consonants come together at a morpheme
boundary, an epenthetic [i] is inserted between the two
morphemes. The few exceptions are listed in Wolfart 1973

and Dahlstrom 1986.
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18. papéam+kwaskohtiw /papamikwéskohtiw/
around=jump\ATI=31

’‘he jumps around’

This is represented schematically as:

19. /@/===== >[i1/ C +C

b. After a personal prefix, an epenthetic /t/ is added
before a vowel initial stem.®
20. ni+t+atoskén ’'T work’

ki+t+atoskan ’you work’

atoskiw 'he works’

21. asém ’snowshoe’
ni+t+asém ‘my snowshoe’
ki+t+asém *your snowshoe’
o+t+asam+a ‘his snowshoe’

c. Distinct morphophonemic processes apply to other
morphenme boundaries in which two vowels come together. The
processes include vowel coalescence, vowel deletion with

and without compensatory lengthening, and glide insertion.

6 Dependent noun stems do not add epenthetic /t/:
natay ‘my belly’. See section 3.2.2 for details on
dependent stems. Speakers also frequently fail to apply
this rule, in favour of rule (c¢), before noun stems
beginning with /o/; e.qg., nétépanidsk ‘my vehicle’.
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Examples are:

22. ka-itohtén ‘you will go’ [kétohtén]

ta~otiniw ’he will take him’ [tétiniw]
ka-cimon ’‘you will tell (a story)’ [k&cimon]

ki-otiniw ‘he took him‘ [kiyotiniw]

These morphophonemic processes interact depending on the
speaker’s style. Using formal style as a basis, the
distribution of the vowel processes is as follows. /a/ and
/i/ coalesce to [&] and /a,i/ delete before and after /o/ .
/o/ is 1lengthened in this environment. Sequences of
identical short vowels or an identical short and long vowel
are realized phonetically as a long vowel. /o/ and a long

vowel and sequences of long vowels are separated by an

epenthetic glide.

d. Another morphophonemic process applies to noun stems.
When a noun stem ending in a semivowel occurs before an
inflectién beginning with /i/, the semivowel deletes and
the vowel preceding the semivowel is lengthened.

Examples are:

23. a.watay ‘belly’ +=-ihk ’locative’ watédhk
b.asiniy ’'rock’ +=-is ’'diminutive’ asinis

c.otadapiy-a ‘his net’ +-ifiwa ’3’/possr’ otadapidiwa
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e. Post-consonantal /w/ deletes in word final position.
This rule, Cw =~=---==>C/______#, applies, for example, to
singular nouns. Contrast the singular and plural forms of
the following two nouns. In the singular forﬁ,

post-consonantal /w/ does not appear.

24, ministik ’island’ ninistikwa ‘’islands’

wapos 'rabbit’ waposwak 'rabbits’

Other less common morphophonemic processes are listed in

Dahlstrom 1986.

2.7 PHONETIC PROCESSES

There are also a number of low level phonetic rules that
affect the output generated by the phonological rules and
the morphophonemic processes described in the previous
sections. The following discussion summarizes some of the
major phonetic rules operating in the community. For a more

detailed study see Starks 1987a.

Many of the phonetic rules distinguish the speech of
older and younger members of this speech community. One of

the most dramatic changes has been the weakening of /hk/
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clusters in word final position. Greensmith 1985a also
reports /hk/ weakening in the Pukatawagan area. For South
Indian Lake, this rule, hk ==-=>h s/ #, is phonetic for
the oldest speakers. Frequency counts in texts vary from
speaker to speaker. For older speakers, the weakening is

most frequent when the lexical item is locative.?
25. /ispimihk/ ’up’ [ispimih]

Among the mniddle age speakers the change is more
widespread. /hk/ weakens to [h] in word final position in
almost all textual examples. The weakening is still
phoneti¢ since no restructuring has occurred. These

speakers reconstruct final /hk/ in elicitation.

26. i-wipahtahk 'he sees it/ [iwApahtah]
askihk ‘on the land’ [askih]

For some younger speakers, the change of /hk/ to [h] in

word final position is an obligatory phonological change.

7 mext counts revealed a significant difference
between the older men and women with respect to this
variable. The older women have more weakening.
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A similar phonetic rule causes /k/ to delete word
initially and inter-vocalically. This change also
correlates with age. Younger speakers delete /k/ more
frequently than older speakers. The following examplés

illustrate /k/ deletion.

27. ké-wapamdt [Awabamét] 'he sees him/

piko [p61 fonly’

Among younger speakers, there is another 1low level
phonetic rule whereby /w/ changes to [y] in the environment
of a high front vowel. This rule, with examples, is

provided in #28 and #29.

28. [=8yll] ======> [=back] / V
[~cons] [+high]
[~back ]
29. tédniwd ’where (3)’ [taniya)
awina ‘who’ [ayinal

This assimilation rule applies across morpheme boundaries

in rapid speech.

30. wiki+wiw ’their home’ [wikiyaw]

ki+wapamiw he saw him’ [kiyabmiw]
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Other phonetic processes correlate with style. One such
rule affects short vowels. Between consonants, the short
vowel /i/ frequently deletes. The phonetic conditioning is

not fully understood.

31. anima tthat(0)’ [anma ]
pimiddw 'he flies’ [pmibaw]

ta-ki-nipdhtay ‘he could have slept’ [taginpadhtéy]

igitisaham ’he sends it/ [isitsaham]

.S A 4 VA
ma-micédkanis ‘doll’ [mamicigans]

When short vowels delete, two consonants come together at
a surface level. When the first consonant is a nasal, the
nasal may assimilate to the place of articulation of the

following consonant. Examples are:

32. nika-nikamon T will sing”’ [gganigamon]
f-nipét the sleeps? [impat]

The final phonetic rule to be discussed illustrates the
complex effect the interaction of the two variables, style
and age, have on the phonetic output. Morpheme-internal
sequences of a vowel, a semi-vowel and a vowel coalesce at

a phonetic level among younger speakers in informal speech.
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Examples are:

33. iyako ’that one’ [iko]
ayamiw 'he talks’ [amiw]
kawisimow ‘he goes to bed’ [késimbw]

Among older speakers, the 1as£ example would be
represented phonemically as /kawisimow/. In informal
speech, the phonetic variant [kayisimow] occurs. Among many
younger speakers, the phonemic representation of this word
is /kayisimow/, the phonetic variant in the speech of the
older members of this speech community. For many younger
speakers, /w/ is no longer reconstructible in this word. In
the informal speech of these younger members of South

Indian Lake [késimow] occurs as a phonetic variant.

2.8 ORTHOGRAPHY

The orthography ignores the phonetic rules described in
the previous section. The orthography is essentially
phonemic following Wolfart (1973) and Ellis (1983), but
Algonquianists should note that the phoneme /§/ corresponds
to Plains Cree /y/ and Moose Cree /1/ when it is a reflex

of Proto-Algonquian */1/ and vowel length is indicated by a
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circumflex over the vowel. The phonemes /i/ and /é/

=
e |

Plains and Moose Cree correspond to the phoneme /i/ in

Woods Cree.

The orthography represents the most formal speech stylé.
In a few lexical items, short /i/ deletes between
homorganic consonants in even carefully elicited speech,
e.g., tén(i)si ‘how’. When /i/ rarely occurs even in the
most formal speech style of most members of this community,
this vowel is written in brackets. Two important variables
in the midst of change are final hk and the conjunct marker

(k)4-. These forms are written as they occur in discourse.
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Chapter TIII

PARTS OF SPEECH

3.1 INTRODUCTION

This chapter prbvides an overview of the major lexical
categories in Woods Cree. 1In addition to nouns, verbs and

particles, a pronoun category has been included.

The chapter describes the basic morphological contrasts.
Nouns are coded for two genders and may be inflected for
person, number and obviation. Nouns may also be inflected
for locative case. Pronouns are similarly classified. Verbs
are morphologically either transitive or intransitive and
occur in several inflectional paradigms which
Algonquianists refer to as orders. A particle is not

inflected.

The structure of the major phrasal categories is the

subject of Chapters IV and V.




31
3.2 NOUNS

3.2.1 Gender

Nouns are subcategorized for two grammatical genders,
animate and inanimate.l A1l nouns that denote humans and

animals are animate.

34. népiw (NA) 'man’

maskwa (NA) 'bear’

A non-living thing may be grammatically animate or
grammatically inanimate. The following are some

grammatically animate nouns.

35. asém *snowshoe’
adapiy tnet’
mitis !pants’
cistiméw ’tobacco’
wihkis ’wild ginger’
dhcan(i)s ‘ring’

A few pairs are distinguished solely on the basis of

animacy. Three pairs are listed in #36~-#38.

1A few grammatically animate nouns vary in gender.
One example is pimiy ’‘grease’. In texts, this noun has been
recorded as animate and as inanimate. The gender appears to
be context dependent.
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36. wicimosa (NA) ‘lover (37)’

wicimosa (NI} “’prairie birds’ (type of plant)
37. mistik (NA) ‘tree’?

mistik (NT) ’stick’
38. asiniy (NA) ‘’rock/stone’

asiniy (NI) ‘’bullet’

The above pairs differ in their verb agreement. Verbs
agree with nouns in grammatical gender where required by
the verb stem. The noun asiniy frock [an.], bullet [inan.]’
is the subject of the following sentences. In #39, the verb
is sub-categorized as taking an animate subject and in #40

the verb is sub-categorized as taking an inanimate subject.

39. i-mihkosit asiniy.
IPV=red\AI=3C rock
The rock is red’

40. i-mihkwik asiniy.
IPV=red\IT=0C bullet

'The bullet is red.”’

The same principle applies when a noun is the

grammatical object of a verb. The verb A-wiApamak ‘I saw

2 mistik ’‘tree’ is gradually being replaced by sihti
'tree (evergreen)’. mistik ‘tree!’ is rarely used among
younger speakers.



33

him’ is sub~-categorized as taking an animate object and the

verb A-wépahtamdn ‘I saw it’ is sub-categorized as taking

an inanimate object.

41. asiniv 4-wéipamak.

rock IPV=see\TA=1~3C
’T saw the rock.’

42. asiniy A-wépahtamén.
bullet IPV=see\TI=1~0C

’T saw the bullet.?’

Natural gender plays a minimal role in the grammar.
There are only a few cases where grammatical gender is
superceded by natural gender, where nouns denoting humans
and animals are distinguished from grammatically animate
and inanimate nouns that denote objects. Case is one
example of a grammatical category which follows natural
gender. The 1ocativebsuffix, -ih(k), may be added to any
noun for which the natural gender is inanimate, as in #43
and #44. This suffix is not added to most semantically

animate nouns. This is illustrated in #45.

43. tihtapiwin NI ‘chair’
tihtapiwinih(k) ‘on/by the chair’
44. asén NA ’snowshoe’

asdmih(k) ’‘on/by the snowshoe’
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45, iskwiw NA fwoman'’

kisiwdk iskwiw 'near the woman’

The possessor noun phrase is also restricted on the
basis of natural gender. A grammatically animate noun suéh
as otdpénésk ‘car’ would not an acceptable possessor of a
possessive noun phrase, such as otihtapiwin ‘his chair’. A
possessor noun phrase must have a éemantically animate

referent, as in #4e.

46. John otihtapiwin
John 3=chair

fJohn’s chair’

Another example is the pronoun set represented in the

following examples by the pronoun forms awina/awidiwa
'who,someone’.3 This pronoun has an even more restricted

use. It denotes a semantically animate noun whose referent

is human.?
47. awina?
who=3

'Who is he/she?’

3 The second vowel in awina ’‘who’ is short. The

cognate form recorded elsewhere is long (See Wolfart 1973,
Ellis 1983).

4 There is no mention of a similar restriction in

other variants of Cree.
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48.ahpo awisiwa T.B. kéd~ayaéit, ki-nitawihiw.

or someone=3‘ T.B. IPV=be\AI=3’C past=heal\TA=3-3'T

‘Or if a someone had T.B., he cured thenm.’

The pronoun kikway ’what, thing’ is used to represeﬂt

other grammatically animate and inanimate nouns.

49. kikway anima?

what=0 that=0

’‘What is that?’ [unknown referent in woods ]

A

50. mistahi ména kikway ki-nipahtaw ana

lots used-to thing past=killI\TI2=3-0’T that=3
kisidiniw.
old-man

‘That old man used to kill many things.’

3.2.2 Person

Animate and inanimate nouns may be possessed. The
following examples contain the third person possessive
prefix o-. The noun awasis ‘child’ is animate in #51 and

the noun méhkomén ’knife’ is inanimate in #52.5

5 In the animate example, the noun stem begins with a
vowel . An epenthetic /t/ is inserted before the vowel
stem. See section 2.6 for details. Under consonant
symbolism, described in section 2.4, /t/ changes to [c].
The noun is also followed by the suffix -im. See Wolfart
(1973:28-29) for details concerning this suffix.
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51. té&nih(k)d ocawasimisa?

where=37 3=child=im=dim=3"’

'Where is his child?’
52. tAnidiw ombdhkoman?®
where=0’ 3=knife

'Where is his knife?’

Nouns are classified as dependent and independent.
Dependent nouns are grammatically inalienable. Dependent
nouns include kin terms, body part terms and various

miscellaneous items, as for example the word for glasses.

53. niskisikéhkéna wida i-wlpiwdkivan.

l=glasses=0p emp IPV=see=relat=obj\AI=1C

'I see with my glasses.’

Dependent nouns mark indefinite possession by a prefix

mi-. See Wolfart (1973:15-16) for further discussion. Two

examples are:

6 The above example was elicited from a younger
speaker. Older speakers use the form taniméd ‘where(0’).
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55. mités
indf=pants

'pants’

Kin terms are a subtype of dependent noun whose
possessor is always a first, second or third person. Person
is signalled by three possessive prefixes ni~, ki~ and o-.

Examples are listed below.

56. ni+stis
1=0ld/br
'my older brother’
ki+stis
2=0ld/br
your older brother’
o+stis+a
3=0ld/br=3"

‘his older brother’

Nouns which need not be possessed are referred to as
independent nouns. Independent nouns may occur without a

personal prefix.

57. astotin
hat

‘hat’
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58. iskwisis
girl

'girl’

When an independent noun is marked for possession, its
person marking is identical to the person marking on a

dependent noun. This is illustrated in #59.

59.ni+cimén
1=boat
‘my boat’
ki+cimén
2=boat
fyour boat’
o+ciman
3=boat

’his/her boat’

A suffix signals number on the possessors of dependent
and independent nouns. Woods Cree distinquishes two first
person plural possessors. The first person exclusive (1p)
‘me and her/him’ excludes second person reference and the
first inclusive (12) ’me and‘you' includes second person
reference. The two first person plural forms and the second

person plural form are cited in #60-62.
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60. nicimédninan
1=boat=1p
‘our boat [mine and his/hersi’

61. kicimdninanaw

2=boat=12
‘our boat [mine and yoursi’

62. kicimidniwaw

2=boat=2p

your [pl] boat’

The third person possessor may be singular, plural or
obviative. The singular forms were provided earlier in this
section. An example of a third person plural form is given

in #63. The obviative is discussed in section 3.2.4.

63. ocimdniwaw
3=boat=3p

ftheir boat’

3.2.3 Number

The singular form of a noun is unmarked for number. The
plural form is signalled by a suffix. The suffix -ak forms
the plural of animate nouns and the suffix -a forms the

plural of inanimate nouns.
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64. népiw+ak (NA) ‘men’

cimén+a (NI) 'boats’

Proper nouns also have a plural form; however such forms

are infrequent. An example is:

65. Johnak
John=3p

’the [two] Johns’

Mass nouns such as miskwamiy ‘ice’ are not normally
inflected for number. When so inflected, the noun miskwamiy

’‘ice’ denotes ’blocks of ice’.

66. i-ofatahwakwaw niskwamivak.
IPV=shape-instr\TA=1-3pcC ice=3p

T shape iceblocks.’

3.2.4 Obviation

Obviation is "a distinction made between two third
persons within a given context" (Todd 1970:19). The
contexts for Woods Cree are provided in section 4.6. 1In
a given context, the central third person is referred to
in the literature as "proximate" and other third persons

are called "“obviativer'.
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Most pronouns and verbs distinguish between the
proximate and the obviative. The pronominal paradigms are
provided in section 3.3 and examples of verbs are provided

in Appendix A.

A proximate noun is not marked morphologically. An
obviative inanimate noun is morphologically identical to
the corresponding proximate noun. Verb inflection and
‘other features on the noun phrase distinguish between the

two third persons.

Obviation is signalled grammatically on animate nouns by
the suffix -a, as in #67. The gloss for ndpiwa ’‘man/men’ is
ambiguous because obviative nouns are unmarked for number.
When a noun is obviative, its number must be distinguished

from the context.

67. napiwa
man=3"/

'man/men’

Another obviative suffix occurs on possessed nouns. The
obviative suffix -iSiwa signals the possessor of a
possessed animate noun is itself obviative. Because

obviative nouns are unmarked for number, the number of the
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obviative possessor is again ambiguous, as illustrated in

#68.

68. ondpim+ifiwa
3=man=im=3"

’her /their husband/s’’

Inanimate nouns can also be possessed by an animate
obviative possessor. A possessed inanimate noun is
inflected with a similar bbviative suffix, -ifiw. The
inanimate inflection differs from the animate form in that
it allows the possessed noun to be coded for number, as

illustrated in #69.

69. ocimdn+idfiw

3=boat=0"’

‘his/their boat’

ocimdn+idiwa

3=boat=0’p

’his/their boats’

7 The morphophonemic process used to derive the
obviative form is described in 2.6d. The suffix -im is
obligatory when this noun is possessed.
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The only other inflectional morphemes that occur on a
noun code case. There are two morphological cases in Woods

Cree: a vocative and a locative.
3.2.5.1 Vocative

The vocative has only marginal use. This case occurs on
nouns that denote kin. The vocative has a singular and a
plural form. The singular form is lexically specific. Most
singular vocative nouns are formed by dropping the final
consonant and lengthening the final vowel of the first

person possessed form, if short.S8

The following examples illustrate singular vocative
nouns. The first person singular form of the noun is
provided for illustration purposes.

70. nikosis

l=son

'my son’
nikosi
l=son=voc

son’

8 A few vocatives keep the final consonant and add -i1,

e.g., nimisi ‘my older sister (voc)’. For a complete
listing of vocative kin terms see Wolfart 1973.
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71. niciwém
1=brother (male=-speaking)
‘my brother (parallel male cousin)’
niciwé
1=pbr=voc (male speaking)

‘brother (parallel male cousin)’

The vocative plural morpheme ~tik is also added to the
first person singular form of the noun, as in #73.9 The
first person singular form is provided for illustration

purposes in #72.

72. nicénis
1=daughter
‘my daughter’

73. nicénisitik

1=daughter=vocpl

'my daughters’

A noun may be syntactically but not morphologically
vocative. In many cases, the vocative singular and plural
are being replaced by regular first person forms. The
vocative forms are no longer used by many of the younger

speakers. Among older speakers the two forms appear to be

9 Younger speakers often replace the vocatlve plural
morpheme by the plural suffix -ak.
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interchangeable. The following examples were extracted from
the same text. In both examples, the noun nimosém 'my
grandfather’/ is syntactically vocative. In the first
example, the kin term is morphologically vocative, in the

second example it is not.

74. nimoséd, i-takosinén.
1=gr/fa=voc IPV=arrive\AI=1C

fGrandfather, I’m home.’

75. nimosém, kikwadn Oma kd-6h-mitowin?

1=gr/fa what=0 prt IPV=for=cry\AI=2C

‘Grandfather, why are you crying?’

3.2.5.2 Locative

The 1locative suffix -ih(k) changes a noun to an adverb
of place. Examples #76-78 contain nouns inflected as

locative.

76. kahkidaw ndpiwak mikiwdhpih ki-ayawak.
all man=3p tent=loc past=be\ATI=3pTI
‘All the men were in the tent.’

77. i-pbsihtisonadniwahk otédpandskohk.
IPV=1oad\II=0C toboggan=loc

‘One loads (things) in a toboggan.’
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78. k8-wiwikinakiht akohpisih.

IPV=wrap\TA=1p-3C blanket=dim=loc

‘We wrapped him in the little blanket.’

There are two restrictions on the 1locative tmorphemé.
Although the locative morpheme may be added to nouns
possessed by singular possessors, it is not added to nouns
possessed by plural possessors. Contrast the following two
examples. In #79, the third person possessor is plural, in
#80 the third person possessor is singular. Although both
examples contain a locative argument, only the singular

form contains the locative morpheme.

79. akwa ké-akoticik okotawidniwiw.
and IPV=hang\TI2=3p-0’C 3p=smoke-stand

‘And they hung it up in their smokestand.’

80. wihkwédkanih niki-astawan.

3=face=loc 1=past=put=rel\TI2=1-0T

‘I put it on her face.’

The locative morpheme -ih(k), the plural inflections -ak
and =-a, and the obviative morpheme occupy the same
inflectional position on the noun. A noun that is overtly

marked as locative is not marked as obviative or plural, as

in #81-#82.
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81. oskisikoh i-pah-pihci-sikinaman.

3=eye=loc IPV=redup=inside=pour\TI=1-0C

'T poured (drops) inside his eye(s).’

82. nimosém isa f-ki-nipat ispimihk minahikohk
1=gr/fa hrs IPV=past=sleep\AI=3C up pine=loch

’You know, my grandfather slept up in a pine tree(s).’

Although plural and obviation are not overtly marked on
locative nouns, these grammatical categories are signalled
on other parts of the noun phrase for which the locative

noun is the head. See section 4.2.3 for details.
3.3 PRONOUNS

A pronoun is a constituent which either mnodifies or
replaces a noun. At a morphological level, pronouns are a
closed finite set of forms for which paradigmatic contrasts
exist for at least one of'the following: gender, person,
number or obviation. The main types of pronouns in Woods
Cree are deictic, pérsonal, whoever/whatever, emphatic,

- indefinite and interrogative. Although the status of the
locative adverbial proforms is problematic, the proforms
are also included in this section. FEach set of pronouns is

described separately.
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The deictic paradigms in Table 3.1 consist of two sets,
one for each gender. Each set consists of three paradigms
distinguished on the basis of distance. FEach of these

paradigms has three forms: a singular, a plural and an

obviative.
TABLE 3.1
Deictic Pronouns
this that yvonder

ANTMATE

3 awa ana néha
3p 6ko aniki niki
37 ého anihi nihi
INANTMATE

0 oma anima nima
Op 8ho anihi nihi
0f Smidiw animisiw ninidiw

- - - ~tn oy

The personal pronouns in Table 3.2 resemble the
inflections on a possessed noun. See Appendix B for
possessive paradigms. Personal pronouns lack distinct
proximate/obviative forms. They are divided into two

types: the unmarked [set one] and the emphatic [set two].
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TABLE 3.2

Personal Pronouns

Set T Set II
1 nida nista
2 kisa kista
3 wida wista
ip nidanén nistanan
12 kisanédnaw kistanénaw
2p kisawlw kistawaw
3p widawéw wistawaw

The first person singular pronouns nisa and nista

illustrate the unmarked and the emphatic personal pronouns.

83. mwic fkosi naki-itwan nida.

neg thus 1fut=past=say\AI=1T I
’I could not say that (myself).’

84. iyakwadiw pé kikwin nista i~iskopaéivén.
that-one=0’ only thing=0 I(~-too) IPV=1left-over\AI+0=1C

‘That is the only thing I have left over.’

The ayahdw ‘whoever’ and ayihiw ‘whatever’ paradigms in
Table 3.3 end in forms that resemble the corresponding
nominal inflections with the exception of the inanimate

obviative ayihidiw ’‘whatever’. The obviative ending on this
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morpheme resembles the corresponding form in the deictic

paradigms presented in Table 3.1.

ayihiw ‘whatever’ is the only pronoun that is inflected
for case. ayihiw ’‘whatever’ has a locative form ayihihk

'wherever’, a form otherwise exclusive to nouns. An example

is:

85. ayihihk wéskahikanih
whatever=loc house=loc

‘wherever in the house’

TABLE 3.3

ayahéw and ayihiw Paradigms

whoever whatever
3 ayahaw 0 ayihiw
3p ayahawak op ayihiwa
37 ayahfwa o’ ayihidiw
loc ‘ayihihk

-y v v - - — . - - - L [ad

The two emphatic pronoun sets kotak ‘other’ and iyako

‘that one’ in Table 3.4 have unique paradigms. The
pronominal paradigm for kotak ‘other’ is morphologically
identical to the corresponding nominal paradigm with the

exception of the inanimate obviative form. Tts inclusion as
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a pronoun is Jjustified at a syntactic level in section
4.2.3. The only unusual thing about the pronoun iyako ‘that
one’ is its two animate obviative forms. The form iyakwidiw
‘that one’ is most notable in the speech of the younger

members of the community.

TABLE 3.4

kotak and iyako Paradigms

ANTMATE
kotak iyako

3 kotak fyako(ni)

3p kotakak iyakonik

3¢ kotaka iyakoni/iyakwidiw
INANTIMATE
0 kotak iyako
op kotaka iyakoni
0’ kotakidfiw iyakwidiw

The indefinite pronouns awina ’‘someone’ and

kikwén/kikway ‘something’ overlap morphologically with the

corresponding interrogative pronouns awina ‘who’ and

kikwén/kikway ‘what’. Tables 3.5 and 3.6 1list the

interrogative and indefinite pronouns for ’‘who/someone’ and

'what/something’ in Woods Cree.
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TABLE 3.5

awina ’‘who,someone’ Paradigms

Type 1 Type 2 Type 3
3 awina 3 awina 3 awina
3p awiniki 3p awina/awiniki 3p awina
37 awinihi 3’ awidiwa 3/ awina
TABLE 3.6

kikwin/kikway ‘what,something’ Paradigms

Type 1 Type 2 Type 3 Type 4
3 kikway(i) kikway 3 kiko
3p kikway kikway 3p kiko
37 kikwaéiw kikwasiw 3’ kiko
0 kikway(i) kikwén kikway 0 kiko
Op kikwaya kikwéna kikway op kiko
0’ kikwasiw kikwaéiw kikwasiw

- -~ ——— - wun T D S S S SR Ghe GO G G S Vb G

Type 1 forms in Table 3.5 and Table 3.6 form complete
interrogative equational sentences. They can occur alone as
complete sentences. These pronouns are predominant among
older speakers. Type 3 in Table 3.5 is an interrogative
particle. It is included here for comparative purposes
only. It is the form used by younger speakers. This

particle is the predicate in an equational sentence whose
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argument is a noun phrase, as in #86.

86. awina aniki?

who that=3p

'Who are those?’

Type 4 in Table 3.6 is also an interrogative particle.

kiko ‘what’ modifies a following noun, as in #87.

87. kiko napiwak?

which man=3p

‘Which men?’

Type 2 forms in Table 3.5 and Types 2 and 3 in Table 3.6
occur in interrogative structures with verbal predicates.
The singular forms are exemplified below. When Xkikwan
‘what’ functions as an interrogative pronoun, it often

refers to a situation which lacks nominal reference, as in

#90.

88. awina 6midiw kaA-ki-tdHtah?

who=3 this=0’ IPV=past=do\TI=3-0’C
'Who did this?’

89. kikway ké-wi-n(i)tawadpahtaman?
what=0 IPV=want=go-to-see\TI=2~0C

'What are you going to see?’
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90. "nikosis, kikwan?" nititaw.
1=so0n what=0 1=say\TA=1-31

"My son, what (is wrong)?" I said to him.’

Type 2 forms in Table 3.5 and Type 2 and 3 forms in
Table 3.6 also occur as indefinite pronouns. The pronoun
kikway ‘what,thing’ has specific reference: kikwan is more

general. Examples are:

91. anima kikway nitawi-otina.
that=0 thing=0 go-to=take\TI=2-0Tmp
‘Go take that thing.’

92. nakwi-kiskisin kikwén ta-Acimowén.

1fut=try=remember\AT=11 thing=0 IPV=tell~-story\AI=1C
'Let me try to think of something to tell a story
about.’

The interrogative and indefinite pronouns are
distinguished syntactically. The interrogative pronoun in
#93 occurs in clause initial position. The indefinite
pronoun does not normaily occur in this position.10 The
indefinite/interrogative pronouns also differ in respect to
the modifiers they allow. Details of ¢the internal
structure of these two types of noun phrases are provided

in Chapter 1V,

10 one exception is #131.




93. awina a-ki-pi-masinahamawit?

who=3 IPV=past=to=write\TA=3-1C
'Who wrote to me?’

94, i-météhak awina.

IPV=track\TA=1-3C someone=3

‘T tracked someone.’

55

The interrogative pronouns for ’which’ and ’‘where’ are

divided into two sets, one for each gender. These pronoun

sets do not have distinct obviative inanimate forms. The

téna ‘which’ and the téniwd ‘where’ pronoun sets are

in Tables 3.7 and 3.8, respectively.

listed

The téna ‘which’ pronouns are a type of deictic pronoun.

They modify a following noun.

95. téna iskwisgis?

which=3 girl

‘Which giri?~

The téna ‘which’ pronouns usually occur

initially. When these pronouns occur elsewhere

clause, they have an indefinite reading, as in #96.

96. piko ténima pihkotiw ki-ati-apatan.
only all-kind=0 ash past=incp=use\II=0T

‘And just any kind of ash was used.’

clause

in the
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TABLE 3.7

téna ‘which’ Paradigms

e o L T - — - -~

ANTMATE

3 téna

3p tanihké

3/ tan(iw)ihi
INANIMATE

0 tédnimd / tén(i)

Op ténihi

TABLE 3.8
téniwd ’‘where’ Paradigms

ANTMATE

3 tiniwé
3p téAn(iw)ihka
3 tan(iw)iha

INANTMATE

0 téniwi
Op tén(iw)iha

The taniwé ‘where’ pronouns listed in Table 3.8 are also
a type of deictic. This pronoun set forms interrogative
equational sentences answered by locative noun phrase, as
in #97. The equational sentences are often qualified by an

appositional noun, as in #97A:
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97. A: téAniwd pbdsis?
where=3 cat

B: niti, sihtihk.
there tree=loc

A: ’'Where is it, the cat?’
B: ’‘There, in the tree.’

The deictic adverbials listed in #98 are a set of forms
that are differentiated on the basis of distance. Deictic
adverbials are not prototypical pronouns. Although these
proforms share with the deictic pronouns the category
distance, they do not share any grammatical features with
nouns. Proforms ending in =-a refer to specific areas
usually within potential sight, those ending in -i refer to

nore distant locations.

98. tanta tanti 'where’
o6ta oti ‘here’11
ita iti ’there’
anta anti fover there’
ikota ikoti ‘that place there’

Examples containing the téanta/tanti ‘where’ pair are

cited for illustration.

11 6ta ‘here’ is a deictic. Tts focal point is the
listener, not the speaker.
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99. ténta 4-ki-astat kimaskihkiya?

where IPV=past=put\TI2=3-0/C 2=medicine=0p
‘Where did he put your medicine?’

o A

100. tanti a~ki-otinat nipaps?

where IPV=past=take\TA=3-3’C 1=dad

'‘Where did my dad get them?”

3.4 PARTICLES

The short text in example #97 contains a particle, niti
‘over there’. Bloomfield (1946:94) defined a particle as
any uninflected form. Because "particles are the words left
over when all the others have been assigned to syntactic
categories" (Zwicky 1985:292), particles are a diffuse
group. Therefore, any attempt to classify particles will

not be exceptionless.

A basic distinction is made in this dissertation between
particles that are syntactically restricted and those that
are not. The particle maciméd ’of course’ is an example of a
general particle, one which is not syntactically
restricted. The particle sfpad ‘under’ is an example of a
syntactic particle. The latter particle modifies locative
noun phrases. When the distinction between a general and

syntactic particle is not necessary, the unmarked term
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'particle’ refers to both types.

General particles may be further divided into discourse
and semantic particles. Discourse particles are particles
that code discourse functions.'2 Dpiscourse particlés
include the topic particle mé ~‘what about/but’, the
contrastive particle ifa and the public information
particle isa. Also included in this list are the discourse
connectors kwéni ’so,then’ and akwa ’and (then)’. Discourse
particles occur in initial position, are attached as
clitics to the initial constituent in the clause, or occur
in sentence final position. Discour§e particles are
frequent in the texts in Appendix C. Two discourse

particles, kwdni ’so,then’ and isa ‘you know’, occur in the

following example.

101. kwéni isa kavéas piyak kisiédiniw.

then hrs long-ago one old-man

'And you know, long ago there was an old man.’

Semantic particles occur directly before or directly
after the constituent they modify. Most adverbs are
semantic particles. The following two sentences taken from

a text illustrate the semantic particle piyakwédw ‘once’. In

12 phese particles have also been referred to as
discourse markers (Zwicky 1985).
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#102, piyakwdw ‘once’ precedes the verb ohci~kiskiyihtaman
I didn’t know it’ and in #103, the semantic particle

follows the verb.

102. kwéni mwAc piyakwiw chci-kiskiyihtaman
then neg once negpast=know\TI=1-0C

ta-twhikatik anima.

IPV=drill~hole-in-ice\II=0C that=0

‘And not once did I know of that hole being drilled.’
103. kwéni mwéc i-ki-ohci-kiskiyihtaman pivakwiw

then neg IPV=past=negpast=know\TI=1-0C once

ta-twdhikatik anima.

IPV=drill-hole-in~ice\II=0C that=0

'And I did not know even once of that hole being

drilled.’

The remainder of this section is concerned with
syntactic particles. Syntactic particles usually occur as
the left-most or right-most constituent of a phrase or
clause. Syntactic particles include prepositions and
interrogative and subordinate clause markers such as ténta
‘where’ and kiséspin ‘if (only)’. Syntactic particles are
limited to the syntactic structures they define but they
are not always an obligatory part of those structures. The
following example contains the particle kisdspin ‘if

{(only)’. This particle is optional in this structure. Tt is
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a syntactic particle because of its limited syntactic

distribution.
104. kisédspin wépamici, na-wa-wihtamdkonin.
if see\TA=3-3'S 1fut=supp=tell\TA+0=3~1pT

’If he were to see her, he would tell us.’

Three types of syntactic particles referred to in
Chapter IV are prepositions, postpositions and quantifiers.
A preposition occurs as the initial constituent in a phrase

whose head is a locative noun or pronoun.

105. sikoc mistikowatih
between box=loc

'between the box(es)’

A postposition occurs as the final constituent in a
phrase whose head is a locative noun or pronoun. The

postpositions are isi ’‘to(wards)’ and ohci ’from’.

106. t&6hénih isi
ball=loc towards
'towards the ball’

107. ikota ohci

there from

’from there’
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The only other type of syntactic particle that serves as

a constituent in a noun phrase is a quantifier.13 tThe
following examples illustrate the Quantifiers aAtiht ’some’

and pivak ‘one’.

108. 4tiht émisi i-isindkwahki asisoya.
some like-~this TPV=rel=appear\II=0pC chisel=0p
'Some chisels look like this.)

109. kwéini a-ki-wanihiht ana piyak.

then TIPV=past=lose\TA=X-3C that=3 one

’‘Then that one was lost.’

3.5 VERBS
3.5.1 Verbal Orders

The three main verb paradigms, labelled orders, are the

independent, the conjunct and the imperative.

There are two types of imperative verbs: the immediate
and the delayed. They differ with respect to the urgency of
the action. An immediate imperative verb requests an

immediate action. & delayed imperative verb requests an

13 A quantifier may be preceded by another constituent
in the same phrase. See section 4.2.1 for details.
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action that need not be immediate and has a polite reading.
The following examples illustrate immediate and delaYed

imperative verbs.

110. kiwi.
go-home\AI=2Tmp
'Go home.’

111. kiwihkan.
go-home\AI=2DelImp

‘Go home (later).’

Imperative inflections are limited to verb stems that
are subcategorized as taking an animate subject. The
subject of an imperative verb is a second person singular
or plural, or a first person inclusive. All imperative
inflections are suffixes. Exemplary paradigms illustrating

the inflections are listed in Appendix A.

Independent and conjunct verbs occur in non-imperative
clauses.l4 1Independent verbs are restricted to main
clauses; conjunct verbs occur in both main and subordinate
clauses. Independent and conjunct inflections are added to

any verb stem.

14 an exception is the jussive structure in which the

verb takes an independent inflection, e.g., ta-nikamow ’let
him sing’.
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When a verb is inflected as an independent, person is
partly coded by a set of prefixes. These prefixes are
identical to those found on the corresponding possessed
nouns. ni- signals a first person and ki- signals a second

person.

112. ni+pimohti+n

1=walk\AI=1T
'T walk’

113. ki+pimohté+n

2=walk\AT=2T

fyou walk’

A third person prefix o- is used only in the preterit, a
sub-type of independent verb found in some irrealis
clauses.l5 The following example contains the third person
prefix.

114. mHéa itoki mihcit o-ta-ki-ihtihtavak

neqg perhaps many 3=fut=past=exist\AI=3ppretl
atimwak.
dog=3p

’Perhaps there wouldn’t be many dogs.’

15 There are no corresponding conjunct preterit forms

in Woods Cree. The independent preterit forms are not

listed in Appendix A. The bilingual speakers who acted as
informants for this dissertation were unable to provide
complete preterit paradigms. The preterit has only marginal
use. The examples in the dissertation containing preterits
were all taken from older speakers.
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The regular third person independent verb form is

signalled by the suffix -w.16

115. pimohti+w
walk\ATI=3T

'he walks’

There are also two first person plural inflections, an
exclusive and an inclusive, and one second person plural
independent form all of which commence with a personal

prefix. Number is marked in the suffix.

116. ni+pimohta+nan

1=walk\AI=1pT
'we (1p) walk?’

117. ki+pimohté+nanaw
2=walk\AT=12T
'we (12) walk’

118. ki+pimohti+nawaw
2=walk\AI=2pT

‘you (2p) walk’

16 The form of the verb varies according to stem type.
See paradigms in Appendix A for examples.
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The third person plural independent and obviative forms

are illustrated below.

119. pimohti+wak
walk\AI=3pI
’'they walk’

120. pimohti+éiwa
walk\AI=3’T

’he/they walk(s)’

Conjunct inflections signal person and number by
suffixes. Because the person and number categories of the
conjunct are identical to the independent, they are not

repeated here. Examples of verbs inflected as conjunct are

listed in Appendix A.

There are several basic types of conjunct verbs. One
type of conjunct verb begins with a special preverb.l?

Examples #121 and #122 contain the special preverbs, i- and

(k)a-.

121. misiwi oti oskisikosih i-astisik.

all-over here 3=eye=dim=loc IPV=put\II=0’C

'It was put all over his little eye.’

17 In other dialects, this type of conjunct verb is
called the changed conjunct. See Chapter IX for details.
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122. kwéani itoki kd-otihtinah, i-paskiswit

then perhaps IPV=reach\TI=3-0’C IPV=shoot\TA=3-3’C

Sho kwani jkota ohci simak

this=3’ then there from immed

d-ki-ohci-pi-kiwipadit.

IPV=past=negpast=to=go-home-move\AT=3C
'Then perhaps he grabbed it, shooting him, and then

from there he came back homne.’

Other conjunct verbs may be simple or subjunctive. The
subjunctive differs from the simple conjunct verb by the
addition of a final suffix =i and in some cases by a
distinct inflection. 1In the following example, the first
persbn inclusive subjunctive inflection =-yahki occurs on
the verb in the antecedent and the corresponding simple
conjunct inflection -yahk occurs on the verb in the
consequent. The conjunct and the subjunctive paradigms are

listed in Appendix A.

123. ikd op6napiwinih ki-itohtiyahki, kwani pd

neg SIL=loc able=go\AI=12S then only
Thompson ta-ayayahk.
Thompson IPV=be\AI=12C

'If we can’t go to South Indian Lake, will we have

to stay in Thompson.’
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The simple conjunct may be further divided into verbs
which begin with a preverb such as ta- ’future’, and verbs
which lack a preverb. This distinction is described in

Chapter IX.

3.5.2 Stem Types And Syntactic Relationships

The independent and conjunct inflections discussed above
are added to four types of verbs. Verbs are classified
according to the transitivity of the verb and the animacy

of its basic nominal arguments, subject and object.

TABLE 3.9

AT Animate Intransitive
I Inanimate Intransitive
TA Transitive Animate

T Transitive Inanimate

At a morphological level, there are two sets of
intransitive verb stems; one for animate subjects (AI), as
in #124 and one for inanimate subjects (II), as in #125.
Impersonal verbs, e.g., kisikidw ‘it is day’, are also
inflected as II. The AT and IT verb stems end in a vowel or

-n. The stem types are exemplified in Appendix A.
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124. kostéciw atim.
afraid-of\AT=3T dog
‘The dog is afraid of (the dark).’
125. késaw méhkomén.
sharp\IT=0T knife

'The knife is sharp.’

There are also two sets of transitive verb stems. A TA
verb requires an animate object and a TI verb takes an
inanimate object. The following two examples illustrate the

two main types of transitive verbs.

126. kwéni dko napiwak
then this=3p man=3p
kéd-ki-nakaticik owikimdkaniwiwa.

IPV=past=leave-behind\TA=3p~-3’/C 3p=spouse=3"’
‘Then these men left behind their wives.’

127. Clarence ké-ta-tahkopitah omakalakisa.
Clarence IPV=redup=tie\TI=3-0’C 3=mukluk=dim=0p

‘Clarence was tying up his little mukluks.’

A TA verb is also inflected for the number of its
object; the corresponding TI verb is not.

128. niéfa asav i~ki-pi-wipamakwiw atimwak.

I already IPV=past=to=see\TA=1-3pC dog=3p

’I have seen dogs before.’
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129. mwd na k-6h-ocisdpahtin waskwayvi-cimina?

neg Q 2=negpast=witness\TI=2-0T birchbark=canoe=0p

’‘Did you get a chance to see birchbark canoces?’

The subject of a TA verb may be animate, indefinite ér
inanimate. The terms are those used in traditional
Algonquian literature (Wolfartl1973:61-62). Example #128 is
an example of a TA verb with an animate subject. The
following examples illustrate TA verbs with an indefinite
and inanimate subject, respectively. A clause with an
indefinite subject is a type of agentless passive. Although
the inanimate subject in #131 is morphologically inanimate,
the subject refers to a semantically animate entity from

the Cree spiritual worid.

130. kwéni nisa kd-ki-misikawivan.
then I IPV=past=give\TA+0=X-1C

‘Then he was given to me.’

131. kikwin nikiSomdhcihikon.

thing 1=bother\TA=0-1T

‘Something is bothering me.’

TA verbs have theme signs labelled direct and inverse.
The theme sign indicates the direction of an action. The
direct theme sign -3 signals a first or second person is

acting on a third person or a third person is acting on an

‘‘‘‘‘‘
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obviative. The inverse theme sign -ikw signals a third
person is acting on a first or second person, an obviative
is acting on a third person or an inanimate is acting on an
animate. Contrast the following two examples. In the first

example the verb, ka-otihtindcik ‘they reach him (obv)i,

has a direct theme sign and in the second example the verb,

ké-otihtinikot ‘they (obv) reach him’, has an inverse theme

sign. The complete paradigms are listed in Appendix A.

132. akwa ké-otihtindcik 6ho, Clarence akwa
and IPV=reach\TA=3p-3’C this=3’ c. and
2=mo/br Eli

'And Clarence and your uncle Eli grabbed this one.’

133. kwini itoki ké-otihtinikot Sho mahikana.

and perhaps IPV=reach\TA=3’-3C this=3’ wolf=3"’

’And these wolves attacked him.’

The term local refers to direct and inverse forms that
signal first and second persons acting on each other. When
a second person acts on a first person, the action is
direct, as in #134, and when a first person acts on a
second person, the action is inverse, as in #135. IlLocal
forms have distinct theme signs. The complete paradigms are

provided in Appendix A.
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134. kwéni &say kiwandmin.
then already 2=interrupt\TA=2-1T
’You’ve already interrupted me.’
135. mwa ka-wanamitin.
neg 2fut=interrupt\TA=1-21

I won’t interrupt you.’

The direct and inverse theme signs form an animacy

hierarchy that may be schematically represented as follows:

2>1>3 >37">0

There are also a few syntactic anomalies with respect to
the morphological classification. A sub~type of animate
intransitive verb, labelled by Goddard (1979:37) as AI+O,
is morphologically intransitive but can take an object. The
object of an AI+0O verb can be animate or inanimate.

Examples are given in #136 and #137.

136. i-ki-kimotiyan ana pipi.
IPV=past=steal \AT+0=1C that=3 baby

’I stole the baby.’

137. kikwavy a-ki-kimotivan pikopadin.

thing=0 IPV=past=steal\AI+0=1C break\II=01

‘The thing I stole is broken.’
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There are also two special types of TI verbs. One type
of TT verb need not be followed by a noun phrase, e.qg.,
itiyihtam ‘he thinks it’:; yet it is treated morphologically
as if it has an object. The other type of transitive
inanimate verb, 1labelled T2, is morphologicaliy
intransitive; vyet syntactically transitive. TI2 verbs
require an inanimate noun phrase as their object.l8 The
following two sentences exemplify these two special types

of TI verbs.

138. tépwi mamaskac, itiyihtam.
really amazing think\TI=3-0'T
‘He thinks it is really amazing.*’

139. akwa k&-ki-osihticik ayihiédiw mistikwa.

and TIPV=past=make\TI2=3p-0’C whatev=0"’ stick=0p

‘And then they made sticks.’

A TA verb may be sub-categorized to require two objects:
6ne of which must be animate. At a syntactic level, the
animate indirect object is the morphological object for
which the verb is inflected. These double goal verbs are
labelled by Goddard as TA+0O (1979:37). The two verbs in

example #140 are TA+O.

18 These two types of TI verbs take optional
sentential complements.
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140. i-acimostékawivan ahpo i-mifikawiyan
IPV=tell-story\TA+0=X-1C or IPV=give\TA+0=X-1C
nimasinahikan.

1=document

‘T am told or T am given my statement.’

74
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Chapter IV

THE NOUN PHRASE’

4.1 INTRODUCTION

Noun phrases are relatively infrequent in texts. Because
the basic arguments are coded on the verb, noun phrases
which refer to the subject or the object often have a
discourse role. In texts, noun phrases introduce referents

into the discourse. Aan example is:

141. kwédni ké-nakanatacik nisikosa. mwad md itoki

and IPV=bring\TA=3p-3’C l=aunt=3"’ neg but perhaps

wihkéc ohci-otinawisow ana nécokisiw.

ever négpast=take—child\AI=3I that=3 old-woman

‘And they went to get my aunt. But perhaps that old

woman had never delivered (a baby).’
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Noun phrases also have an appositional role. They
provide additional information about the participants coded

on the verb.

142. mata na-acimiw nimig?
Martha 1fut=tell-story\TA=1-3T 1=0ld~-si
‘Will T tell her a story about Martha, my older

sister?’

The only obligatory constituent in a noun phrase is the
head. The head of a noun phrase is the constituent around
which the other components cluster and it is usually a
noun. In the foliowing example, the pronoun ana ’that’ and
the quantifier piyak ‘one’ modify the head noun kisidiniw

’0l1d man”‘.

143. ana pivak kisidiniw
that=3 one old-man

’that one old man’

Modifiers generally precede their heads. Free
constituent order is possible only when the participants in
the clause are clearly identified. When this situation
occurs, a modifier is interpreted as modifying the adjacent

noun. An example is discussed below. In #144, the TA verb
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kiskis ‘cut him’ is inflected as an imperative. Since the
subject of the imperative verb is a second person which is
not realized on the surface, the pronoun ana ‘that’
modifies the object, manakway ‘sleeve’, even though the

deictic pronoun follows its head.

144. [manakway ana] kiskis, nimisi.
sleeve  that=3 cut\TA=2-3Imp 1=old-si=voc

’Cut off that sleeve, my older sister’.

In clauses in which there is more than one noun, the
possibility for confusion exists and the order of the

constituents in the noun phrase tends to be more rigid.

4.2 STMPL.E NOUN PHRASES

4.2.1 Constituent Structure

A noun phrase consists of a head which may be modified
by up to three different types of pronouns and a quantifier
in the order presented below. The third person animate

forms of the pronouns represent their pronominal sets.

145.

NP --=> (ana) (kotak) (ayahaw) (Quantifier) Head
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Since a simple noun phrase has only one head, two nouns
do not occur in a simple noun phrase. Two pronouns may
occur as long as the pronouns come from distinct paradigm
sets. In #146, the pronoun head kikwéana ‘things’ is

preceded by two modifiers one of which is also a pronoun.i

146. akwa ka=-sikinin [6ho kahkifaw kikwénal.
and 2fut=pour\TI=2-0T this=0p all thing=0p

‘And then you pour in all these things.’

When more than one pronoun occurs in a simple noun
phrase, the pronouns are ordered. The deictic pronoun
precedes the alternative pronoun kotak ‘other’ and the

ayahdw ‘whoever’ pronoun.

147. ana kotak avahiw

that=3 other whoever=3

'that other person’

Quantifiers are divided into quantifiers such as Atiht

‘some’ and niso ‘two’ and measurements such as miwat 'bag’

and mnistikowat ‘’box’. A noun phrase may contain one
quantifier and one measurement in that order. This is

illustrated in #148.

1 the quantifier kahkidaw ‘all’ is syntactically
irregular. Dahlstrom 1986 and Rhodes 1979 provide details
on the equivalent particle in Plains Cree and Ottawa.
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148. pihtamawihkan [niso mistikowat kinosiwak]
bring\TA+0=2-1DelImp two box fish=3p

’Bring me two boxes of fish (later).’

Although a measurement requires a preceding quantifier,ha

quantifier does not require a measurement.

149. askaw [nisto] ki-osihiw.

sometimes three past=make\TA=3-3’T

’Sometimes she made three.”’

4.2.2 Locative Noun Phrases

A locative noun phrase has the constituent structure of

a simple noun phrase. The following locative noun phrase

consists of a pronoun, a quantifier and a head noun coded

for case.
150. anihi niso mistikowatih
that=0p two box=loc

‘in/on those two boxes?’

Apart from the Ilocative suffix -ih(k), there are two
types of syntactic particles that occur in a locative noun

phrase. These are prepositions and postpositions. Examples
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containing the preposition sipd ‘under’ and the

postposition ohci ’from’ are listed in #151-152.

151. i-itwdhtihpisih [sipd nipiwinih].
IPV=knock-head\AI=3C under bed=loc
’He knocked his head under the bed.’

152. mbésa [iskélih ohci] anihi kiskinbhamidkiwina,

neg school=loc from that=0p teaching=0p

nista ké-isi-pimipasihtavéan.

1-too TIPV=rel=along-move-obj\TI2=1-0C
'These teachings are not from school, the way I run

things.’

Prepositions are often optional when the head noun
occurs with a locative suffix. However, when the head noun
is semantically animate, the preposition is obligatory
because it is the sole indicator of the locative status of

the noun phrase. An example is:

153. kisiwdk ana napiw
near that=3 man

'near the man?
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4.2.3 Pronouns

A pronoun may replace a noun or function as a modifier.
A pronoun can only modify a noun with which it agrees in
gender and number. Because the deictic pronoun in #154
fails to agree with the noun akohpa ‘blankets’ in number,

anima ‘that’ does not modify the noun akohpa in #154. This

pronoun is either the head of another noun phrase or a

modifier of a noun which has deleted under identity.

154, niki-otisidpahtin anima -

1=past=witness\TI=1~0I that=0

ké-ki-ati-wadawi-akoticik akohpa.

IPV=past=incp=far=hang\TI2=3p-0’C blanket=0p
I got a chance to see this - they hung blankets

outside.’

Assuming that fhe head has not deleted under identity,
and that tﬁe noun phrase has unmarked constituent order,
the following generalization may be made. When a pronoun is
the right-most constituent in a noun phrase it is the head.
When a pronoun is not the right-most constituent, it is a
modifier. In example #155, kotakak ‘others’ is a modifier
and the pronoun awiniki ‘people’ is the head. In example
#156, ayihifiw ‘whatever’ is a modifier and the noun

iskotiw ’fire’ is the head.
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155. akwa kotakak isa awiniki

and other=3p hrs someone=3p

i-ki-wicayamakihcik.

IPV=past=with=be\TA=12-3pC

’And you know we stayed with the other people.’

156. kwéni ayihiéiw iskotiw kd-pihci-pahkihtin(i)sik
then whatev=0’ fire IPV=inside=fall\II=0’C
oskisikoh.
3=eye=]loc

‘Then a spark flew inside his eye.’

A few pronouns only appear as heads, e.g., they cannot
be followed by a noun belonging to the same noun phrase.
The indefinite pronouns, awina ‘someone’ and kikwan
'something’ are examples. Although these pronouns may be
preceded by other pronouns and quantifiers as in #157, they

are never followed by a noun belonging to the same noun

phrase.

157. anihi niso kikwéna
that=0p two thing=0p

’those two things’

Other pronouns replace noun phrases. iyako ‘that one’
and the interrogative pronouns awina ‘who’ and

kikway/kikwén ‘what’ are the only possible constituents in
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the noun phrases in the following examples. They are
therefore the heads of the noun phrases in which they

occur.

158. pimadtisiyadhki, kihtwam iyako ta-apacihtiyahk
live\AI=1pS again that-one IPV=use\TI2=1p-0C
'If we live, we will use that one again.’

159. awina &say d-ki-pi~dcimot?

who already TPV=past=to=tell-story\AI=3C
‘Who told stories already?’

160. kikwén mayida ta-asimotamah?

what  but IPV=talk\TI=12~-0C

’But what shall we talk about?’

The head of a noun phrase can always be substituted by a
noun. It can also be substituted by a pronoun functioning
as a head. A possessive noun phrase is used to illustrate
this point. A possessive noun phrase is a complex noun
phrase consisting of two separate noun phrases labelled
possessor and possessed respectively. The two component
parts of any complex noun phrase have their own head
constituents. Details are provided in section 4.4.2. A head
constituent in a complex noun phrase cannot delete under

~identity leaving its modifier behind.?2 When there is only

2 However, the entire noun phrase may delete under
identity. See section 4.4.2 for details.
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one constituent in a possessor noun phrase, it must be the

head.

By the above, the pronoun sets represented by ayahiw
‘whoever’, awina ’‘who’, kotak ‘other’ and iyako ‘that one’
and the two sets of personal pronouns may occur as the head

in a possessor noun phrase.

161. ayahdw owédskdhikan
whoever 3=house
‘whoever’s house’

162. awina owidskahikan

who 3=house
'whose house’

163. kotak owaskahikan

other 3=house

'the other’s house’
164. iyako owéskidhikan

that-one 3=house

'that one’s house’

165. nifa nicimin

I 1=boat
'my boat’

166. nista nicimén
T =boat

‘my boat too’
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A head is the only constitueht inflected for case.
When ayihiw ‘whatever’ is a head of a locative noun phrase,
it forms a separate locative noun phrase which is in

apposition to any other locative noun phrase in the

sentence.

167. kwéni atimwak ka-masihitocik ayihihk

then dog=3p IPV=fight=recip\AI=3pC whatev=loc
fawasipa mikiwahpih].

behind tent=1loc

‘And the dogs were fighting each other behind the

tent.”’

When ayihiw ‘whatever’ is a modifier of a locative

noun, it is not inflected for locative case.

168. kwéni ati-paskopitiw akwa [ayihiw miwatihi
then incp=pluck\TA=3-3’T and whatev=0 bag=loc

ati-asiwatiw opiwama.

incp=put-in\TI2=3-0T 3=feather=0p
'Then she plucks (the duck) and puts the feathers

in a bag.’

Other criteria are used to determine the status of
pronouns such as kotak ‘other’ in #169. This example

contains a deictic pronoun. The deictic pronoun is
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separated from kotak ‘other’ by a slight pause. In
examples such as this, kotak ‘other’ may be followed by a

noun belonging to the same noun phrase.

169. anima kotak nétaméhkan.
that=0 other=0 fetch\TI=2-0DelImp

’Go get that other one.’

In #170, the deictic pronoun that precedes kotak ‘other’
does not have independent stress. awa ‘this’ is a
proclitic attached to kotak ‘other’. A noun may not belong

to this noun phrase. In example #170, kotak ‘other’ is the

head.

170. akwa wifa awa-kotak, ivakwani nimadmé oméméwa

then 3 this=other that-one=3 1=mom 3=mom=3‘’

Caroline, nikwimis.
Caroline 1=namesake

’And her, the other one, that one is ny mom‘’s momn

Caroline, my namesake.’

Proclitics may also attach to deictic pronouns. When a
deictic pronoun is preceded by a clitic, the pronoun

functions as the head of the noun phrase, as in #171.
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171. milcin 6ta-awa ayat ména, "tanika

Mary-Jane here=this=3 be\AI=3C used-to if-only

ki-miéwaydyvah" it.
past=well-be\ATI=1pC said
‘Mary Jane - this one here - used to say, "If only we

were well.®

In other cases, it is only from the context that deictic
pronouns are classified as the heads of the noun phrases in
which they occur. This example is taken from the narrative

in Appendix C.

172. kwéni i-nipahicik oko.

then IPV=kill\TA=3p~-1C this=3p

’They are killing me.’

Three pronoun sets remain to be addressed: the

interrogative pronoun taniwa 'where’, the interrogative/

indefinite pronoun téna ‘which/all kinds’ and the deictic

adverbials.

The téniwd ‘’where’ pronouns occur as complete noun
phrases, as in #173. They are the heads of the noun

phrases in which they occur.
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173. t&niwd mavisa ana iskwiw anohc?
where=3 but that=3 woman now

‘But where is that woman now?’

The téna ‘which/all kinds’ set of pronouns may occﬁr
alone, as in #174 or modify a noun, as in #175. When téna
'‘which/all kinds’ occurs alone, either the pronoun is the
head or the pronoun is a modifier of a noun phrase in which
the head has deleted. Since the téna ‘which’ pronoun does
not occur as a possessor noun phrase; and does not, in
other structures, take a locative case or have an attached
clitic, there is no structural evidence in support of a

téna ‘which’ pronoun as a head in #174, or in similar

structures.
174. téniwihi méka wisa omosdma kikosis, nimosé?
which=3¢ but enp 3=gr/fa=3’ 2=son 1=gr/fa=voc

’‘But which one is the grandfather of your son,

grandpa?’
175. wifa piko taniwihi -maskihkiva

cause only all-kinds=0p herbs=0p

f-ki-micicik ’ pisiskiwak isa

IPV=past=eat\TI2=3-0’C animal=3p hrs

ké-ki-méwihcik.

TPV=past=eat\TA=X=-3pC
’Because the animals that are eaten eat all kinds of

herbs.’
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A deictic adverbial proform may be a modifier or a head.
As a modifier, it may precede a locative noun. An example

is:

176. [ténta waskdhikanih] 4-ki-astivin?
where house=loc IPV=past=put\TI2=2-0’C

‘Where in the house did you put it?’
In other instances, a deictic adverbial functions as a
head. In #177, the locative adverbial &ti ‘here’ is the

only constituent in the locative phrase.

177. ka, wista [6ti], ciyi?

excl 3-too here right

‘Oh, he is going this way too, right?’

Deictic adverbials, with the exception of the
interrogative proforms tanti/tanta ’‘where’, can be preceded
by a preposition or followed by a postposition. When é
deictic adverbial is preceded by a preposition or followed
by a postposition, the interrogative proform serves as the

head of the locative phrase.

178. ayihihk [awasipa anti] apihkA.

wherever behind there sit\AI=12DellImp

‘Let’s go sit somewhere behind (the house) there.’
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179. namistikwa mina i-ki-péniswicik [ikota

smoked-fish=0p also IPV=able=smoke\TA=3p-3’C there
ohei].

from

'They also smoke fish fillets from there.’

180. mitoni minsa f-nihtlwikinifiki [b6ta isi]

so-much berry=0p IPV=grow\II=0p’C here to

nmisiwi ospiskwénih.

all-over 3=back=loc
‘There were even berries growing right here, all over

his back.’

4.2.4 Quantifiers

When a noun phrase ends in a quantifier, either the
quantifier is the head of the noun phrase or the head has
deleted under identity. Because the argument for the head
deleting under identity is based on agreement, I will
briefly review it here. A verb agrees with each noun for
which it is subcategorized.3 1In example #181, the noun
atimwa ‘dog (3/)’ is the object of a TA verb for which the
subject is a third person. The verb agrees with the noun

atimwa ‘dog’ in obviation. There is no overt agreement

3 Pronouns also show agreement. See sections 3.3 and
4.2.3 for relevant details.
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between the verb and the quantifier nisto ‘three’.

181. akwa [nisto atimwa] ki-ayawiw.
and three dog=3’ past=have\TA=3-3'I

‘And he had three dogs.’

When the head noun deletes under identity, the verb
continues to show agreement with the underlying noun. In
example #183, the quantifier mitataht ‘ten’ is the sole
constituent in the noun phrase. The noun awisisak
‘children’ in #182 has deleted under identity in #183. The

verb ké-ki-nakasicik ‘they were left over’ agrees with the

deleted noun in gender and number. There is no agreement

between the quantifier mitataht ’ten’ and the verb.

182. mitédht-nisosdp niki-ayawiwak awidsisak.
ten=two=teen 1=past=have\TA=1=3pC child=3p
’T had twelve children.’

183. kwani pidisk ké-ki-nakasicik nitdtaht.
then finally IPV=past=left-over\AI=3p ten

'Then finally there were ten left.’

By the same argument, the verb in #184 is inflected as
taking an animate obviative object. The quantifier pivak
‘one’ is not marked for obviation. Therefore, a missing

noun is the head of the noun phrase.
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184. [piyak] mAyiéa i-kitamwat.
one but IPV=devour\TA=3-3/C

’But he devoured one.’

A few examples are problematic. They contain én
argument which may be interpreted as either a direct object
in which the quantifier is the head or as an oblique
argument in which the head noun has deleted. An example is

given in #185.

‘histo ‘three’ in #185 refers to the awisisak ’children’
in examples #182-#183. Although the reference is to
children, the verb is inflected as taking an inanimate
object. Since quantifiers are not sub-categorized for
gender, the quantifier nisto ’‘three’ may be the head of a
noun phrase that functions as the direct object of the
verb.4 nisto ‘three’ could equally be a modifier in an
obligue argument the head of which has deleted under
identity. Since examples such as #185 are problematic, the
head status of quantifiers in simple noun phrases will

remain unresolved. The role of quantifiers in complex noun

phrases is discussed in sections 4.3.1 and 4.3.2.

4 The unmarked inanimate form of the verb appears when
two nouns differing in gender are coordinated. See section
4.4.1 for details.
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185. tApiskéc 6ti [nisto] i-itiyihtaman.
like here three IPV=think\TI=1-0C

I really think of it here as three.’

The second type of quantifier, the measurement, is
slightly more complex. Lexical items which function as
measurements also appear as nouns. In the latter instance,
they may be inflected. Example #186 contains one such

lexical item. In #186, the TA verb niki-isi-pakocinawak ’T

gutted them’ is inflected as taking an animate plural

object. The phrase nisto mistikowat ‘three boxes’ is the

syntactic object of this verb. Since the verb does not
agree with mistikowat ‘’box’ in animacy or in number,
mistikowat ‘box’ would appear not to be the head of this

noun phrase.

186. [nisto mistikowat] niki-isi=-pakocinawak.
three box l1=past=rel=qut\TA=1-3pT

‘T gutted three boxes of them [fish].’

However, measurement phrases are unusual in a number of
ways which suggest that it, unlike the previous type of
quantifier, forms a type of complex noun phrase. The

details are provided in section 4.3.1.
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4.3 MEASUREMENT AND PARTITIVE PHRASES

4.3.1 Measurement Phrases

A measurement phrase has the following constituent
structure: quantifier + measurement + noun. This type of
noun phrase is never preceded by a deictic pronoun and

number on the measurement is optional, as in #188.5

187. nisto imihkwénis ohpicicikan

three spoon=dim baking-powder
"three teaspoons of baking-powder’

188. niso imihkwénis[ak] sokiw

two spoon=dim=(3p) sugar

‘two teaspoons of sugar’

When a simple noun phrase functions as one of the two
basic arguments in a clause, the verb agrees with it in
gender, number and obviation, where required. Some
measurement phrases follow this rule.® However, a
different type of agreement rule operates between other

measurement phrases and a verb.

5 If the noun in the measurement phrase is a mass
noun, it is not coded for number.

6 When a measurement is preceded by a deictic pronoun,
the resulting phrase is a simple noun phrase with normal
verb agreement. When the noun deletes under identity, the
verb also shows agreement with the underlying noun. See
example #186.
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The verb agreement rule for these measurement phrases is
irregular. In the following example, the II verb
i-pikopasikwadw ‘they break’ agrees with the noun kinosiwak
‘fish’ in number but not in gender. The only possibie
gender agreement is between the verb and the measurement

mistikowat ’‘box’.

189. [piyak mistikowat] kinosiwak]] i-pikopaéikwiw.

one box fish IPV=break\II=0pC

‘One carton of fish broke.’

This poses a series of problems regarding the structure
of measurement phrases, agreement and the status of heads;
especially if the measurement noun phrase is considered to

be a simple noun phrase.

It will be assumed here, on the basis of the complex
nature of the agreement rule that a measurement noun phrase
is a type of complex noun phrase consisting of two major

constituents, a quantifier phrase and a noun phrase.

Measurement NP --=> [[quantifier measurement] noun phrase]
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In simple noun phrases, verbs show agreement with nouns
but not quantifiers. Agreement between a verb and a
measurement phrase is irregular. A verb may agree in
different ways in different examples. In some instances,
the verb only partially agrees with the noun. In exampie
#189, the verb appears to agree, in part, with the
quantifier. The verb is reflecting features taken from
different elements in the complex noun phrase. The two
major constituents, the quantifier and the noun, appear to
be sharing the role of head. This however creates a
variety of problems since quantifiers are not normally
heads, and head-sharing is problematic at best. However,
ﬁhe structure has parallels with the coordinate noun
phrases discussed in section 4.4.1. In coordinate noun

phrases, the verb shows agreement with both nouns.

4.3.2 Partitive Noun Phrases

In section 4.3.1, it is suggested that a measurement
noun phrase forms a type of complex noun phrase. Complex
noun phrases may also be partitive, possessive, coordinate
or relativized. The first four types are covered in this

chapter. Relative clauses are discussed in Chapter VII.
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A partitive noun phrase consists of two major
constituents, a noun phrase and a quantifier phrase. The
minor constituents within each of these major constituents
have the same ordering restrictions apply to them that
apply to the minor constituents in a simple noun phrase;7
In #190 and #191, the partitive noun phrases contain a
deictic pronoun; In both examples, the deictic pronoun

precedes the constituent it modifies.

190. [nikosis [awa piyak]jl i-ayawak.
1=son this=3 one IPV=have\TA=1-3C

T had one of my sons.’
191. [piyak ké-pisiwit [6ho wipisiwall.
one IPV=bring-back\TA=3-3/C this=3’ swan=3’

'He brought back one of these swans.’

The major constituents in a partitive noun phrase do not
have the rigid order constraints of the minor constituents.
Although the. quantifier phrase usually follows the noun
. phrase, it is not a necessary condition. In #191, the

quantifier piyak ’‘one’ precedes the modifying noun phrase.

The quantifier phrase in a partitive noun phrase
delimits the sub-set of nouns referred to by the noun

phrase. In the following examples, the quantifier piyak

7 See section 4.2.1 for details.
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‘one’ delimits a set of objects referred to by the noun

oskisik ‘his eye’ and the noun phrase aniki niw népisisak

’those four boys’.

192. piyakwlw pd, ké-dhkosit [oskisik [piyak]].

once only IPV=sick\AI=3C 3=eye one
‘Only once, one of her eyes was sore.’

193. [aniki niw népisisak [piyak]] i-Ahkosit.

that=3p four boy=3p one IPV=sick\AI=3C

'‘One of those four boys is sick.’

Note that because the numeral piyak ‘one’ is a sub-set

of the nouns referred to by aniki niw népisisak ’those four

boys’, the noun phrase in #193 is proximate.

The unmarked position of a quantifier is to the right of
the noun phrase, as in #194. The position of the quantifier

is identical to the position of a head in a simple noun

phrase.

194. téasipwé niki-otinéw [nipipim [pivak]]
in-fact 1=past=take\TA=1-31 1=baby=im one
mina.
also

‘That is why I delivered one of my babies.’
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An unmarked partitive noun phrase is schematically

represented as:

Partitive Noun Phrase —--=>[[NP [Quantifier Phrase]]

Evidence against the noun phrase being the head of a
partitive noun phrase comes from locative structures. When
a simple noun phrase refers to a group of objects in a
place, the head of the noun phrase oecurs with the locative

morpheme -ih(k), as in #195.

195. [sikoc anihi niso mistikowatih]

between that=0p two box=1loc

'hetween those two boxes?

The normal unmarked position of the quantifier suggests
that the quantifier may be the head. However, the
situation is far from clear. Quantifiers are also
uninflected. E.g., a locative suffix does not occur on the
quantifier in #196. The locative status of the noun phrase

is indicated by the locative proform anta ‘there’.

196. sikoc anta [anihi niso mistikowata]

between there that=0p two box=0p

’between two of those boxes’
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4.3.3 Measurements vs.Partitive NPs

Measurement phrases and partitives are semantically
related. They also share a number of syntactic features.
In order to show the syntactic relationship between
measurements and partitives, one must.first contrast simple

noun phrases with partitive noun phrases.

A major difference between a partitive noun phrase and a
simple noun phrase is constituent order. In a simple noun
phrase the quantifier precedes the head, as in #197.
Although the order of the major constituenfs in a partitive
noun phrase is not fixed, in most partitive noun phrases,

the quantifier phrase follows the noun phrase, as in #198.

197. [piyak niciwdkan] ki-sipwihtiw.

one 1=friend. past=leave\AI=3C
'My one friend left.~’

198. [niciwdkan [piyak]] ki-sipwihtiw.
1=friend one past=leave\AI=3C

‘One of my friends left.’

The simple noun phrase may also be distinguished from a
partitive noun phrase by verb agreement. When the
constituent order in a partitive noun phrase is identical

to the constituent order in a simple noun phrase, the verb
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often shifts to agree in number with the noun phrase, as in
#199.8 However, as noted in #199, number on the noun is
optional; showing once again the complex nature of verb‘

agreement in this type of complex noun phrase.

199. [piyak [niciwdkan(ak)]] sipwihtiwak.
one 1=friend past=leave\AI=3pIl

‘One of my friends left.~’

The constituent order of the partitive noun phrase in
#199 is identical to the constituent order of a measurement
noun phrase. Number agreement in the partitive noun phrase
in #199 is an optional rule. It is also an optional rule in

the measurement noun phrases described in section 4.3.1.

8 Further complications arise when a partitive noun
phrase functions as the head of a relative clause; where it
has rigid word order. When a partitive noun phrase
introduces a relative clause, the verb in the main clause
agrees with the noun in gender but the quantifier in
number, as the example below indicates. The verb in the
relative clause in this and other examples, is marked as
taking an animate plural subject. However, the subject
noun phrase, although animate, is unmarked for number:;
suggesting once again that agreement is somehow shared.
More research is needed to fully understand the agreement
rules.

pivak iskwiw [éta ké-avicik] téhcipow.
one woman here IPV=be\ATI=3pC fat\AI=31
‘One of the women here is fat.’
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Although the two structures share many features, the two
complex noun phrases are not identical. In addition to
subtle differences in the agreement rules, there are also
differing restrictions on the ordering of the major
constituents. Rigid constituent order constraints »oniy
also apply to partitive noun phrases when grammatical
features other than constituent order distinguish a simple

noun phrase from a partitive noun phrase.

One example is the 1locative structure referred to
earlier. When the two nouns are marked for locative case,
the case morpheme distinguishes the simple noun phrase from
the partitive. Here, the noun in a partitive noun phrase

follows the quantifier, as in:

200. sikoc anta {anihi niso mistikowata]

between there that=0p two box=0p

'between two of those boxes’

The equational sentence is another structure in which
partitives and simple noun phrases are not distinguished on
the basis of constituent order. An equational sentence is
formed by predicating a simple noun phrase with a deictic

pronoun that agrees with the noun phrase in gender, number
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and obviation.? An equational sentence containing a
partitive noun phrase is not usually predicated in this
way. A partitive noun phrase is predicated with the
particle iyakwani ‘that one’. The partitive noun phrase in
the equational sentence has the rigid constituent order of

a measurement noun phrase.
201. iyakwani [anihi piyak] otimal]j.

that-one=3" that=3"/ one 3=dog=3"’

’‘One of those dogs is his.’

4.4 OTHER COMPLEX NOUN PHRASES

4.4.1 Coordinate Noun Phrases

Noun phrases are coordinated by two coordinating

particles: akwa ‘and’, ahpo ’or’.

202. kwéani a-ki-wicihak, [cini akwa niéa].

and IPV=past=help\TA=1~3C J. and T
‘And I helped her, Jeannie and I.’

203. akwa [niso ahpo nisto imihkwénis ohpicicikan}

and two or three spoon=dim baking-powder

‘and two or three teaspoons of baking powder’

9 For details on equational sentences consult section
6.2.1.
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When a coordinate noun phrase is the subject or the
object of the verb, the verb agrees in number with the
combined noun phrases as required by the verb sten.
Therefore, the combined noun phrase is considered to be the

head. In the following example, the verb ka-otihtindcik

‘they grabbed him’ requires the plural subject, Clarence

akwa kisis Eli ’Clarence and your uncle Eli’.

204. akwa ké=~otihtinacik ého [Clarence akwa

and IPV=reach\TA=3p-3’C this=3’ C. and

kisis Elij.

2=mo/br Eli

‘And Clarence and your uncle Eli grabbed this one.’

Coordinate noun phrases are equal at a grammatical
level. When two noun phrases are coordinated in Woods Cree,
they usually occur on the same side of the verb and both
noun phrases are coded identically with respect to
obviation. Two examples for which these constraints apply

are:

205. 6ma kA-isi-apatah [ panok piko akwa sbékiw

prt IPV=rel=use\II=0C bannock only and sugar

akwa tivy.

and tea

fOnly when bannock is used, and sugar and tea.’
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206. awa wimistikésiw akwa ana kotak ka-misikitit.

this=3 whiteman and that=3 other IPV=big\AI=3C

‘This whiteman and the other big one.’
When two noun phrases differing in gender are
coordinated, the gender signalled on the verb is always

inanimate.

207. kwéni ayahawa i-ki-apacihtéit

then whoever=3’ IPV=past=use\TI2=3-0’C

[apisci-sAkwiwaskosa akwa wihkisa].

small=1ily-root=0p and wild-ginger=3’
'Then he used 1ily roots and wild ginger.’

208. kwéni itoki ([émidiw] ka-otinahk [akwa

then perhaps this=0’ IPV=take\TI=3-0’C and
wéposwéana ]
rabbit=skin=3"

’So then perhaps she took this and the rabbitskin.’

A similar set of constraints occur when nouns differing
in gender are listed without a coordinating particle, as in

#209.
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209. iyakwani anihi anohc nisto kd-miskotamén:

that-one that=0p now three IPV=mention\TI=1~0C
[wisakimina, aédskanak idiniminaj

mossberry=0 raspberry=3p blueberry=0p

'Those are the three I just mentioned: mossberries;

raspberries, blueberries.’

Although coordinate noun phrases are not common in
texts, there is one commonly used construction that
resembles a coordinate noun phrase. This structure, 1like
‘many of the complex noun phrases presented in this chapter,
appears to violate number agreement. In the following
example, the noun kimis ‘your older sister’ and the
unstated pronoun kiéa ’‘you’ together form the subject. The
combined subject is implied by the lack of agreement
between the third person subject noun phrase kimis ‘your
older sister’ and the second person plural AI conjunct verb

inflection -yik.

210. kinis i-atosgkivik.

2=0l1ld/si IPV=work\AI=2pC

You and your older sister are working.’

Structures having this type of combined subject obey
strict word order constraints. The subject noun phrase

must precede the verb.
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211. nicimic s6pi ivako

1=yo/br-si sophie that-one=3

ké&-ki-atoskawakiht niméméi.

IPV=past=work-for\TA=1p-3C l=mom
'My younger sister Sophie and I worked for my

mother. ’

4.4.2‘Possessive Noun Phrases

A possessive noun phrase consists of two major
constituents labelled the possessor and the possessed noun
phrase. In the following example, nimis ‘my older sister’
is the possessor and ocimidn ‘her boat’ is the possessed

noun phrase.

212. [nimis] ocimin

1=0ld/si 3=boat

'my older sister’s boat’

Because the possessor is also coded on the possessed
noun by a set of possessive prefixes described in section
3.2.2, the possessor noun phrase may be deleted.

213. ocimén

3=boat

‘his/her boat’




lo08
The possessed noun phrase is the obligatory constituent
of a possessive noun phrase. A possessed noun phrase can

only be deleted at a surface level, under identity, as in

#214.

214. iyakwani anihi Josepwa, [owimistikésima] akwa

that-one that=3’ Joseph=3 3=whiteman=3"* and
niéa [] kipépA.

I 2=dad

‘That one is Joseph, her whiteman, and my [whiteman])

is your father.’

A possessed noun phrase is the head of a possessive noun
phrase. It agrees with the verb as required by the verb
stem. In the following example, the possessed noun nipapa
'my dad’, the subject, agrees with its predicate

ka-takopadit ’he arrives’ in gender, number and obviation.

215. ké-takopadit nipdpd, [[nifa isa [nipapail].
IPV=arrive\AI=3C 1=dad I hrs 1=dad

'My dad came, my (real) dad.’

The order of the minor constituents within a possessed
noun phrase is rigid. A possessed noun phrase has the
constituent order restrictions of a simple noun phrase.

Deictic pronouns precede their heads, as in #216.
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216. kwéni mwic tipihtin [[6ma nicihciyl niéaj
then neg fit\II=0T this=0 1=hand I

ta~-ki-kwépahaman.

IPV=past=draw-water\TI=1-0C

’So my own hand didn’t fit to draw the water.’

The major constituents in a possessive noun phrase have
freer order. 1In the preceding example, the possessed noun
phrase 6éma nicihciy ‘this my hand’ precedes the possessor
noun phrase nifa ‘I’. This major constituent order is
marked. Another example in which the possessed noun

precedes the possessor is listed below.

217. BAtis ké-ki-wicayamakiht [ostisa
Baptiste IPV=past=with=be\TA=1p-3C 3=01d4/br=3’
[nipépa]] |
1=dad
‘We stayed with Baptiste, my father’s older

brother.’

The possessed noun usually occurs as the right-most

constituent in a possessive noun phrase, as in #218.
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218. kéd-ki-wanihiht isa akwa, [nipdpad [omdmiwal]].

IPV=past=lose\TA=X-3C hrs and 1=dad 3=mom=3/

‘And you know she was lost, my dad’s mom.’10

Although the order of the major constituents may be
reversed, the major constituents are distinguishable.
Obviation distinguishes the possessor from the possessed in
#217 and the semantic constraints imposed on the possessor
of a possessive noun phrase require nisa ‘I’ to be the

possessor in #216.

There is only one constraint on the major constituents
in a possessive noun phrase. The possessor noun phrase does
not separate the constituents in the possessed noun phrase.
The two noun phrases in the possessive noun phrase occur as
complete units. Therefore in the following example, the
modifier niso ‘two’ cannot be extracted out of the

possessed noun phrase and placed before the possessor noun

wiciwdkana ’‘his friend’ without a change in meaning.

219. {wiciwdkana [niso omasinahikanidiwal]

3=friend=3’ two 3=book=0’p

his friend’s two books’

10 xa-ki-wanihiht ’‘something is lost by him’ is a
euphemism for dying.
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This is part of a general constraint on noun phrases. A
houn phrase is not separated by all or part of another noun
phrase. Two exceptions are discussed in section 4.5. This
constraint also applies to a possessive noun phrase when it
is the modifying noun phrase of a partitive structure. in
#210, the quantifier niso ’‘two’ occurs outside of the
entire possessive noun phrase. The quantifier niso ’‘two’

cannot be inserted between the possessor wiciwdkana ‘’his

friends’ and its head omasinahikanisiwa ‘his/her books’
without changing the meaning and structure of the noun

phrase.

220. [niso [wiciwAkana omasinahikan(i)§iwa]]
two 3=friend=3" 3=book=0’p

'two of his friends’ books’

4.5 DISCONTINUOUS NOUN PHRASES

Although simple noun phrases have rigid constituent
order, a noun phrase can be discontinuous. One constituent
of a noun phrase may be separated from the other
constituents by a verb or particle. In the following
example, the quantifier niyénan ‘five’ is separated from

its head atimwa ‘dogs’ by the verb ki-ayawiw ‘he had him’.
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221. kwéni M.C., awa [niyénan ki-ayawiw
then M.C. this=3 five past=have\TA=3-3’T
atimwaj.
dog=3"

‘Then M.C., he had five dogs.’
In example #222, the modifier mistahi ‘lots’ is
separated from its head kikway ‘thing’ by the particle ména

used to’.

222. mistahi ména kikway ki-nipahtiw ana

lots used-to thing past=kill\TI2=3-0’I that=3
kisidiniw.
old-man

‘That old man used to kill many things.~’

The constituents of a simple noun phrase may be
separated by another noun phrase by two types of
quantifiers. One quantifier is kahkiSaw ‘all’. This
quantifier floats within the sentence. In #223, the
quantifier kahkifaw ’‘all’ modifies maskihkiva ’‘medicines’.

Another discontinuous noun phrase ana néhtawiy 'ny father’

occurs between the modifier kahkidaw ’all’ and its head,

maskihkiya ’‘medicines’.
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223. kahkifaw ana ki-kiskiyihtam néhtawiy
all that=3 past=know\TI=3-0’I 1=father

maskihkiya.
medicine=0p

‘My father knew all kinds of medicine.’

The second type of quantifier is coded semantically as
the modifier of a particular type of noun. The quantifier
may be separated from its head by a noun phrase which lacks
the requisite semantic features. The example below contains
the quantifier pah-piyakwApisk ‘one piece each’. This
quantifier can only modify a noun which contains the
feature, [+metal]. 1In #224, the quantifier modifies
séniydwa ‘dollar’, and not the intervening noun phrase

néhtiwiy ‘my father’.11

224 .kwani pah~pivakwipisk ména niki-mifdikonan

then redup=one=metal used-to l=past=give\TA+0=3-1pI

néhtiwiy sénivawa.

1=father money=3‘

'Then my father used to give each of us one dollar.’

11 Por information on finals see Todd 1970 or B&land
1978.
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A discontinuous noun phrase is the result of either
grammatical or discourse factors. Examples of
grammatically-based discontinuity occur in polar questions
with polar question clitics in which a noun phrase
consisting of more than one constituent occurs in clause

initial position. The noun phrase may be simple or complex.

225. dko na nisto népisisak ki-itohtiwak?

this=3p Q three boy=3p past=go\AI=3pI
‘Did these three boys go?’

226. kipépa ci o6miéiw owAskahikan?
2=dad Q this=0" 3=house

’Ts this your father’s house?’

Discourse-based discontinuity is the result of emphasis.
When part of the noun phrase is emphasized, that part of

the noun phrase occurs in pre-verbal position.

227. mitdht-nisosip niki-ayawdwak
ten=two=teen 1=past=have\TA=1~3pI
awisisak.
child=3p

’T had twelve children.’

Although the constituents may be discontinuous, the

order of the minor constituents in the noun phrase does not
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change. In a simple noun phrase, even discontinuous

modifiers precede their heads.

228. Askaw nisto-mitanaw i-pakastawihwakwiw

sometimes three=ten IPV=set—in-water\TA=1-3pC&
adapiyak.

net=3p

'Sometimes I set thirty nets.’

229. niso ména A-ki-osihtat cimdna

two used-to IPV=past=make\TI2=3~0’C boat=0p
waskway ohci.
birchbark from

’‘He used to make two canoes out of birchbark.’

There are only a few examples of discourse~-based
discontinuity among complex noun phrases in the texts
examined for this stﬁdy. The following is an example of a
discontinuous coordinate noun phrase, napisisak akwa nipépé
’the boys and my dad’. |

A

230. ké-pipon(i)éik ci mina napisisak ki-pimohtiwak

IPV=winter\IT=0’C Q also boy=3p past=walk\AI=5pI
akwa nipépéa.

and 1=dad

'Did the boys and ny dad walk in the winter as

well?”’
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When discourse-based discontinuity occurs between the
constituents in a complex noun phrase, it is often
accompanied by marked constituent order. In the following
example, the possessed noun océdsikana ‘his socks’ precedes
the possessive noun awésis ‘child’. A similar example ofta

partitive noun phrase occurs in #191.

231. océsikana 6ta ki-sdh-sakaskihidpatamawiw
3=sock=3’ here past=redup=use-to~-pin\TA+0=X-3T
awisis.
child

‘The child’s socks are pinned here.’

The order of the constituents in a simple noun phrase is
more rigid than the order of the major constituents in a
complex noun phrase. The complex noun phrases are also
subject to the constraints described in section 4.4.2. It
would be interesting to study if discourse-based continuity
among complex noun phrases is restricted because of the
relatively free order of the constituents. This type of

study is beyond the scope of this work.
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4.6 OBVIATION

An issue that concerns all types of noun phrases is
obviation. Obviation cross-cuts several levels of the
grammar. It is conditioned by morpho-syntactic ruleé,
clause internal syntax, sentence level syntax and discourse
factors. The basic rules for determining when a third

person is obviative are discussed below.

When there are two or more animate third persons in a
clause, only one of them may be proximate, the others are
obviative. When an énimate noun is possessed by a third
person, the possessed noun is coded with the obviative

morpheme -a. An example is:

232. méskéc tépwi kisidiniwidiwa opépéwa.
perhaps really be-~an-old-man\AI=3’TI 3=father=3"’

'‘His father must have been a really old man.’

When both the subject and the object are animate third
persons, the subject'is normally proximate and the object
is obviative. The obviative is cross-referenced on the

appropriate noun phrase, as illustrated in:

233. kwédni [kinosiwa] ki-atoskihiw.
then fish=3‘ past=work\TA=3-3’T

‘Then she filleted the fish.’
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When two different animate third person subjects occur
in a complex sentence in which one of the clauses is

subordinate, one noun phrase will be proximate, the other

will be obviative, as in #2134.

234. patimd pi-kiwidici omisa,
later to=go-home\AI=3’S 3=0ld-si=3’

ta-pi-kiwit.

IPV=to=go-home\AT=3C
’She will come home when her older sister comes

home.’

Howver, if either of the +third persons is
morphologically inanimate, as in #235, obviation is

optional.

235. kwani pisisk i-tipiskék, kwini
then finally IPV=dark\II=0C then

d-padh-péskisikicik.

IPV=redup=shoot\AI=3pC
'Then when it was finally dark, then they shot many

times (into the air).’

When two third persons occur in separate sentences,
obviation takes on a discourse role. The following

discussion refers to animate noun phrases. Here, the
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discourse use of obviation in Woods Cree is similar to the
discourse use of obviation in Plains Cree. "In narratives,
proximate often corresponds to the character whose point of
view is being represented" (Dahlstrom 1986:108). One
participant is central and is cited with a proximate fofm
and the other non-central third person is cited with the

obviative. The following excerpt represents a typical text.

236.1. ka~-wapamat kisifdiniwa f-pi-nasipisit.
IPV=see\TA=3~3’C old-man=3’ IPV=to=go-down\AI=3’C

2. tapwi kisidiniwa.
really old-man=3"’

3. kwdni isa ké-ati-natat.
and hrs TPV=incp=fetch\TA=3-3’C

4. askihkosa tahkonisiwa.
pail=dim=3/ hold\TA=3/-3'T

1. He saw an old man coming down the hill. 2. A

really old man. 3. And he went to get him. 4. He
is holding a pail.

In the first sentence of this excerpt, the verb takes
two animate third persons. One third person is proximate,
the other is obviative. The subject, the hunter, referred
to only by a verbal suffix is proximate and the object,

kisisdiniwa ‘0ld man’ is obviative. The obviative is

signalled on the verb and cross~referenced on the noun
kisiéiniwa ‘0ld man’. The third person subject of the
subordinate clause obtains its obviative status from its

role in the main clause.
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The only third person in sentence 2 kisifiniwa ‘o0ld man’

is obviative. This is discourse level obviation. The
obviative status of kisisiniwa ’‘old man’ follows from the

previous sentence.

The third sentence does not contain a noun phrase. The

TA verb k&-ati-ndtit ‘he went to get him’ takes a proximate

subject and an obviative object. The subject refers to the
hunter and the object refers to the old man. The hunter and
the old man maintain their original proximate and obviative

roles.

The final sentence occurs with the TA verb tahkonisiwa
‘he holds him’. The verb takes an animate obviative subject
and an animate obviative object. Although kisidiniwa ‘old
man’ is now the subject, it continues to be obviative. This
is a discourse use of the obviative. The obviative object
marking on the verb agrees with the noun askihkosa ‘pail’,
the object of the verb tahkonifiwa ’‘he holds him’. This is
due to clause internal syntax. In this sentence, there are
two distinct animate third persons neither of which refers

to the central participant, the hunter.

Discourse 1level obviation 1is not grammatically

conditioned. When two animate third persons occur in a
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discourse span, neither need occur as obviative.l2 Strings
of ’‘proximates’, i.e., non-obviative forms, occur in any
discourse in which both participants are considered central
to the storyline. Dahlstrom (1986) and Goddard (1984) refer
to this as "multiple proximates." Examples occur in tﬁe

following discourse.

237.
1. ayahdw ma, ayahdw pé C. (3)? 2. kéd-pahpihakiht.
whoev=3 but whoev=3 only cC. IPV=1laugh\TA=1p-3C
3. L. (3) isa mikwic isa ma i-ati-pimohtisit
L. hrs while hrs but IPV=incp=walk=dim\AI=3C
L. (3). 4. C. (3) isa ka-ta-tahkopitah
L. C. hrs IPV=redup=tie\TI=3-0’C
omakalakisa, i-kadh-kwiskosit.

3=mukluk=dim=0p IPV=redup=whistle\AI=3C

5. kitahtawié é6ta L. (3) kéd-pimi-cihcikicipaéit

suddenly here IL. IPV=along=finger=move\AI=3C
animiédiw pakamédkan (0/) i-ta-tahkonah. 6. néht4,
that=0" hammer IPV=hold\TI=3-0’C 1=fa=voc
kwéni oscisa (37) k&-pakanatihpihwat. 7. miconi
then 3=0ld-br=3‘ IPV=hit~-head\TA=3-3’C so-nuch

"against the wall" kd-isi-ispahkipadit Cc. (3).
against the wall IPV=rel=up=move\AI=3C C.

8. miconi €. (3) i-kwA-kwaskohtit i-cicisinah
so-much C. IPV=redup=jump\AI=3C IPV=rub\TI=3-0’C

ostikwdn (07).
3=head

12 opviation does not occur in certain types of
conversation. See section 8.4 for details.
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9. iyako po d-ka-kiskisiyéan.
that-one=0 only IPV=redup=remember\AI=1C

1. How about C.? 2. When we were laughing at him. 3. L. had
just started walking. 4. C. was tying up his mukluks,
whistling.

5. All of a sudden L. staggered here, holding that hammer.
6. Oh my God, then he hit his older brother over the head.
7. C. flew up against the wall. 8. C. was jumping up and
down a lot, rubbing his head.

9.That is the only thing I was remembering.

The preceding excerpt was narrated by the mother of both
participants. The two participants are considered to be
equal. Neither participant in the excerpt is more central
than the other and both participants are cited with
proximate forms. The only obviative forms in this excerpt
are the result of morphological coding and clause-internal
syntax. The obviative occurs on the third person possessed
noun oscisa ‘his brother’ and on the deictic pronoun
animisfiw ‘that (0’)’ when it modifies the inanimate noun
pakamdkan ‘hammer’. This inanimate noun phrase is the

object of a verb whose subject is a third person.

Other issues related to obviation are detailed in

Dahlstrom 1986, Ch.4, Goddard 1990a and Wolfart 1973.13

13 The authors discuss changes in the obviative status
of participants indiscourse, a topic not covered in this chapter.
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Chapter V

THE VERB PHRASE

5.1 INTRODUCTION

This chapter provides an overview of the verb and the
nominal arguments for which it is sub-categorized. The
description of the internal structure of the verb resembles
descriptions of other Algonquian languages (Bloomfield
1946). Algonquianists may wish to proceed directly to
section 5.3 for a description of the basic arguments and

their syntactic constraints.

5.2 VERB STEMS

Although a few verbs have stems containing only a root,

the majority of stems have at least a root and a final. A
verb stem may also include a medial and one or more
preverbs. The basic verb stem is schematically represented

as follows:

STEM =ew—- > (preverbs) + root + (medial) + final
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5.2.1 Roots and Finals

The root provides the lexical content for the stem. The
following verb has a simple stem consisting only of a
root.l |

238. miciw

eat\TI2=3-0'T

’he eats it/

Most roots are adverbs. The following examples all

contain the root sipwi- ‘away’.

239. sipwi+pahtiw
away=run\AI=3T
‘he runs away’

240. sipwi+(y)astan

away=blow\IT=0T

it blows away’
241. sipwi+htiw

away=by-foot\AI=31

the leaves’

1 An alternative analysis of word morphology is
presented in Goddard 1990b.



A special type of root, labelled a relative root, has

its antecedent outside of the verb. The most frequent

relative root is it~ ‘thus’. This root mutates to is-

before -i.l

242, isi+nékwan
rel=appear\II=0T
it looks 1like this’

243. isi+Sihkésow
rel=be-called\AI=3I
'he is called so’

244, isi+tapiw

rel=drag\AT=3T

'he drags this way’

The antecedent of the relative root may be a particle, a

noun phrase or a clause. In the following example, it is

the particle 6misi ’in this way’.

245, omisi ména k-isimot.
this=rel used~-to IPV=thus=dance\AI=3C

‘This is the way she used to dance.’

1 when /i/ is a reflex of Proto-Algonquian */e/, it-
’thus’ does not mutate. See Pentland 1979 for details.
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The other obligatory part of a verb stem is the final.
The final marks the verb as belonging to one of the four
verb types discussed earlier: AI,IT,TI, or TA. Finals may
be concrete or abstract in meaning. All of the preceding
examples contain concrete verb finals. Abstract finals have
very general semantic content. One abstract final, -isi

’state’ is illustrated in #246.2

246. maskawisiw
strong=state\AI=3T

'he is strong’

The preceding examples contain only one final. Following

Bloomfield (1946), a verb stem with one final is called a

primary stem.

247. sipwihtiw
away=by-foot\AT=3T

‘he leaves’

A verb stem with more than one final is called a

secondary stem. The last final determines the stem type.

In #248, the secondary TI2 final -htd ’‘make’ is added to a

primary stem ending in the AI final -pasi ’move’. The

2 gee Denny 1978b for a semantic analysis of abstract

finals in Ojibwa.
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resulting verb has a TI2 stem. In #249, a secondary AT
final -hkédso ’‘pretend’ is added to a primary stem ending in

the AT final ~hti ‘by foot’.3 The verb stem remains AI.

248. pimipadihtiw
along=move\AI=make\T12=3—0'I
'he runs (a household)’

249. sipwihcihkésow
away=by-foot\AI=pretend\AI=31I

'he pretends to leave’

5.2.2 Medials

A medial occurs between the root and the final. Medials
denote body parts, clothes, objects of certain shapes and
consistencies and a number of other categories all of which
have nominal reference. Illustrations are provided in
#250—#254. The medials in these examples are incorporated

nouns. The glosses for the medials are underlined.

250. pim+dpit+iw
crooked=teeth\AT=31

'he has crooked teeth’

3 The form -hct 'by foot’ is the result of consonant
symbolism.
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251. post+astis+iw

put-on=mitt\AT=3T
'he puts on mitts’
252. pahkihti+wat+i+pahtiw
drop=bag=run\AI=3T
'she drops her bag running’

253. nitawi+min+iw

go~to=berry\AI=31
'he looks for berries’

254. nét+adapi+w

fetch=net\AT=3T

'he lifts nets’

Other medials function as classifiers. The following

example contains the classifier -apisk ‘metal’.

255, kis+épisk+itiw

hot=metal=by~heat\II=01I

’it (metal) is hot’

In the preceding example, the classifier refers to the
the subject of the sentence. Classifiers may also refer to
a noun in an oblique argument. In #256, the Woods Cree
classifier -asko ‘body’ is modified by the locative noun

phrase oskétihk ‘on her/his leg’.
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256. kwéni ka-kdhcitaskosit oskéatihk.
then TIPV=catch=body=by-heat\AI=3C 3=leg=loc

'Then her leg caught on fire.’

5.2.3 Reduplication

The initial syllable of a root or preverb may also
reduplicate. The following examples have all undergone

reduplication.

257. Ah-akopitiw TA 'he ties him’

cidh-cimatiw TI2 ‘’he stands up sticks’

na-nahiyihtam TI ’he listens well’

pah-paskiswiw TA ‘he shoots at him’

There are at 1least two types of reduplication, In a
detailed study of Plains Cree reduplication, Ahenakew and
Wolfart (1983) 1label the two major types: light
reduplication and ﬁeavy reduplication. This terminology is

used in this study.

In both types of reduplication, the initial consonant of
the root or preverb reduplicates. The difference between
light and heavy reduplication lies in the quality of the
vowel. For light reduplication, the initial consonant is

followed by a short /a/ and for heavy reduplication, this
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consonant is followed by a long /&h/. Before a vowel,
reduplication is signalled by the syllable ay~- if 1light,

and dh-, if heavy.

Ahenakew and Wolfart’s analysis of Plains Crée
distinguished the two types of reduplication semantically.?
The distinctions noted in this work apply to Woods Cree.
Ahenakew and Wolfart demonstrate that light reduplication
marks an "ongoing action or state"® and that heavy
reduplication marks "an action or state that is in some way
discontinuous or intermittent" (Ahenakew and Wolfart

1983:370). Examples from Woods Cree are:

258. LIGHT REDUPLICATION
j-ma-micit.
IPV=redup=eat\TI2=3-0’C

’'He keeps on eating.~’

259. HEAVY REDUPLICATION

k&d-tah-taskipahat.

IPV=redup=split\TA=3-3’C

'He split (the tree) with an axe.’

4 Ahenakew and Wolfart (1983) discuss reduplication on
verbs. Numerals can also undergo heavy reduplication. When
reduplicated, the numerals transliate as distributives,
e.g., ndh-nisto ‘three each’.




131

5.2.4 Preverbs

Preverbs are divided into syntactic-semantic markers,
tense morphemes, grammatical markers, and adverbs. The more

abstract morphemes occur further from the verb root.

This information is schematically represented as:

Preverb ----> (syntactic-semantic marker) (tense)
(grammatical markers) (adverbs)

The syntactic-(semantic) preverbs (k)&-, i-, ki-q and
ta~ occur in word initial position, one per verb and code
tense and aspect. Because the tense/aspect system is
complex, the discussion of the syntactic-semantic preverbs

is postponed until Chapter IX.

The preverb wé- ’‘past supposition’ is the only preverb
that may not be preceded by a syntactic-semantic marker but
may be preceded by a personal prefix. In some instances wa-
functions as if it is a syntactic-semantic marker, in other
instances it functions as if it is a tense morpheme. This
morpheme is discussed in greater detail in Chapter IX.
Examples containing the preverb wA- ‘past supposition’ are

listed in #260-261.
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260. kiséspin otékosih wa-pi-itohtici...

if yesterday supp=to=go\AI=3S
’If he had come yesterday,....’

261. niwéd-itohtén.
l1=supp=go\AI=1T

T would have gone.’

The second set of preverbs are tense morphemes. The
present tense is not signalled morphologically and refers
to a length of time which includes recent past events, as

in #262.

262. kwani asay kiwandmin.
then already 2=interrupt\TA=2-1T

’You’ve already interrupted me.’

Past tense is signalled by the tense preverbs, ki- and
ohci~-.53 ki- ‘’past’ wusually occurs in an affirmative

clause,® ohci- ’past’ occurs in a negative clause.’

5 The preverb (k)&- may also signal past tense. See
Chapter IX for details.

6 ki- ’past’ also occurs as an optional variant when a
proposition is negated with a main clause negator.

7 There is also the negative past tense preverb 6h-
which has slightly different connotations. This preverb
tends to occur with independent verbs.

mwé n-6h-iskéliwin.
neg Il1=negpast=school\AI=1I
’I didn’t (bother) to go to school.’
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263. Asay wifa ki-misikitiw.

already emp past=big\ATI=3T
’She was big already.’

264. mwic pivakwiw ndhtiwiy ohci-nikohtiw.

neg once 1=father negpast=chop-wood\AI=31

’Not once did my father chop wood.’

The preverb ki- ’‘past tense’ co-occurs with the negative
past tense morpheme ohci- when the verb in a negative
clause refers to an event or state in the distant past, as
in #265. There is no corresponding distant past form for an

affirmative clause.

265. mwic awina ikota ki-ohci-aviw.

neg someone there past=negpast=be\AT=31

'Nobody was there.’

The forms of the future morpheme are dependent on verb
inflection. The future form of an independent verb is nika-
for first person,8 ka- for second person and ta- for third
person.? The following examples contain the three future

forms.

8 nika- has a shorter variant na-, frequent among
younger speakers.

9 The prefix ka- occasionally occurs on verbs
inflected as third person.
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266. nika-wapahtiSawak
1fut=show\TA+0=1-3pI
I will show it to them’
267. mwic kapi ka-ki-pa-pamihitindwiw.
neg always 2fut=able=redup=care~for\TA=1-2pT
T will not always be able to look after you.’

268. kwéni ta-midosiw.

then 3fut=good\AI=31I

'He will be good.’

When the verb in a main clause occurs with a conjunct
inflection, the future tense morpheme is ta- for all
persons. The examples below contain first and second

person future forms of the verb.

269. ta-itohtiyén
fut=go\AI=1C
’'T will go’

270. kiséspin séniyas nitawisimaci, ta-atoskiyin pé.

if money  want\TA=2-3S fut=work\AI=2C only
'Tf you want the money, you will work for

it.’
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Grammatical markers follow the syntactic-semantic
.preverbs and the tense morphemes. The grammatical markers
isi- ’‘relative’ and ati- ‘inceptive’ occur in the following

examples.

271. tédn(i)si ké-ki-isi-wapahtaman?

how IPV=past=rel=see\TI=2-0C
‘What did you see?’

272. kwéni ispiy i-ati-apit kbéna,

then when IPV=incp=sit\AI=3C snow

ka-ki-itohtivan.

IPV=past=go\AI=1C
'Then when the snow was starting to lie on the

ground, I left.’

Several grammatical markers can occur on the same verb.
In the following example, the two grammatical preverbs, pi-
'to(wards)’ and 1isi- ‘relative’, follow the syntactic-

semantic marker (k)a- and the tense morpheme, ki- ‘past’.

273. kwédni nista kéd-ki-pi-ohpikiyén,

then I-too IPV=past=to=grow=-up\AI=1C
kd-ki-pi-isi-ohpihikawiyén.
IPV=past=to=rel=grow=-up\TA=X-1C

‘T grew up the way I was raised.’
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The preverb slot directly adjacent to the verb root is
reserved for lexical adverbs. These preverbs modify the

verb. Examples are:

274. nihci-pahkisin
below=fall\ATI=3T

'he falls from it/
275. nihté-kiféskiw
know=1ie\AI=3T
'he knows how to tell lies’
276. nohti-minihkwiw
need=Adrink\AI=3T
'he needs to drink’

277. mosci-midiw

free=give\TA+0=3-3'T

'he gives it to him for nothing’

A lexical adverb is the only type of preverb which
regularly undergoes reduplication. In #278, the preverb
piyako- ‘once’ is reduplicated. When the verb does not
contain a lexical adverb, reduplication usually occurs on

the verb root, as in #279.10

10 Reduplication on the verb root is possible when the
verb stem contains a lexical adverb, however such instances
are extremely rare. One such example is provided below:

ké-matwi-padh-pahkihtih!
IPV=audibly=redup=fall\I1=0C
’Something fell (and bounced).’
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278. itoka mina wiposkahk

perhaps also wipos=loc

ké-ki—pa-nivako-sikwanisivén.

IPV=past=redup=one=spring\AI=1C
’Also at Wiposadhk T was alone in the spring.’

279. kwéni Ata i-ki-kiskiyihtah ita

then although IPV=past=know\TI=3-0’C there

kéd-ki-ati-av-itohtit.

IPV=past=incp=redup=go\AT=3C

’Yet he knew where she was going.’

5.3 WORD ORDER AND GRAMMATTCAL RETATIONS

5.3.1 Subjects and Objects

The syntactic relationships between the basic arguments
are distinguished by a combination of verb inflection, the
obviative marking on the noun phrase, clause order,
particles and context. In #280, the verb inflection signals
that a third person is acting on an obviative. The
obviative suffix -a indicates that néhkom ‘my grandmother’
is the object and the proximate form of the deictic pronoun

indicates that awa kisisiniw ‘this 0ld man’ is the subject

in the context in which this sentence occurred.
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280. awa kisidiniw ndéhcimih A-ki-itohtahit
this=3 old-man woods IPV=past=go\TA=3-3’C
ndhkoma.

l=grandmother=3/

‘This old man took my grandmother into the woods.’

Word order is relatively free. In #280, the subject
precedes the verb and in #281 the subject follows. In #280,
the object follows the verb and in #282 it precedes the
verb.

A

281. wisé mistahi i-pi-tipwidsivamiht nipapa.

so-much lots IPV=to=yell\TA=3-1pC 1=dad
My dad yells at us a lot.’

282. imihkwéna ki-dpacihiw.

spoon=3/ past=use\TA=3-3’T

’'He used a spoon.’

Although word order is to a large extent pragmatically
conditioned, verbs generally precede any syntactic object
having a benefactive or associative role, as in #283 and

#284.

283. i-ki-atoskawit opépawa.

IPV=past=work-for\TA=3-3’C 3=dad=3"’

'He worked for his dad.’
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284. j-ki-wici-atoskimat ociwéma.
IPV=past=with=work\TA=3-3/C 3=brother=3’

'He worked with his brother.’

VO order is also frequent when one of the noun phrasés
is the patient of a TA+O verb. When a noun such as wiyés

‘meat’ occurs as the patient of a TA+0 verb, it usually

occurs after the verb.

285. mwi ména ikosi nida nititiyvihtin

neg used-to thus I 1=think\TI=1-0T

[Ka-pi-misit awina wivas].

IPV=to=give\TA+0=3-1C someone meat

’T didn’t think that way when someone gave me meat.’

- The unmarked VO word order is also frequent when one or

more of the arguments consist of several constituents, as

in #286.

286. kahkidaw nipiwak A-ki-nitawi-pakitinacik
all man=3p IPV=past=go-to=set-down\TA=3p-3’C
okinosimiwéwa. |
3’=fish=3p

’All the men were taking care of their fish.’
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As a result, the word order of a sentence in which one
of the arguments is a relativized noun is typically VO, as

in #287.

287. iyakwidiw kd~wi-isitisahamawit anihi

that-one=3’ IPV=want=send\TA+0=3-3’C that=3"’
awidiwa [~ki-pi-isitisahwit anihi
someone=3’ IPV=past=to=send\TA=3-3’C that=3’
mahikana ta-nipahikot].

wolf=37 IPV=kill\TA=3’~3C

’He wanted to send that one to the person who sent

the wolves to kill him.?

5.3.2 Oblique Argquments

Oblique noun phrases in Woods Cree include instrument,
benefactive, constructive and locative noun phrases. Unlike
subjects and objects, oblique arguments are not signalled
on the verb inflections. For example, the verb inflection
in #288 does not indicate the presence of the following

locative noun phrase.

288.1i-wadawipinit nivdnan iédiniwa kikinéh ohci.

TPV=throw~-out\TA=3~3/C five person=3’ 12=home=loc from

‘He threw five people out of our home.’
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However, verbs may be sub-categorized for their oblique
arguments. For example, the verb astdw ‘he puts it/

requires a locative noun phrase.

289. ayihiw pimiy kd-astit sisiskihkwanih.

whatev=0 grease IPV=put\TI2=3-0/’C frying-pan=loc

She put grease in the frying pan.”’

The sub-categorization may be signalled morphologically.
In #290, the concrete final -is ’‘by cutting’ indicates an
instrumental argument and in #291, the relative root is-

’thus’ indicates a locative argument.

290. ké-ki-patwitawisamén méhkomédn ohci.
IPV=past=cut-hair-off\TI=1-0C knife with

’T cut the hair off with a knife.’

291. micisowindhtikohk ji-ki-isipinah.

table=loc IPV=past=rel -throw\TI=3-0/C

'He threw it towards the table.’

Oblique noun phrases are often followed by a grammatical

particle ohci.ll Tn the following examples, ohci signals

11 This particle may occur as a preverb, as in:

ikota ké&-ohgi-péniswicik.
there TIPV=from=smoke\TA=3p-3/C
’They smoked them from there.’
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three distinct types of oblique noun phrases: an
instrument, a benefactive and a constructive noun phrase

respectively.

292. akwa ispiy ka-§6skék, kwani

then when IPV=soft\II=0C then

kd-ati-kaskikahamin minihtowisk ohci.

IPV=incp=cut~-by-metal\TI=1~0C metal-scraper with
‘And when it is soft, then I scrape it with a metal
scraper.’/

293. ohcitaw i-ki-sépihkiyén i-ki-midopadit

anyway IPV=past=make-soap\AI=1C IPV=past=well\AI=3C
ana akohpa ohci, piko isa kikwén.

that=3 blanket=0p for only hrs thing

I still made soap because it was good for blankets,

or anything.”’

294. niso ména d-ki-osihtéat cimédna
two used-to IPV%past=make\T12=3-0’c boat=0p
waskway ohci. |
birchbark out-of(from)

'He used to make two canoes out of birchbark.’

Two other grammatical particles that signal oblique noun

phrases are isi ‘to’ and isko ‘untii’.12 These two

particles introduce abstract locative noun phrases.

12 7hese particles also occur as preverbs.
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295. nista niki-miédwiédihtin niméméi

T l=past=1ike\TI=1-0TI 1=mom
ké-ki-pi-isi-kiskindhamawit
IPV=past=to=rel=teach\TA+0=3-1C

ta-wicihisowan némakis

IPV=help=reflex\AI=1C short~while

'3

pimdtisiyéni [nitatoskiwinihk isi].

live\AI=1S 1=work=1loc to
’I appreciate that my mother taught me how to heilp
nyself if I live doing my work.’

296. patimd [isko nipowinihk] ka-ki-kiskindhamawivamiht

after until death=loc IPV=past=teach\TA+0=3-1pC

ta-ayamihayah.
IPV=talk\TA=1p-3C

’Until death, he taught us to pray.’

When the clause contains an object and an oblique noun
phrase, the oblique noun phrase usually follows the object,

as in #297-299. An exception is the locative, discussed

below.
297.i-tahkopitah iskwdhtim pisdkandpiy ohci.
IPV=tie\TI=3-0’C door rope with

'He tied the door with a rope.’
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298. akwa ki-osihtaw mina akohp wiposwéina

and past=make\TI2=3-0I also blanket rabbitskin=3’
from
‘And she also made blankets out of rabbitskin.’

299.kwéni piko i-ki-kiskiyihtaméan kikwidn mamdhtiwisiwin

then only IPV=past=know\TI=1-0C thing amazing-thing

kd-icikatik kayés idiniwak ohci.

IPV=be-called\II=0C long-ago person=3p from
’So T only know about those incredible things from the

old people.’

A locative noun phrase has relatively free word order.
In the following examples, the locative noun phrases are
piwdpiskoh ‘in the can’ and miwatih ’in the bag’. The
locative noun phrase in #300 occurs between the verb and

its object and the 1locative noun phrase in #301 occurs

before the verb and its object.

300. akwa &~ki-ati-asiwatat piwédpiskoh ayihiéiw

and IPV=past=incp=put-in\TI2=3-0’C can=loc whatev=loc
kinosi-pimiy.
fish=grease

‘And then she put the fish fat in a can.’
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301. akwa ayihiw niwatih ati-asiwatiw

and whatev=0 bag=loc incp=put-in\TI2=3-0’T

opiwédma.
3=feather=0p

'And she puts the feathers in a bag.’

5.3.3 Manner Adverbs

The manner adverb is a special type of oblique noun

phrase introduced by piyakwan ‘like’ or téskéc ‘like’ and

contains a relative root or preverb, as in #302-303.

302. nipiy piyakwan ispwakan.

water like rel-taste\II=0I
‘It tastes just like water.’

303. nikén ayihiw tiskdc awa pahkwisikan

first whatev=0 like this=3 bread
kd-isi~osihiht.

IPV=rel=make\TA=X-3C

'First of all, this thing, it is made just like bread.’

Manner adverbs contrast one noun phrase with another.

Both phrases are equal and are coded as proximate, as in

#304 and #305.
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304. piyakwan waposwan ostikwéin.
like rabbitskin 3=head

’His head is just like a rabbitskin.’
305. taskéc awa atihk  taskéc awa mbéswa

like this=3 caribou like this=3 moose

kéd-tbtawat.

IPV=do\TA=2~3C

’You do the same for the caribou as for the moose.’
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Chapter'VI

TYPES OF MAIN CLAUSES
6.1 INTRODUCTION

This chapter describes main clause types. In Woods Cree,
a main clause is either verbless or contains a verb which
is inflected as independent, conjunct or imperative.
Usually, verb inflection is considered in a discussion of
main clauses. However, because of the complex nature of
verb inflection in Woods Cree, Chapters VIII and IX are

devoted to the topic.

This chapter provides a bésic description of simple
clauses and complex structures in which neither clause is
subordinate. Simple clauses are examined in sections 6.2
and 6.3. Section 6.2 discusses word order constraints in
both verbless and verbal clauses. Declarative,
interrogative and imperative moods are covered in section
6.3. The last séction outlines complex structures.
Coordinate structure and structures containing verbs of

saying and thinking are examined here.
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6.2 SIMPLE CILAUSES

6.2.1 Verbless Clauses

Most of the information presented in sections 6.2 and

6.3 may be represented by the following rules.
S——m————— > focus topic

Topic —=—-> NP}
\'25

Focus =~==-=> NP}
VP

In a verbless clause, the focus and the topic are NPs.

There are four types of verbless sentences that follow the

pattern outlined above. They are deictic equationals, iyako

equationals, negative existentials and interrogative

equationals.

The deictic equational may contain two noun phrases one
of which is a deictic pronoun. The other noun phrase in a
deictic equational sentence is either a common or proper
noun as in #306 and #307, or it is a personal pronoun or a

possessive noun phrase, as in #308 and #309.

306. pihkotiw anima.
ash that=0

That’s ash.’
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307. Palisa ana.
Paula=dim that=3
‘That’s Paula.’

308. wiéda ana.
3 that=3
’That’s him.~’

309. niciwém ocimdn anima.
l=brother 3=boat that=0

'That’s my brother’s boat.’

In a deictic equational with a common or proper noun,
the noun functions as the predicate and occurs in clause

initial position as exemplified by:

310. adikis ana.

frog that=3

’That’s a frog.’

The order of the argument and the predicate cannot be
reversed. If the deictic pronoun were to precede a common

or proper noun, it would form a simple noun phrase. This is

illustrated in #311 and #312.

311. ana asdikis
that=3 frog

‘that frog’
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312. awa Alis

this=3 Alice

‘this Alice’

A personal pronoun can function as the predicate or tﬁe
argument of the deictic equational sentence. When a
personal pronoun functions as the predicate, it occurs
clause initially and answers a ‘whose is this’ question, as
in #313. In this example the personal pronoun is part of a
possessive noun phrase, the head of which has deleted under
identity. When the personal pronoun is the argument of the
deictic equational sentence, it follows the predicate and

answers a ’‘which one’ question as in #314.

313. kiéa Hma.

you this=0
‘This is you(rs).’

314. Séma kida.

this=0 you

‘You (have) this one.’

When an entire possessive noun phrase occurs in a
deictic equational sentence, the order of the noun phrases
is pragmatically-based with the predicate in clause

initial position. This is illustrated in #315 and #316.
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315. [nipdpad otapwiva] anihi.
1=dad 3=paddle=3’ that=3"’
‘Those are my dad’s paddles.’
316. anihi [nipépid otapwiva].
that=3’ 1=dad 3=paddle=3’

'My dad’s paddles are those ones.’

When a possessive noun phrase is the predicate of a
deictic equational sentence, it may form a discontinuous
constituent. 1In example #317, the discontinuous predicate

is nipdpéd otapwiya ‘my father’s paddles’.

317. [nipépa] anihi [otapwiya].
1=dad that=3" 3=paddle=3"’

'It is my father who owns those paddles.’

The word order difference between #315, #316 and #317
reflects a general tendency for focussed information to
occur clause initially in Woods Cree. Example #315 answers
the question ‘what are those?’, example #316 answers the
question ‘which paddles are my dad’s?’ and example #317

answers the question ‘whose paddles are those?’. Examples




#315 to #317 are illustrated

diagrammatically in #318.1

318. (a) S (ﬁl///s\\\\\\
PTed NP Pred NP
| l
//NP anihi anihi
poss TP posT TP
nipapad otapwiya nipapa otapwiya
(c) /S
Pred NP
/yP
prss NP
nipapéa anihi otapwiya
A second type of verbless sentence begins

i(ya)lkwani ‘that one’.

phrase has previously been identified.

i(ya)kwani is a particle.

In this type of sentence, the noun

In most examples,

Example #319 taken from a text

recorded by an older male is an exception. Here,

i(ya)kwanik ‘those ones’ is inflected for number.

1 Example #317 is ambiguous. It can also be a complex

noun phrase. The two interpretations are diagrammed below:

[nipdpa] [anihi
[nipapa

Native speakers are aware of the ambiguity.

otapwiya]
anihi] [otapwiya]

'my dad’s paddles’
’those are my dad’s paddles.’

Example #316

is similarly ambiguous.
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319. i(ya)kwanik [aniki wihtikéwak].

that-one=3p that=3p craZy-person=3p

fThose are the wihtikow.’

i(ya)kwani normally precedes the noun phrase with which

it forms an equational sentence. Any type of noun phrase
may follow this particle although, in most cases, the noun
phrase consists of a noun preceded by one or more

modifiers.

320. i(ya)kwani [nistam péskisikana].
that-one first gun=0p
'Those were the first quns.’

321. i(ya)kwani [anihi anohec nisto

that-one that=0p now three

ké-ki-miskotamini.
IPV=past=mention\TI=1-0C

’Those are the three I just mentioned.’

322. i(ya)kwani [d&ho ayahdwa osdwaskwipisa
that-one this=3’ whoever=3’ jackfish=3’
d-ki-itat)

IPV=past=say\TA=3~3’C

'That was the jackfish he was talking about.’

The negative existential is a third type of verbless

- sentence. Negative existential sentences are introduced by
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the negative indefinite noun phrase mwéic kikwan ‘nothing’.
The negative phrase may precede an animate or inanimate

noun phrase and is not inflected for number.

323. mwic kikwin [ématowa waskéhikani.

neg thing 1like=this house

‘There was no such thing as a house like this.’
324. mwac kikwén [wimistikésiw] kayas.

neg thing whiteman long=-ago

’There was no whiteman long ago.’

A final type of equational sentence is the
interrogative. Interrogative equationals contain a form of

one of the following interrogative pronouns: awina ‘who’,

kikwén/kikway ‘what’, téna ‘which one(3)’ or tdniwd ‘where

is’. Interrogative equational sentences consist of an
interrogative pronoun followed by an optional nominal

complement, as in #325:

325. awina kipépéa?
who 2=dad

‘Who is your dad?’
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6.2.2 Verbal Clauses

The only obligatory constituent in a verbal clause is
the verb. Nouns and particles are optional. When

particles occur, they tend to be placed before the verb, as

in #326.

326. anohc p6 mwa tdpwi nimiswiyihtinan.
now only neg really 1=1ike\TI=1p-0I

'We really don’t like it now.’

Since the core arguments are identified by obligatory
pronominal affixes on the verb, the verb inflection may
provide the only indication of the participants in the

clause, as in #327.

327. mb68a méAka Hta ciskwa takosin.

neg but here yet arrive\AI=3T

‘But he hasn’t arrived here yet.’

When a nominal argument occurs in a clause, it is often
emphasized and precedes the verb. Example #328 has a pre-~
verbal object and in example #329, the subject occurs in

pre-verbal position.
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328. akwa mina nimidmd niwicayamiw ikota.
and also 1=mom 1=with-be\TA=1-3T there
‘And T also went there with my mom.’

329. nikimékan piko pihtokamik ki-ayaw.

l=spouse only inside past=be\AI=31

'Only my spouse was inside.’

As a general rule, no more than one noun phrase occurs
per clause. Post-verbal noun phrases occur most often when
the noun phrase contains a deictic pronoun. The gender of
the post-verbal noun may be inanimate, as in #330, or
animate, as in #331. Inanimate nouns are rarely salient
enough to be emphasized or in focus. A deictic pronoun
indicates that the noun phrase represents old information.
When not emphasized or in focus, a noun phrase that

contains old information follows the verb.

330. ikota ké-ki-astécik omidiw.
there IPV=past=put\TI2=3p-0’C this=0"
‘They put this there.’

331. méyifa ki-mamAdhtiwisiw ana

but past=be-amazing\ATI=3T <that=3
nimosém.
=grandfather

My grandfather did amazing deeds.’
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6.3 MOOD

6.3.1 Declarative Clauses

Most» sentences that occur in natural language are
declarative. There is no special marking for a declarative
clause in Woods Cree. The verb in a main clause declarative
can be inflected as an independent as in #332 or as a
conjunct as in #333. The declarative clause can also be
affirmative or negative. A neggtive statement is made by
adding a negative particle before the verb or before a
constituent which occurs in pre-verbal position. In

example #332, the negative particle is mwi.

332. anohc pé6 mwi tépwi nimiédwisdihtinan.
now only neg really 1=like\TI=1p-0I
’At this time, we are not really happy.’

333. kahkidaw awldsisak i-wimiscikésimocik.

all child=3p IPV=speak-whiteman\AI=3pC

’All the children speak English.’
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Declarative clauses are also negated by the particles

mwic, mbéa and ikd as exemplified by:

334. mwéic i-ki-ayamit ifikoh i-wisakivyihtahk

neg IPV=able=talk\AI=3C so-long-as IPV=hurt\TI=3—0;C
oskisik.

3=eye

‘He couldn’t talk because his eye hurt so.’2

335. mbééda n-6h~misikitin.

neg l=negpast=big\AI=11
'T wasn’t that big.’

336. iké kata-pdnihtacik.

neg should=stop\TI2-3p-0’C

’They should not give up.’

The verb in a clause negated by mwd, mwadc, or mdsa may
be inflected as independent or conjunct. The verb in a
clause negated by ik4d is always conjunct. A parallel
situation exists between main and subordinate clauses.
Although main clauses allow independent or conjunct verbs,
subordinate clauses permit only conjunct verbs. This

overlap, illustrated in Table 6.1, is discussed in greater

detail in Chapter VIIT.

2 The transitive inanimate verb wisakiyihtam ‘he hurts
(it)’ is an unusual verb. It has an experiencer as its
grammatical subject but a body part as its syntactic
subject.
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TABLE 6.1

’Negative Particles’

NEGATIVE PARTICLE CLAUSE INFLECTION
nwa/mwic/mbsa main independent/conjunct
ika (main) /subordinate conjunct

6.3.2 Interrogative Clauses

Interrogative clauses bear structural similarities to
their corresponding declarative clauses. There are two
types of main clause interrogatives: yes-no questions and
content questions. In both types of questions, clause

initial constituents are in focus.

337. kikwidn na i-ki-pi-nataman?

thing=0 Q IPV=past=to=fetch\TI=2~0C
’Did you come here for something?’

338. awina wikiwah kd=ki~-kimotindniwah?

who=3 3=home=3p=loc IPV=past=steal\IT=0C

‘Whose place was there a theft at?’
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6.3.2.1 Yes~No Questions

Of the two types of questions, the yes-no question shows
the most similarities to the corresponding declarative
clause. Yes-no questions are divided into four main typeé:
intonation questions, na questions, ¢i questions and ciyi
questions. A minor type of question, the mid question, is
also covered in this section. Yes-no questions are negated

by a clause initial negative particle, as in #339.

339. mwd na kimiskin?
neg Q 2=find\TI=2-0T

‘You can’t find it?’

Intonation gquestions are identical +to declarative
clauses with the exception of the rising intonation on the
clause final syllable. Intonation questions are infrequent

and usually consist of a single verb.

340. kinihta-acaédhkan?

2=know=tell~-legends\AI=21

Do you know how to tell legends?’

The three other main types of yes-no questions are
signalled by a grammatical particle in addition to the

final rising intonation. The question particles na and ci




161

cliticize to the initial word in the clause. The question
particles may occur after any type of constituent. In the

following examples, they occur after the particles kivyépic

’'still’ and ikoti ’‘there’.

341. kiyapic na anihi wicayamiw?

still Q that=3’ with-be\TA=3-3’T
’Is she still living with him?°’

342. jkoti ci ayayin?
there Q be\AI=2C

’Is that where you live?’

An unmarked polar question occurs with the polar clitic
ha and is answered affirmatively by the particle ihi ‘yes’.
The clitic ci occurs when a speaker expects an answer which
confirms his/her expectations. The affirmative answer to a

¢l question is normally va. The two question types are

exemplified in #343 and #344.

343. i-ahkosit na?

TPV=sick\AI=3C Q

’Is he sick?’ (feel head for temperature)
344. i-8hkosit ci?

IPV=sick\AI=3C Q

'He’s sick, isn’t he?’
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The ci question is related to a fourth type of question:
the tag question. The tag, ciyi occurs in sentence final
position. It requests verification of the preceding

proposition. Examples are:

345. mémaskéc civi?

amazing right
'Tt’s amazing, isn’t it?’

346. kiyapic Margaret ki-nitawiédimiw anihi, ciyi?

still Margaret past=want\TA=3-3’I that=3’ right

'Margaret still wanted that one, right?’

Although the clitic ¢i and the tag ciyi are similar at a
phonetic and a semantic 1level, they are structurally
distinct. ciyi usually follows clauses in which the verb is
an independent. If ci is preceded by a verb, that verb is

almost always a conjunct.

Another type of yes-no question is the md question. ma
questions are formed by attaching the clitic md to the

first word in the clause. The affirmative answer to a

’5
a» [ 4

question is vya. Unlike other types of questions, na
questions may not occur in a clause with an independent
verb or be negated with a main clause negative morpheme. mé
questions are negated with the subordinate negative

particle iké, as in #347.
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347. ik md i-apit?

heg but IPV=sit(be-~home)\AI=3C

‘What if he’s [not] home?’

Although any type of constituent may occur before mi,

usually a noun or pronoun occurs in this position.

348. iyako ma-?
that=3 but?

‘What about that one (previously identified)?’

The particle md provides a means for a referent to be
introduced into an established discourse context. The
following telephone conversation illustrates this point. In
this excerpt, Speaker A introduces the topic of the
father’s gifts and their recipients. The particle mi4 in
the following sentence introduces nisda ’I’ as a referent

into this discourse context.




349.

A

B:

ténispiy ka-wi-pi-kiwiyin?
when IPV=want=to=go-home\AI=2C

patima, Saturday.
later Saturday

kipadpdnaw ki-takosin.
2=dad=12 past=arrive\AI=3T

That’s what I wanted to know. (switched to
English)3

ni-ki-atdwistamidkonan maskosisak, nifa akwa Heather
IPV=past=buy\TA+0=3-1pI bear=dim=3p T and Heather

akwa Ecéic.

and Edith
nisa ma?
I but

mwéc. (laughter)

‘When are you coming home?’
’Not till Saturday.’

'Our dad arrived.’

'That’s what I wanted to know.~’

‘He brought us little bears -me, Heather and Edith.’

What about me?’
’Nothing.’

younger speakers.

3 The excerpt is taken from a conversation between two
Younger speakers frequently switch to

English to signal important information.
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6.3.2.2 Content Questions

Content questions are signalled by a content question
word with rising intonation on its first syllable. Content
question words.come in two types: interrogative pronouﬁs
and interrogative particles. There are four sets of
interrogative pronouns and a number of interrogative
particles consisting of t&n ‘which’ and a relative
particle. The two types of interrogative words are listed
in Table 6.2. Interrogative pronouns are represented by
their third singular animate forms. The pronominal

paradigms are given in section 3.3.

TABLE 6.2

'Content Question Words’

‘awina 'who

kikway/kikwan ‘what’4

tana ‘which’

taniwa 'where’

tén(i)ti 'where’ = tén+iti ’thither’
tén(i)ta ‘where’ = tén+ita ’there’
ténispiy *when’ = tén+ispiy ’when’
tdnisikoh(k) ‘how much’ = tan+ifikohk ‘so far/long’
téntahto ‘how many’ = tén+tahto 'many’
tén(i)si ‘how’ ' = tan+isi ‘thus’
tantdéwihkan ‘what kind’ = tan+téwihkan ’such a kind’
tantéwi ‘what kind of’ = tan+tdwi ’kind (of two)’

4 There is also the combination kikwan oh[¢ci] ‘what
for, why’.
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Most content questions contain one clause initial

content question word. Examples are:

350. tén(i)si ispadihikawiyin, nécokisiw?
how happen\TA=X-2C old-woman
‘What happened to you, old woman?’

351. kikwin patos 6ma akwa anima?

what difference this=0 and that=0

’‘What is the difference between this and that?’
When two content question words occur in the same
clause, if one of the content question words is the subject

of the sentence, it occurs in clause initial position.

352. awina atawit kikwaéiw?

who  buy\AT+0=3C what=0"

‘Who buys what?/

A content question shares characteristics with both main
and subordinate clauses. Although most content questions
contain a verb inflected as conjunct, a content question
that contains a verb with a relative root or relative
preverb may be inflected as independent. The inflection on
the verb in a content question with a relative root or
preverb is conditioned by discourse factors described in

Chapter VIII. Example #353 contains an independent verb.
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It is a possible response to the following statement:
nécénisin mina. ‘I also have a daughter.’ Example #354 in
which the verb is inflected as conjunct could not occur in

this context.

353. tén(i)si isifihkasow?
how be-called\AI=31
‘What is she called?’

354. tén(i)si isifihkésot?
how be~-called\AI=3C

'What is she called?’

In a typical content question, the content question word
codes new information and the verb and other elements in
the clause represent old information, as in #355. The old
information is represented by a conjunct verb and negated

with the subordinate clause negator ika, as in #356.

355. ténispiy ocimédn A&-ki-ayat?
when 3=boat IPV=past=get\TI2=3-0’C
’When did he get his boat?’

356. kikwédn ikad kad-ohci-tétaman?

what neg TPV=for=do\TT=2-0C

'Why didn’t you do it??
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The word order of the old elements in a content question

is free. Differences in word order reflect differences in

emphasis.

357. kikwaéiw A-nitawiyihtah ana iskwiw?
what=0’ IPV=want\TI=3-0’C that=3 woman

'‘What does the woman want?’ [Deaf man asking

question]
358. kikwésiw ana iskwiw A-nitawiyihtah?
what=0/ that=3 woman IPV=want\TI=3-0’C

‘What does that woman want?’ [as opposed to this

woman ]

6.3.3 Imperative Clauses

Imperative clauses contain a special type of verb and
have clause final lowering intonation. an example of
imperative verb is given in #359. Imperative clauses may be
affirmative or negative, and if negative the verb is

preceded by the particle kééa, as in #360.

359. otinamawin cds.

take\TA+0=2-1Imp juice

‘Buy me some juice.’
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O
o]

360. kédéda wanikiskisi

|

don’t forget\AI+0=2Imp this=0p

‘Don’t forget these.’

Imperative verbs may be used as requests, as in #361.

Requests are answered by ya or mwéic.

361. A: lisa, awihin kimaskisina.
Lisa lend\TA+0=2-1Imp 2=shoe=0p
‘Lisa, lend me your shoes.’
B: ya.

Yes.

6.4 COMPLEX STRUCTURES

6.4.1 Coordination

6.4.1.1 Symmetfical Coordination

Coordinate structures contain more than one main clause.
The verb in each clause can be inflected as independent, as
in #362. Coordinate structures are either symmetrical or
asymmetrical. In a symmetrical structure, neither clause is
dependent on the other. A frequent type of symmetrical
coordinate structure in Woods Cree consists of two or more
Juxtaposed clauses. The verbs in a juxtaposed structure are

morphologically symmetrical in their inflectional order
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and preverb structure. In example #362, all three verbs
are inflected as independents, are unmarked for tense and

contain the preverb ki- ’able’.

362. ki-pakisimiw, ki-si-sépiskatdw, ki-cipwatahwiw.

able=boil\TA=X-3T able=fry\TA=X-3I able=roast\TA=X-3T
‘It can be boiled, it can be fried, it can be baked

over a fire on a stick.?’

If the verbs in a juxtaposed structure are conjuncts,
the same type of conjunct verb occurs in both clauses. Tn

#363, the two juxtaposed verbs are i-conjunct.

363. mayida mina i-ki-misikitit i=-ki-tdhcipdt.

but also IPV=past=big\AI=3C IPV=past=fat\AI=3C

'And she was also big and fat.’

Clauses are also conjoined by coordinating particles.>
The next three examples illustrate symmetrical coordinate

clauses conjoined with méyiéa ‘but’, ahpo ‘or’ and akwa

5 The coordinating particles also occur sentence
initially as discourse connectors, as in #363.
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'and’ respectively.® 1In this type of coordinate structure,
the verbs often have the same tense, the Verbs begin with a
similar set of preverbs and their inflections come from the

same inflectional order.

364. mbésa~-isa taApwi ikota i-ki-ohci-pihtokit

neg=emp really there IPV=past=from=enter\AI=3C

6ta mlvyisa ikosi i-ki-isi-pawamit.

here but thus TPV=past=rel=dream\AI=3C
'He really didn’t enter there from here, (but) he just
dreamt like that.~’

365. mdsak kd-ki-kitotitan ahpo

always IPV=past=rebuke\TA=1-2C or
ké-ki-pakamahotan

IPV=past=hit\TA=1-2C

‘I always talked back at you and/or I hit you.’

366. i-cipwatahoht akwa i-pakdsimiht.

IPV=roast-with-stick\TA=X-3C and IPV=boil\TA=X-3C
’It [anim] is cooked over a fire and it [anim] is

boiled.’

6 mayiéa ’‘but’ can also occur sentence finally, as in:

ata kwayask niki-pihtin mwA nikiskisin
although right 1=past=hear\TI=1-0I neg l=remember\AI=1T
mayiéa.

but

'I’ve heard a lot, but I still don’t remember.’
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In a symmetrical coordinate structure, both clauses may
be negated with a main clause negative particle, as in

#367.

367. akwa mHésa niki-i&iniwi—ayamihcikén ahpo mwéic

and neg l=able=TIndian=read\AI=1T or neg
niki-wimistikési—ayamihcikén ikospiy.
1=ab1e=whiteman=read=\AI=lI then

‘And T wasn’t able to read Cree or English then.’

Example #3368 illustrates another fact about
symmetrically coordinate clauses. In rare instances in
which overt noun phrases occur in this type of coordinate
structure, the clauses have similar word orders. TIn example

#368, the overt noun phrases precede the AT+0 verb in both

clauses.
368. doctora wista i-ki-pi-iskortit isa akwa

doctor=3’ 3-too TPV=past=to=escort\AT+0=3C hrs and

wista vi i-ki-pi-iskortit.

3~too Vi IPV=past=to=escort\AT+0=3C
’She escorted him to the doctor and vi escorted hinm

too.’

The morphological symmetry also pertains to obviation.

When two distinct third persons in any coordinate structure
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bear similar grammatical roles, they are assigned the same
obviative 'status.7 In example #368, the third person
animate subject of the first clause, indicated only through
verb inflection, and the different third person subject of

the second clause, Vi, are both proximate.
6.4.1.2 Asymmetrical Coordination

In an asymmetrical coordinate structure, the second
clause is dependent on the first clause. That dependency

can be temporal or causal.

If both clauses in a temporally asymmetrical coordinate
structure have the same subject, the verbs in the structure
may be morphologically symmetrical as in #369 or
morphologically asymmetrical, as in #370. In the former
example, both clauses contain a conjunct verb. In the
latter example, the first clause has an independent verb

and the second clause has a conjunct verb.

369. ké-tih-taskipahit akwa ka-pasohwit.
IPV=redup=split\TA=3-3’C and IPV=dry\TA=3-3’C

'‘He split it and then he dried it.’

7 This fact has also been reported in Fox (Goddard 1984:277).
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370. ki-cimatawak akwa

past=stand\TI2=3p-0’T and
A-ki-pimdskwamotéicik.
TPV=past=put-across\TI2=3p-0’C

‘They stood them up and they put (logs) across.’

When the subjects of the two clauses are different, the
verbs in this +type of structure are usually also
morphologically different. The verbs in the two clauses
take different types of changed conjunct preverbs or the
verbs differ in inflectional orders. In example #371, the
verbs in the two clauses differ with respect to the type of
changed preverb that precedes the stem. In example #372,
the first verb is an independent, the second verb is a

conjunct.

371. kwini ména i-ki-nitawi-cdh-cimatat

then used-to IPV=past=go~to=redup=stand\TI2=3-0’C

mistikwa akwa ikota ména

stick=0p and there used-to
ké-ki-wipiskdcikiyah.
TPV=past=throw-by-body\AI=1pC

’‘Then she stuck the sticks [in the ground] and

we used to throw [a ball] around there.’
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o) askiva akwa miconi

O

372, kwani kitakotan

|

then 2=hang\TI2=2-0T this=0p moss=0p and so-much

i-pastikwiw.

IPV=dry/IT=0pC
'Then you hang these pieces of moss and they dry

thoroughly. ’

Causal clauses represent a second type of asymmetrical
structure. Causal clauses begin with the particle wida
’‘because’. As in other coordinate structures, the verb
following the conjunction may be inflected as independent
or as conjunct. In #373, the clause following wida
'‘because’ has its verb inflectéd as independeﬁt, while in

#374, the verb following the particle is inflected as

conijunct.

'373. kwéni mdyiéa isiniw iééh i-kakihtasit wida
then but person so-much IPV=smart\AI=3C cause
iyakwiSiw wida ki-pi-wipahtam pi-oténahk.

that-one=0’ he-too past=to=see\TI=3-0’C to=behind=loc
'A person is smart because he has seen it in the past.’

374. i-ki-kisiwisit isa ikd wiéa

IPV=past=angry\AI=3C hrs neg cause

i-ki-ohci-pi-micisot.

TPV=past=negpast=to=eat\AI=3C

’She was angry because she didn’t come to eat.’
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If both clauses in a causal structure have the same
subject, the verbs may be morphologically symmetrical as in

#374, or morphologically asymmetrical as in #375.

375. niéda niki-itwan ta-ki-ihkihk wida
I 1=past=say\AI=1T IPV=past=function\IT=0C cause
nida asay i-ki-pi-wApamakwiw atimwak.

I already IPV=past=to=see\TA=1-3pC dog=3p
‘I said it would work because I have seen dogs [doing

this] before.’

When a causally asymmetrical structure has two different
subjects, the verbs often differ. In example #376, the
verbs in the two clauses differ with respect to the type of

changed conjunct preverb that precedes the stem.

376. kikwadn itoki kéd-pi-ndh-nihci-pimosiniht

thing perhaps IPV=to=redup=below=throw\TA=X-3C
wida i-céh~-cistipitikot.
cause IPV=redup=scratch\TA=3’-3C

’Perhaps someone threw the thing down because it was

scratching him.’

Asymmetrical structures differ from symmetrical
structures with respect to negation. The second clause in

an asymmetrical coordinate structure is negated with the
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subordinate clause negative morpheme 1ik&, as in #374. The
two types of coordinate structures are similar in their use
of multiple proximates and independent verbs. These
features distinguish them from the subordinate clauses in

Chapter VII.

6.4.2 Structures with Verbs of Thinking and Saying

Another type of structure containing more than one
clause is the comment clause. A comment clause consists of
a discourse verb and an antecedent. The discourse verb
contains a relative root or preverb, as in itiyihtam ‘he
thinks so’, itwiw ‘he says’ or isi-tipwiw ‘he yells so’.
The discourse verb is sometimes replaced by the particle
it ’said’. The antecedent of the discourse verb has no
réstrictions. In the following examples, the antecedent is

an imperative, a declarative and an interrogative clause,

respectively.
377. "kwéani wicihin,® nitisi-tipwatik.

then help/TA=2-1Tmp l1=rel=yell\TA=3-1T
’"Help me," she yelled.’

378. "kwani mwAc nitipipaéin," i-itak.
then neg 1=enough/AT=1T IPV=say/TA=1-3C

’So T said to her, "I don’t have enough". /
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379. "ténihkd nikosisak?" i-isi-tipwit.

where=3p 1=son=3p IPV=rel=yell\AI=3C

‘"Where are my sons?" she yelled.’
The antecedent can also be a sentence fragment, fér
example the particle kiyapic ’still’, as in #380 or it can

be in English, as in #381.

380. "kiyépic, kiyapic," nitik.

still still l1=say\TA=3-1T
’"More, more," she said to me.’

381. "We wanted somebody to run from South Indian Lake, "

ké-ki-itwit.
IPV=past=say/AI=3C
’"We wanted somebody to run from South Indian TLake,"

he said.’

The use of the independent on both the discourse verb
and on the verb in its antecedent indicates the non-

subordinate status of both clauses in the comment structure

in #382.

382. "mwac takosin," itwiw.

neg arrive\AI=31 say\AI=3T

"She didn’t arrive," he said.’
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The use of multiple pfoximates in comment clauses also
shows the equal status of béth clauses. If a discourse verb
has a third person animate subject and another third person
occurs in the antecedent, both verbs are coded as taking
proximéte subjects, as in #383. A sequence of proximatés
is only possible when all clauses are non-subordinate. In
the subordinate structures, the third person animate
subject of the subordinate clause is inflected as
obviative; if a differént third person animate subject

occurs in the main clause. An example of this occurs in

#234.

383. "kwini fi-ati-wanihtéat omidiw

then IPV=incp=lose\TI2=3-0’C this=0’

okiskinéhamowin, " itwiw.
3=learning say\AI=3T

’"And he loses his education," he says.’
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Chapter VII

SUBORDINATE CLAUSE TYPES

7.1 INTRODUCTION

All subordinate clauses in Woods Cree contain a
conjunct verb and when negated take the negative particle

ik&. Example #384 contains a typical subordinate clause.

384. kwéni wisa j-ma-mawihkidimak

then so-much IPV=redup=apprehensive\TA=1-3C

[ikd i-wi-nipat].

neg IPV=want=sleep\AI=3C
’T was getting very apprehensive when he didn’t want

to sleep.’

The chapter divides subordinate clauses into
complements, adverbial clauses and relative clauses. The
subordinate clause types are distinguished from each other
by a combination of syntactic features. The features are
outlined in Table 7.1 and discussed in detail in the

sections that follow.
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Table 7.1

Subordinate Clause Types

AR D DD WD IR W N D G G T G A S - G - G S G G — - I G S S S G S S S G T S S G S TP S T I G GED S S . S = —— - -~

SUBJ-COPYING CLAUSE ORDER TENSE SEQUENCING

Complements yes fixed relative
Adverbial Clauses no fixed/free relative/absolute
Relative Clauses no free relative

7.2. COMPLEMENTS

Complements include indirect content questions, indirect
yes-no questions and declarative sentential complements.
The complement clauses differ in their verb morphology and
their introductory particle, or absence thereof. The
details are listed in Tables 7.2 and 7.3.1 Rare verb forms
are noted in parenthesis. Examples of the three types of

respective complements are:

385. mwad na kikiskiyihtin [tdn(i)si isi-ayat]?

neg Q 2=know\TI=2-0I how rel=be\ATI=3C

Do you know how he is feeling?’

1 The verb morphology is described in greater detail
in Chapter IX.



386. nikakwicimaw
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[mahti sipwihtit].

l1=ask\TA=1-31 IQ

leave\AI=3C

I am asking him whether he is leaving.’

387. pidisk

nikiskiyihtin [i-iskwéitahtamén].

finally 1=know\TI=1-0I IPV=short-breath\TI=1-0C

’Finally I knew that I was out of breath.’

TABLE 7.2

Introductory Particles

PARTICLE UNMARKED PARTICLE OTHER
indir. c.q. yes content question word
relative particle
relative preverb
indir. y-n yes mahti ahpo/kiséspin
decl. compl. | no
TABLE 7.3
Verbs in Complement Clauses
REALIZED UNREALIZED
(k)a- i-- unchanged ta- subj.
indir. c.q. (+) (+) +
indir. y-n + + (+)
decl. compl. + + +
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Table 7.1 states that complements are defined
syntactically on the basis of three syntactic features, the
first of which is subject copying. Subject copying results
in the object of the main clause being co-referential with
the subject of the complement clause. At a morphologicél
level, subject copying means the verb in the main clause
changes from a TI verb to a TA verb. In #388, thé subject
of the verb in the complement clause i-ayat ’‘he is’ is co-
referential with the object of the main clause verb
nikiskiéimdw ‘I know him’. Example #389 is the same
structure without subject copying. Further details are

available in Dahlstrom (1986:79-90).

388. nikiskiéimiw [ikota i-ayéat].

1=know\TA=1-3T there IPV=be\AI=3C
T know he’s there.’

389. nikiskidihtin [ikota i-ayat].

1=know\TI=1-0I there IPV=be\AI=3C

T know he’s there.’

A second feature, clause order, distinguishes complement
structures from relative clauses and most types of
adverbial clauses. Complements, as the above examples

illustrate, always follow their main clause.
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Tense sequencing is illustrated in #390. In complement
structures, the tense of the complement clause is marked

for time relative to the time of the situation in the main

clause.
390. mayida i-ki-kiskifimiht [i-mistahtit].
but IPV=past=know\TA=X-3C IPV=be-glutton\AI=3C

‘But it was known he was a glutton.’

7.3. ADVERBIAI CLAUSES

Adverbial clauses modify sentences. Apart from the lack
of subject copying, few generalizations may be made about
adverbial clauses. Adverbial clauses are divided into five

basic types:

Type I purpose clauses, descriptive adverbials
Type II iteratives

Type III hypothetical conditionals, counterfactuals
Type IV universal conditionals, time adverbials

Type V concessives

The adverbial clauses in Type I, purpose clauses and
descriptive adverbial clauses, are identified by their

invariant verb forms. Purpose clauses require ta-conijunct
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verbs, as in #391, and descriptive adverbial clauses
require i-conjunct verbs, as in #392. Purpose clauses and
descriptive adverbials differ from other types of adverbial
clauses in their strict clause order. The subordinate

clause always follows the main clause.

391.kwédni pd j-ki-wa-wanihikit akwa mina
then only IPV=past=redup=trap\AI=3C and also

i-ki-mécit [ta-micisowdhk].

IPV=past=hunt\AI=3C IPV=eat\AI=1pC

'He just went trapping and hunting so we could eat.’

392.ndpiw widdawitimih avaw [i~wi-wApamisk].
man outside be\AI=3T IPV=want=see\TA=3-2C

‘There’s a man outside that wants to see you.’

Purpose and descriptive adverbial clauses also have
relative tense sequencing. The tense of the subordinate
clause is marked relative to the time in the main clause,

as in #393.

393. Helen isa i-ki-nétah otayéna

Helen hrs IPV=past=fetch\TI=3-0’C 3=thing=0p

[ta=-sipikinamédh].

IPV=wash\TI=1p-0C

’Helen took her things so that we could wash them.’
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The adverbial clauses listed under Type II include

iteratives. Iterative clauses contain the particle ©&ma
'whenever’ and a conjunct verb with a (k)a- preverb. The
tense of the iterative clause is determined relative to the

time of the main clause, as in #394.

394. [akwa mina 6ma ik& ké&-waniskét] kwani
and also when neqg IPV=get-up\AI=3C then

i-ki-nitawi-pdnamawak.

IPV=past=go-to=1ight~fire\TA+0=1-3C
'And also whenever she didn’t get up then I went and

1it a fire for her.’

Iteratives share with the class of adverbial clauses
listed under Type I, relative tense sequencing and
invariant conjunct verb morphology. They differ from the
above in the position of the adverbial clause. 1In Type II

clauses, the adverbial clause precedes the main clause.

Hypothetical and counterfactual conditionals form a
third type of adverbial clause. Type 3 adverbial clauses
may precede or follow the main clause. The order of the
adverbial clause is determined by its role in linking the
main clause to the preceding discourse. Type III adverbial
clauses also have invariant verb morphology. A

hypothetical clause takes a subjunctive verb, as in #395.
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The verb in a counterfactual is the simple unchanged
conjunct form, as in #396. Unlike most other types of
adverbial clauses, the tense of the conditional clause is

determined relative to the time of speaking.

395. [&ho pi-pimitisihovamihecil i-wi-paskiswit.

this=3’ to=follow\TA=3-1pS IPV=want=shoot\TA=3-3’C
*Tf she follows us, she is going to shoot her.’

396. ahpwitoki néntaw naki-tétikonén [ik&

or-perhaps about 1fut=past=do\TA=3~1pI neg

ohci-nakatakiht].

negpast=leave-behind\TA=1p=-3C
‘Maybe she could have done something to us if we

hadn’t left her behind.’

While a particular type of verb is required for each
type of adverbial clause included under Types I to III, any
type of conjunct verb may occur in a Type IV adverbial
clause. Type IV adverbial clauses include the universal
conditional and the time adverbial. The universal
conditional is introduced by a question word or a relative
particle and often occurs with the adverb piko/pd ‘only’,
as in #397. The universal condition clause may appear
before or after the main clause and tense is determined

relative to the time of the main clause.



188
397. [pé ténsi 1-it8spinidit awidiwa]
only how IPV=fell=-i11\AT=3/C someone=3’/

ki-akopitawiw ména waskwavy.

past=cure\TA=3-3’1 used-~to birchbark
‘No matter what kind of sickness a person had, he used

to cure them with birchbark.’

A time adverbial clause may be introduced by a temporal
adverb such as mikwidc ‘while’ in #398 or occur without a
temporal adverb, as in #399. When the time adverbial clause
follows its main clause, the temporal adverb has an
important role. It distinguishes a time adverbial

structure from an asymmetrically coordinate structure.

398. mdyida 1ika ohci-pa-piskisimak [mikwéc

but neg negpast=redup=attention\TA=1-3C while

i-padh~pihtosikiyan].

IPV=redup=skin\AI=1C
'Y wasn’t paying attention while I was skinning.’

399. [kéd-ocawisinmisit] nawac anima maskihkiy

IPV=be~-pregnant\AI=3C best that=0 medicine
kad-ohtik.

boil\II=0C

’‘When someone is pregnant, the medicine is best when

it is boiled.’
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Although in most +time adverbial clauses, tense is
determined relative to the tense in the main clause, tense
in a time adverbial clause may also be determined relative
to the time of speaking, as in #400. No explanation for

this can be provided at the present time.?

400. [mawic ké-ki-itdsiyahk] dsay
as—-soon-as IPV=past=count-as\AI=1pC already
niki-tapakwénén.

l=past=snare\AI=1pC
'As soon as we were old enough, we were setting

snares.’

Concessive clauses form a fifth group. These clauses
begin with an introductory particle, kiyim or &ta ‘even if,
although’, and contain a verb inflected as either
i-conjunct or subjunctive.? Concessive clauses differ from
the adverbial clauses in Type IV in the way they mark
tense. Concessive clauses always mark tense relative to the
time of speaking, as in #401. This feature makes this

clause type distinct from most other adverbial clauses.

2 A similar situation occasionally occurs in Moose
Cree when a time adverbial clause occurs in clause initial
position (Jame 1992, personal communication).

3 The subjunctive occurs when the proposition in the
main clause is unfulfilled. Among older speakers, clauses
beginning with kiydm ‘enough’ signal hypothetical ‘even if’
clauses. For younger speakers, the particles kiyém and
4dta are often inter-changeable.
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401. [kivam k& mistahi
although neg lots
i-ki-ohci-tipipahikasot kinosiwj]
IPV=past=negpast=be—enoﬁgh\AI=3C fish
kwéni ohcitaw kwayask niki~kaskihcikénén.

then surely right =past=earn\AI=1pT

’Even though the fish wasn’t worth it, we were able

to earn enough.’

402. [kwéni &ta i-ki-kiskivyihtah
then

ita

although IPV=past=know\TI=3-0’C where
a-itohtisit,

kwédni méka mwéic wista
IPV=go\AI=3’C then but neg 3-too

ohci-miskawiw.

negpast=find\TA=3-3'1

’Although he knew where she went, he too couldn’t find

her.’
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7.4 RELATIVE CIAUSES
A relative clause together with its head forms a complex
noun phrase. The relative clause typically follows the

head noun phrase and contains a (k)&-conjunct verb.

403. mina awa kin nicinic

also this=3 Ken 1=yo-br/si

[ké-ki-nihtéwikihak] mihcit awédsisa

IPV=past=bear(raise)\TA=1-3C many child=3"’

panihiw.

care~for\TA=3~-3'T

’And also my younger brother Ken who I raised now looks

after lots of children.’
Like other complex noun phrases, the order of the major

constituents may be reversed, as in #404 and the head of

the noun phrase may delete under identity, as in #405.

404. ta~-wapamiw [kd-8cimak] 6ho

IPV=see\TA=3-3’1 IPV=tell-story\TA=1-3C this=3’
wapisiwa.4
swan=3"/

’(S)he will see the swans I am talking about.’

4 Tn other dialects, the morpheme -im would occur on
the verb ké-acimak ‘I am talking about them’ in this
context. See Ellis 1983:653-655.
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405. awa winistikésiw akwa ana kotak...
this=3 white-man and that=3 other
[kKd-migikitit].

IPV=big\AI=3C

‘This whiteman and the other big one.’

When the relativized noun phrase functions as the
subject or the object of the relative clause verb as in
#403 and #404, the relative clause is attached directly to
its head. When the relativized noun phrase functions as an
oblique argument of the relative clause, the relative

clause begins with a relative particle, as in #406.

406. iyako mikiwdhp [ita a-nipéat].
that-one tent where IPV=sleep\AI=3C

‘That is the tent he is sleeping in.’

The relative order of the main clause and the relative
clause is also conditioned by the role of the relativized
noun in the main clause. When the relativized noun is the
subject of the main clause, it precedes the main clause
verb, as in #407. When the relativized noun phrase has a
different role, it usually follows the main clause verb, as

in #408.
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407. anima mayida [ka-mihkwik] mwac miédwésin.

that=0 but IPV=red\II=0C neg good\II=0T

’'But that red one is no good.’

Another feature of the relative clause is its relative
tense marking. The tense of the relative clause is
determined relative to the time of speaking. This is

illustrated in #408.

408. 1ivako 1i-kiskisivan simdk ikota isa

that=0 IPV=remember\AI=1C immed there hrs

anima [ké-ki-widpahtamin nitij.

that=0 IPV=past=see\TI=1-0C there

'Right away I am reminded of what I saw over there.’
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Chapter VIII

INDEPENDENT AND CONJUNCT VERBS

8.1 INTRODUCTION

In Chapter VII, conjunct verbs link subordinate clauses
to main clauses. This chapter attempts to show how conijunct
verbs 1link main clauses to each other. Although the
different types of conjunct verbs play different roles,
they all link information between clauses. As a result,
the conjunct plays an important cohesive role in a variety

of monologic texts and conversational exchanges.

Because there is no clearly unmarked category of the
conjunct, a number of conjunct verbs must be considered.
The chapter will focus on the analysis of the three most
common ‘types of conjunct verbs: k)d-, i~ and ta-.
Discussion will be 1limited to how .the various forms
contrast with the independent. The various types of

conjunct verbs are described in detail in Chapter TIX.



195

8.2 NARRATIVE DISCOURSE

The most detailed analysis of Cree discourse, is based
on the narrative (Dahlstrom 1986, James 1986) defined by
Labov as ‘a sequence of events’ (Labov 1972). Publishéd
work on Cree discourse discusses the occurrence of large
numbers of conjunct verbs in the main clauses of narrative
texts (Goddard 1984, Dahlstrom 1986, Wolfart 1973). In
Woods Cree, the main sequence of events is'represented by a
series of (k)d-conjunct verbs. In the following short
narrative text, the three main events are all in main
clauses which contain a verb beginning with the preverb
(k)4- (sentences 1,8,9). To aid the reader, the schematized
structure of the narrative is presented at the end of the

text.

409.
1. akwa awa nicimic W., kwadni ayihidiw

and this=3 1=yo-br/si W., then  whatev=0’

iskotiw kéd-pihci-pahkihtin(i)§ik oskisikoh.
fire/spark IPV=inside=fall\II=0’C 3=eye=locC

2. kotawénih i-n6cihcikiyéh. 3. aspin pd
smoke-stand=loc IPV=work-~-at\AI=1pC gone only
f-mayimot, smisi i-tétah. 4. "nohta
IPV=cry-pain\AI=3C this=rel IPV=do\TI=3-0’C 1=fa
nicimic, tan(i)si ihtiyin?" it. 5. niwdpahtin

1=yo-br/si how ail\AI=2C said 1=see\TI=1-0T
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mayida iskotiw i-kwaskohtik. 6. mwac
but fire/spark IPV=jump\II=0C neg
i-ki-ayamit i§dh i-wisakiyihtah

IPV=able=talk\AI=3C so-long-as IPV=hurt\TI=3-0’C

oskisik. 7. "aw, pimisini 6ta," nititéaw.

3=eye excl lie\AI=2Tmp here 1=say\TA=1-31
8. a-pimisih. 9. kwéini waApisipimiy

IPV=1ie\AI=3C then swan=grease

kéd-pihci-sikinamawak. 10. némakis

IPV=inside=pour\TA+0=1-3C short-while

ki-pa-pimisin. 11. kwani mwic osdma nantaw

past=redup=1ie\AI=3T then neg odd=this=0 about

ohci-ihtiw.

negpast=ail\AI=31

1. And this younger brother of mine W., a spark went into
his eye. 2. We were working (hides) at the smokestand. 3.
He was yelling in pain, and doing like this. 4. "My god, my
younger brother, what is wrong with you?" (I) said. 5. But
I saw (had seen) the spark Jjump. 6. He couldn’t talk
[because] his eye hurt so. 7. "Come on, lie down here," I
said to him. 8. He laid down. 9. Then I poured swan grease
in [his eye]. 10. He laid down for a while. 11. Then
nothing unusual happened to him.
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(k)E~ independent i- unchanged imperative
1. a spark falls

2. we are working
3. he is yelling
4. you ail
5. I see
6. he ca[n’t] speak :
7. I say 7.1ie down
8. he lies down
9. I pour it
10. he lay down
11. he did[n’t] ail
The (k)&-preverb provides a grammatical indication of a
narrative in much the same way that Schiffrin 1981
describes the use of the historic present in English. In
both instances, the verb is almost wholly confined to the
complicating action. Woods Cree verbs outside of the
storyline are almost never (k)4-conjunct. All of the (k)a-
conjunct verbs in the text in this section occur in the
storyline. Most of the (k)&-conjunct verbs in the longer
narrative in Appendix C also occur in the storyline. The
only exceptions are one-line summaries, which may occur
either in the abstract at the beginning of the narrative or
in the coda at the end. An example of a one-line summary
statement occurs in the coda in sentence 63 in the text in

Appendix C, repeated below.

410. kwéni piyak ka-kitamwit ana kisidiniw

then one IPV=devour\TA=3-3’C that=3 old-man
piyakwadw i-micisot.
once IPV=eat\AI=3C

’So that is the one that old man devoured in one meal.’
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Other types of conjunct verbs do not show the
complicating action of a narrative and occur more
frequently outside of the storyline. They are, however,
similar to the (k)&-conjunct in containing information
particularly important to the narrative. Consider, f&r
example, the ta-conjunct containing the future marker ta-.
This type of conjunct verb occurs less frequently than the
_(__}g)_§~conjunctf There are no instances of the ta-conjunct
in the preceding text, and only four ta-conjunct verbs in
the main clauses in the narrative text in Appendix C. One
of the examples of the ta-conjunct occurs in a direct quote
(sentence 25). In the other three instances, the ta-~
conjunct verb occurs in the orientation section of the text
(sentences 12-13,42) where it foreshadows important
information. The future tense morpheme ta- indicates future
relative to the tense of the text, the conjunct can be
argued to signal the relative importance of the
information. In sentences 12 and 13, repeated below, the
ta-conjunct verbs signal major events in the story.
411. kwéni mlyiéa mwic ta-kiwihtahat.
then but neg IPV=bring-home\TA=3-3/C
piko ta~kitamwit.
only IPV=devour\TA=3-3’C
’But he would not take them home. He would just

devour them.’
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The ta-conjunct verb in sentence 42 in Appendix C,
repeated in #412 below, signals a second major dilemma in
the story. Here, the ta-conjunct is used to foreshadow the
next episode in the narrative. The ta-conjunct, like the
{k)&-conjunct, is a cohesive devise which links importaﬁt
information in the text with subsequent events in the

storyline.

412, kwini itoki i-kisi-piminawdsonidniwik

then perhaps IPV=complete=cook\II=0C
ta-ati-micisonaniwik.
IPV=incp=eat\II=0C

'So after the cooking was done, the eating started.’

Before discussing a third type of conjunct verb
occurring in main clauses, the i-conjunct, it is necessary
to comment on the use of independent verbs. Independent
verbs are not used to sequence or summarize events or to
foreshadow important events. Independent verbs tend to
convey less important information, which may appear to be
disjointed. In narrative texts such as the one in #4009,

independent verbs occur outside of the narrativel where

1 While the verb meaning ‘I said’ in #7, which is
independent, does in one sense describe a narrative event-
the event of speaking -~ it is parenthetical in force; it is
backgrounded in importance relative to the main piece of
information in the sentence, i.e., what the narrator said.
It is proposed here that this verb is independent because
it denotes parenthetical, less important information.
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they frequently contain a past tense morpheme, ki- or
gggi-.z In #409, the last two sentences, repeated below,
contain past tense morphemes. Both sentences contain an
independent verb. A similar situation occurs in the

narrative text in Appendix c.3

413. 10. ndémakis ki-pa-pimisin.
short-while past=redup=1lie\AI=3T
'He laid down for a little while.’

11. kwéni mwic oséma nintaw ohci-ihtiw.

then neg odd=this=0 about negpast=ail\AI=3T

’Then nothing unusual happened to him.’

Within the narrative in Appendix cC, independent verbs
tend to provide background or secondary information which
enables the 1listener to fully understand the text.
Independent verbs often convey the general message of the
narrative as either a result (sentences 30, 31, 34, 49-50)
or as an evaluatibn (sentences 39, 41, 51-54). Because of

this, independent verbs are usual but not obligatory in

2 Within the complicating action of the narrative,
(k)d~ occurs without the past tense morpheme ki~. The
temporal orientation of the events is indicated through
their presentation order.

3 In the narrative text in Appendix C, independent
verbs occur in the abstract (sentences 2,4,5), in

narrator’s asides (sentences 58-60) and in the coda
(sentence 64).
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clauses which are, in the sense of Hopper and Thompson
1980, low in transitivity. They frequently occur in clauses
which contain either a verb of saying, thinking or seeing,
or a negative. Because the examples rely on discourse
factors, the rules are not absolute, as the facts beléw

show.

Within the narrative, independent inflections frequently
occur on verbs such as itiyihtam ‘he thinks so’, wépahtam
‘he sees (it)’ and itwiw ‘he says’. A verb of seeing
occurs in sentence 5 and as noted in footnote 1, a verb of
saying occurs in sentence 7 of the text in #409, both of
which are inflected as independent. The verbs provide
background information which is related but not central to

the storyline.

Although most of the examples of verbs of saying,
thinking and seeing occur with independent inflections in
the narrative text in Appendix C, there are two exceptions
where a verb of saying inflects as (kK)a~-conjunct. They
occur in sentences 9 and 54. In both instances, the
utterances are an important part of the storyline.4 The
uttering of the verb (k)i-itwit ‘he said’ is important in
sentence 9 because it not only emphasizes the individual‘s

greed, but also initiates the sequences of events which

4 cyr 1991 describes a similar situation in Montagnais.
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follow. In sentence 54, the utterance emphasizes that the
old man was lying, thereby providing the end of the
complicating action and making (k)4-itwit ’he said’ a vital
part of the storyline. This use of the (kK)é-conjunct

parallels its use earlier in this section.

Clauses which contain a main clause negative morpheme
also tend to be inflected as independent. Because negated
clauses are not as likely as the corresponding affirmative
clauses to provide continuity to the storyline (Talmy 1978,
Hopper and Thompson 1980), they often occur outside of the
storyline, either in the orientation (e.g., sentence 5 in
the narrative text in Appendix C) or in the coda (e.qg.,
sentence 11 in #409). When negated main clauées occur
inside of the storyline, they are often part of the
evaluation and the verb in the clause usually inflects as

independent (Appendix C. 1, sentences 30,34,49,50,53).

Having discussed the independent, the i-conjunct is now
considered. The i-conjunct is very =similar to the
independent. Both verbs are used to provide background
details which enable the listener to fully understand the
text. Although there are cases’where the independent and
the conjunct occur in sentences with related meanings where
there is no obvious reason for the difference (sentence 31

and 32 in the narrative text in Appendix C), the verbs
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generally appear to differ in how they convey information.
The i-conjunct shows a tendency to occur whenever the
speaker believes a situation provides an important 1link.
The corresponding independent verbs fail to do this.

Therefore in the text in #409, i-nécihcikivadh ‘we were

working hides’ (sentence 2) provides important information
as to why the accident took place. The other two i-
conjunct verbs i-mdyimot ‘he ([was] vyelling in pain’
(sentence 3) and i-ki-ayamit ‘he could[n’t] talk’ (sentence
6)° emphasize the degree of suffering related to the
accident and Jjustify the subsequent action. Independent
verbs in the same narrative have a less cohesive role.
They describe what the author, a secondary participant, saw

and said (sentences 5,7).

Thus it can be argued that there is a strong tendency in
narrative texts for the conjunct to function primarily to
indicate that the information given is relatively
important, either because it forms a piece of the
sequential action of the story or because it constitutes

particularly important background information.

5 This example is an exception to the previously-

mentioned tendency of negative clauses to have independent
verbs. I argue this is because of the degree of 1mportance
of the information. Sentence 12 in the narrative text in
Appendix C provides another similar example involving a
negative clause.
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8.3 DESCRIPTIVE TEXTS

Descriptive texts contrast with the narrative. They lack
the dramatic action of the former text +type and
consequently contain only rare occurrences of the (k é-
conjunct and even less of the ta-conjunct. The main clauses
of descriptive texts consist primarily of either i-

conjunct or independent verbs.

In descriptive texts with sequences of i-conjunct verbs,
the texts are relatively cohesive. After the initial
introduction of the topic, by either a (k)a-conjunct or
an independent verb, sequences of i-conjunct verbs
elaborate on the information. The information in the text
provides supporting evidence for the topic sentence. In the
following example, the speaker uses the sequence of i-
conjunct verbs to elaborate how she is still able to afford

to look after her children.

414.

1. méka ohcitaw nikaskihténén kivapic i-midakihcik
but anyway 1=able\TI2=1p~0T still IPV=give\TA=1p-3pC

kikwidn nicawédsimisindnak. 2. i-tipipahikistamidsowdhk
thing 1p=child=3p IPV=pay-for=reflex\AI=1pC

mina kikwin ké-dpacihtivahk -wastiw, nipiy -kahkiéaw
also thing IPV=use\TI2=1p-0C light water all

kikwdn. 3. i-kiskfiyihtamidn nista ita ta-otinak
thing IPV=know\TI=1-0C I-too where IPV=take\TA=1-3C
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sbniyds. 4. i-kaskikwidsowdn. 5. i-mikisistahikivan.
money IPV=sew\AI=1C IPV=beadwork\AI=1C

6. i-nandhkawikwdsoyvan akwa mina i-acAwdkisivan
IPV=patchwork\AI=1C and also IPV=sell-dim\AI=1C

kikwidn i-tahto-tipahamén waistiw.
thing IPV=every=pay-for\TI=1-0C light

1. We are still able of giving our children something.
2. We pay for the things we use -~like light,water -
everything. 3. I know where I can get money. 4. 1T
sew. 5. I do beadwork. 6. I do patchwork and I sell
little things to pay the light.

Descriptions which are more disjointed contain sequences
of independent verbs. The following is a description of a
man in a picture. The verbs are independent and the
clauses, although related to a central theme, are not
linked to one another. The clauses are also separated by
pauses longer than those in the preceding text. This is a
common feature of discourses containing sequences of

independent verbs.

415. midawistwiw, mistahi pimikotiw,

beard\AT=31 1lots crooked=nose\AI=31
pimédpitiw, ma-mahkihtwakiw,

crooked-teeth\AT=3T redup=big=ear\AI=31

§666wéapiw, micindkosiw.
slanted=eyes\ATI=31 bad=100k\AI=3T

'He has a beard. He has a big crooked nose. He has
crooked teeth. He has big ears. He has slanted
eyes. He looks bad.’
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A descriptive text that falls somewhere between the two
examples discussed above is the reminiscence text.
Although reminiscence texts are concerned with the past,
they, 1like other descriptive texts, do not have the
dramatic action found in most narratives. There are
therefore very few (k)ad-conjunct verbs. The text in #416
contains only two (k)A-conjunct verbs, used to create a
mini-narrative (sentences 4 and 6). To aid the reader, the
main clauses are represented in schematic form at the end

of the text.

A reminiscence text relates to the generic rather than
the specific and invokes a partial image rather than a
detailed account (Horvath 1987:218). Although the verbs in
the text in #416 are linked by a common macro-topic ‘life
in the past’, the sentences are only loosely linked and are
separated by pauses similar to those in the discourse in
#415. As in #415, the reminiscence text consists of a
series of sentences with independent verbs which are more
disjointed or random in terms of topic than in a text which
contains a sequence of i-conjunct verbs. The initial
section of a reminiscence text in Appendix C titled ‘A
Description of ILong Ago’ shows a similar pattern of
partially connected facts about the past (sentences 1-15).
It also contains sequences of independent verbs. However,

although there is a clear tendency for sequences of
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independent verbs to appear in texts in which the topics
are not set up explicitly enough, where the clauses simply
present information as a series of partially connected
facts about the past, not all examples fit into the
pattern, e.g. why is the verb in the 1last clause in
sentence 1 in #416 not fi-conjunct? There is clearly either
more than one conditioning factor at work, or
alternatively, simply some degree of overlap between the

use of the independent and the i-conjunct.

Conjunct verbs in descriptive texts, then, tend to occur
when there is an important link between the ideas. In the
text in #416, the two (k)a-conjunct verbs (sentences 4 and
6) signal a 1link between the events, while the only i-
conjunct verbs (both in sentence 12) elaborate on
information in the previous sentence (sentence 11). They
explain what the father did instead of cutting wood; i-ki-

wa-wanihikit ’‘he went trapping’ and i-ki-macit ‘he went

hunting”’.

416.

1. akwa niéanédn ka-ki-isi-pi-ohpikiyéah,
and we(lp) IPV=past=rel=to=grow-up\AI=1pC

niki-mihcitinén, 19 niki-itésinén. 2. mbéa
l=past=many\ATI=1pI 19 l=past=count-as\AI=1pI neg
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miyiéa kahkifaw nipimadtisinan. 3. mwad kikwan

but all 1=1ive\AI=1pI neg thing
n-6h-mifikawinén asahtéwin ka-icikatik.
1=negpast=give\TA=X-1pI ration IPV=call\II=0C

patimd itoki, simadk mAyiéa, simdk nah-niyananwipisk
after perhaps immed but immed redup=five=metal

kd-ki-misikawiyéhk.
IPV=past=give\TA=X=1pC

kwani pah-piyakwipisk mana niki-miéikonan
then redup=one=metal used-to l=past=give\TA=3-1pI

nbhtawiy séniyawa ta-otinamah isa orange.
1=father money=3’ IPV=take\TI=1p-0C hrs orange

ikospiy patimid mina i-ki-séniya-kisikak
then after also IPV=past=money=day\II=0C

kad-ki-miciyahk orange. 7. mwac kikwén
IPV=past=eat\TI2=1p-0C orange neg thing

n-6h-nikoskaciyihtaman nifandn. 8. pakwanta kikwéan.
1=negpast=concern\TI=1p-0I we(1lp) anything thing

kéd-ki-isi-ohpikihikawiyah, kwani
IPV=past=rel=grow-up\TA=X-1pC then

niki-isi-pimdtisinéan. 10. mawac
1=past=rel=1ive\ATI=1pI as-soon=-as
j-ati-ki-itasiyahk adsay

IPV=incp=able=count-as\AI=1pC already
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niki-tapakwéanén akwa mina

l1=past=snare\AI=1pI and also

i-ki-ati-natadapiyahk isa akwa i-ati~-wanihikiyéh.
IPV=incp=fetch=net\AI=1pC hrs and IPV=incp=trap\AI=1pC

11 .mwic piyakwédw néhtéwiy ohci-nikohtiw
neg once l=father' negpast=chop-wood\AI=3T

isikoh ké~-ki-wicayamakiht.
so-long-as IPV=past=with=be\TA=1p-3C

12.kwani pbd i-ki-wa-wanihikit akwa mina
then only IPV=past=redup=trap\AI=3C and also

i-ki-mécit ta-micisowdhk. 13. p6 nidanén.
IPV=past=hunt\AI=3C IPV=eat\AI=1pC only we(lp)
14.ki-midopaédihik kd-pi-ohpikiyéahk.

past=good-move\TA=0-3T IPV=to=grow-up\AI=1pC

15.t4sipwd kiyapic nitatoskén 77 i-tahtwaskiwiniyén.
in-fact still 1=work\AI=11 77 IPV=so-many-years\AI=1C

1. And the way we were brought up, we were many; we were
counted as 19. 2. But not all of us are living. 3. We were
given nothing called rations. 4. Perhaps later- but right
away, right away we were given five dollars each.

5. Then my father used to give each of us one dollar so
we could buy an orange. 6. We ate an orange again the
[next] Treaty Day. 7. We were concerned about nothing. 8.
Not a thing.

9. The way we were raised, that was the way we lived.
10. As soon as we were able to be counted, we set snares
and checked nets and went trapping. 11. Not once did my
father cut wood as long as we lived with him. 12. He just
went trapping and hunting so we could eat. 13. Just us. 14.
He was lucky when we were growing up.

15. In fact I am still working at 77 years of age.
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(k)a- independent § -

1. we were many

1. we counted

2. we lived

3. it was given to us
4, we were given

5. he gave us
6. we ate
7. we weren’t concerned
(8) no verb
9. we lived thus
10. we set snares
11. he didn’t cut wood
12a. he went trapping
12b. he went hunting
(13) no verb
14. it made him happy
15. I work

Reminiscence texts also contain occasional 3i-conjunct
verbs which do not fit into the above pattern. An example
occurs in the ’Description of Long Ago’ text in Appendix C.
In this text, the narrator appears to be using the i-
conjunct to make linkages between paragraphs (sentences
16,30) to create the impression of continuity in order to
allow her to continue her turn. Because of the lack of
evidence in support of this, this fact will only be
mentioned here. A similar phenomenon occurs in

conversational exchanges.
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8.4 CONVERSATTONAL EXCHANGES

Independent verbs are more common in conversational
exchanges than in texts partly due to the fact that
conversations are more disjointed and the topics shift moreﬂ
readily. The most common type of cénjunct verb in
conversational exchanges is the 1i-conjunct. - The k)a-
conjunct is rare in conversations, as it is in descriptive
texts, because it is used primarily fo indicate sequential
events. The role of the i-conjunct in conversations is
similar to its role in texts; it tends to appear whenever
the speaker views the information as providing an important
link. It is often used to elaborate on a topic and appears

in structures which are cohesive.

Conversational exchanges consisting of a content question
and a response are usually cohesive and coherent. The
response to the content question continues on the topic
initiated by the question and the verb in the response is
often an i-conjunct, as in #417.

417. A: kikwan?
what=0

‘B: i-kostak awa Alice.
IPV=fear\TA=1-3C this=3 Alice

(13

'What is it?’
'T'm afraid of Alice.’

w »
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A similar pattern emerges with exchanges involving a
yes-no question. The verb in a yes-no question may be
independent or conjunct, yet the verb usually inflects as
conjunct because the yes-no question usually asks for
elaboration on information in the previous utterance. In&
#418, B’s second question requests information about the
topic previously introduced. The response to the yes-no
question in #418 expands on the topic and the verb in the
response is also i-conjunct.
418. A: kwadni &-ki-masinahamawakiht.

then IPV=past=write\TA+O=1p-3C

B: kifda akwa awina?
you and who

A: niéda akwa H.
I and H.

B: ikota na H i-ayat?
there Q H. IPV=be\AI=3C

A: ya, wiéa 0. i-ki-wadawipinat.
yes cause O. IPV=past=throw-out\TA=3-3/C

A: ’So we wrote to her.’

B: ’You and who?’

A: 'Me and H.’

B: ’'H. is there?’

A: ’Yes, because 0. threw her out.’

Pairs of declarative sentences show a similar pattern.
The i-conjunct is often used when one interlocutor wishes

to elaborate on a previously established topic, as in
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#419.6 In addition to the i-conjunct, the sentence
‘contains the connecting particle mayifa ‘but’. This

particle frequently occurs in structures containing i-

conjunct verbs.

419. A: ténsi O6ma, kwéni nivo sénivésa piko
how this=0 then four dollar=3 only
ké-midfisk.

IPV=give\TA+0=3-2C

B: méskdé[c] midyisa nadntaw niydnan namiéik
perhaps but about five 1=fut=give\TA+0=3-1T
j-itiyihtaméan.
IPV=think\TI=1-0C

A: ’So she only gave you four dollars.’
B: ‘But I thought she would give me about five
dollars.”’

Although independent verbs also occur in response to
both content and yes-no questions, conversational exchanges
containing independent verbs are often less cohesive. When
the answer to a content question contains a verb inflected
as independent, the response is often indirect. One means
of introducing an indirect response is with the particle
mand ‘[you] realize’. This particle together with an

independent verb signal the indirect response in #420.

6 Because the verb is used to elaborate on the
previous statement (and is not parenthetical and

backgrounded in role), the verb of thinking is inflected as
i=-conjunct.
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420. A: t&nti md i-ki-nitawi-iskdliwit?
where but IPV=able=go-to=school\AI=3C

B: mana ta-ki-sipwihtiw.
realize IPV=past=leave\AI=31I

A: ’'But where can she go to school?’
B: ’You realize she could leave [the community].’

A similar process occurs in adjacency pairs consisting
of two yes-no questions. The second member of the pair can
either request clarification of the previous topic or
indicate a partial shift in topic. 1In the latter case, the
verb in the question is usually independent, as in #421. In
this example, the response to the response also contains an
independent verb. Although the main clause negative
morpheme may influence the choice of inflection, it is
more likely that speaker C, by choosing an independent verb
is indicating her wish to background the topic introduced
by speaker B in order to proceed with Speaker’s A question.

The (k)d-conjunct in the last sentence starts a narrative

text.
421. A: 6ta na kisiwdk awa K.?
here Q near this=3 K.
B: kiskiéimiw na anihi?

know\TA=3-3’T Q that=3’

C: mwd nikiskiyihtin. ahpo p&ham. A. ikoti
neqg 1=know\TI=1-0I or perhaps A there

ké-kiyokawat.
IPV=visit\TA=3-3’C

A: ’Is K. nearby?’
B: ’Does she know her?’
C: /T don’t know. T think so. She’s visiting A.
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In non-narrative contexts, speakers often use
independent verbs to introduce new topics. An example
occurs in part of the conversation in Appendix C, repeated
in #422 (D’s first utterance). This example contains the
particle mina ’in addition, also’:; a particle found in manyﬁ

clauses with independent verbs.

422. C: V. ana.
V that=3
Al V? 6ta na? kiko V?
V? here Q which Vv
C: V.M,
V.M.

D: néhkom mina éta ayiw.
l=gr-mo also here be\ATI=31

Al éta na?
here Q

D: va. akwa kiyokitén.
yes now visit\AI=12Imp

C: It’s V.

A: V? Here? V. who?

C: V.M.

D: My grandmother is also here.
A Here?

D: Yes. Let’s go visit her.

The above discussion claims two factors plays a role in
the use of the conjunct: one is c¢ohesion, the other is
importance. The two often interérelate. Although the above
provides an explanation for the use of the conjunct the
author is not making the claim that the above accounts for
all examples. There is only a strong tendency for conjunct

verbs to show important 1links between situations and a
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similar tendency for independent verbs to appear when there
are no such linkages. Independent verbs tend to occur when
new topics are introduced,’ and when speakers do not wish
to elaborate on a topic under discussion. The following
conversational exchange jllustrates the complexity of this
process. The first speaker introduces the topic of ’‘A.’s
location’ and asks if she is baby-sitting. The verb in the
question is independent.8 Speaker B answers with a verb
inflected as independent. Speaker B uses this verb to
introduce another topic. Speaker A then responds using an
independent verb. Although the response provides a direct
answer to the question, the speaker indicates she does not
wish to elaborate (believing it is Jjust a case of
homesickness). This information as in the narrative texts,
is not viewed as important. Speaker B, having introduced
the topic of A’s 1leaving in her previous utterance,
proceeds to elaborate on the topic. She uses an j-conjunct

verb to do this.

7 when the verb introduces a narrative, the (k)a-
conjunct introduces the topic as in the last sentence in
#421.

8 oOne could argue that the verb here should also be i-
conjunct since it elaborates on the possible location of A.
An i-conjunct verb is possible here but would signal that
the baby-sitting is important. The independent verb
indicates that this information is not important.
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423,

A:

B:

tdniwd A.? kiyidpic na kanawawlsow?
where A.? still Q Dbaby-sit\AI=3T

va. wi-néhti-kiwiw.
ves want=need=home\AT=3T

ya, nikiskiyihtin.
yes l1=know\TI=1-0I

ayihiw, 6ti i-néhti-kiwit funeral
whatev=0 here IPV=need=go-home\AT=3C funeral

i-néhti~-itohtit.
IPV=need=go\AI=3C

Where is A.? TIs she still baby-sitting?

Yes. She wants to go home.

Yes, I know.

Ahmn, she wants to go home because she wants to go to
a funeral.

The following conversation provides another illustration

of the process. The text consists of an initial query

followed by a number of responses. To aid the reader, the

main clauses are presented in schematic form at the end of

the text.

424.

1. mwd na kinihté-idiniwasinahikén?
neg Q 2=know=Indian=write\AI=2T

2. mwéc. kdhcédwiy wida. 3. apiw itoki.
neg 2=fa-br emp sit(be-home)\ATI=3T perhaps
4. mwidc apiw.

neg sit(be-home)\AI=31

5. iyako mina i-nihifawi-ayamihcikit.
that-one also IPV=Cree-read\AI=3C

6. Lita ida akwa Samuel.
Lita emp and Samuel



B:11.

13.

ki-pa-pi-itohtiw oma anohc. 8. kbéhcéwiy ana
past=redup=to=go\AI=3T prt now 2=fa-br that=3
ka-itak.

IPV=say\TA=1-3C

ka, sipwihtiw itoki.

excl leave\AI=31 perhaps

ihi, 6ti itoki tidwinihk itohtiw.
yes here perhaps town=loc go\AI=31

[nod at old man lying on couch]

awa nihtéd-acaédhkiw kisidiniw mayida
this=3 know=tell-legends\AI=3I old-man but

ikd i-pihtahk. 12. kwadni pé i-tipwatak.

neg IPV=hear\TI=3-0’C then only IPV=yell\TA=1-3C

kwidni &6ma ké-nakatak, kwani
then prt IPV=leave-behind\TA=1-3C then

i~-nipat.
IPV=sleep\Al

Do you know how to write in Cree?

No. But your uncle can. 3. He may be home.

He’s not home.

That one knows how to read in Cree too.

Lita is rumored to, and Samuel.

He just came here. 8. Your uncle is the one I anm
talking about.

Oh, he may have left.

10. Yes. He must have left to town.

[nod at old man lying on couch]

11. This old man knows how to tell legends but he is

hard of hearing. 12. I have to yell at him. 13.
When I leave him, he sleeps.

218
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v
1

independent no verb

1. you know how to write
2. no verb
3. he is home
4. he is not home
5. he knows how to read
6. no verb
7. he just came here

8. no verb
9. he leaves
10. he goes
lla. he knows legends
11b. he can’t hear
12. T yell at him
13. he sleeps

The text contains six third person forms, representing
three distinct third person referents, all of which are
proximate. The three distinct third persons are Lita
(sentence 6), Samuel (sentence 2,6,8) and kisidiniw ‘the
old man’ (sentence 11,12,13).2 The speaker, by using
proximate forms presents each referent as an equal
alternative. Neither referent has a more central role than

any other.10

The main clauses in the preceding conversational text

contain a series of independent verbs. The main clauses in

9 samuel is referred to four times; first as kéhcawiy
‘your uncle’ (sentence 2), then as 3iyako ‘that one’
(sentence 2), and as Samuel (sentence 6) and finally by the
kin term kéhcéwiy ’‘your uncle’ (sentence 8).

10 For a discussion of multiple proximates see section
4.6 for details.



220
this 